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Seat

No. [4101]-301

T.Y. B.A. EXAMINATION, 2012

COMPULSORY ENGLISH

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

    Text-Book : Reflections III

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in about 80 words each (any two) : [16]

(i) Comment on the relationship between George Harrison and

Pandit Ravi Shankar with reference to ‘Fusion Music’.

(ii) What were the various deeds that the Happy Prince expected

from the Swallow ?

(iii) What is the central message of Barack Obama ?

2. Answer the following questions in about 80 words each (any two) : [16]

(i) What does the ‘Blue Bouquet’ symbolize ? What is the message

that Octavio Paz tries to convey through the story ‘The Blue

Bouquet’ ?
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(ii) Explain the relationship between the Chimney Sweeper and

his master in the poem ‘The Chimney Sweeper’s Complaint’.

(iii) How does e-waste threaten ecology and health ?

3. Attempt any two of the following in about 100 words each : [16]

(i) Write a paragraph describing the curricular and extra-curricular

activities organized in your college during the current academic

year.

(ii) Write a letter to the Road Traffic Controller requesting him/

her for organizing a camp on the traffic rule and etiquettes

in your college.

(iii) Write an essay on any one of the following :

(a) The Role of Youth in Nation Building

(b) Environment Awareness.

4. Attempt any eight of the following : [16]

(i) Form one word each using the following prefixes (any two) :

(a) un............

(b) vice............

(c) pro............

(d) hyper............
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(ii) Make adjective forms of the following (any two) :

(a) competition

(b) encourage

(c) system.

(iii) Find out the odd word in the following (any two) :

(a) borrow, receive, provide, obtain

(b) buy, purchase, procure, dispose

(c) stiff, smooth, rigid, tough.

(iv) Give synonyms of the following words (any two) :

(a) joyful

(b) laugh

(c) beloved.

(v) Say whether the following are instances of British English or

American English :

(a) sidewalk

(b) lift

(c) apartment

(d) autumn.
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(vi) Fill in the blanks with appropriate phrasal verbs given in the

brackets :

(a) Twenty five thousand soldiers....................before the Indian

Army in Bangladesh war.

(gave out, gave in)

(b) Mr. Patil was.......................his grandmother.

(looking up, looking after)

(vii) Write down the right combinations of the collocations of the

following alternative :

(a) innermost feelings/innermost expectations

(b) a large mistake/a big mistake.

(viii) Fill in the blanks choosing the correct alternative given in the

brackets :

(a) The Sahara........................is the largest one in the world.

(dessert, desert)

(b) Mahatma Gandhi was the man of...................... .

(principles, principals)

(ix) Give the full forms of the following :

(a) ATM

(b) MIDC.
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(x) Complete the following sentences choosing an appropriate

alternative :

(a) .............................is a scientific study of Sun, Moon, Stars,

Planets etc.

(Geography, Astronomy)

(b) A............................person is able to speak two languages

equally well.

(bilingual, multilingual)

5. Attempt any eight of the following : [16]

(i) Punctuate and rewrite the following sentence :

i would rather die he exclaimed than join the oppressors of

my country

(ii) Use the verbs in the brackets in the correct tense forms :

(a) He...........................to polytechnic college everyday. (go)

(b) We.........................all day yesterday. (work)

(iii) Make your own sentences using the following phrases :

(a) beware of

(b) in spite of.
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(iv) Change the following into passive voice :

(a) Pay the bills today.

(b) Everyone knows her.

(v) Change the following sentences into impersonal, formal public

notice :

(a) You are not allowed to keep your mobile phones turned

on.

(b) You are not allowed to wear your shoes here.

(vi) Fill in the blanks with appropriate articles :

(a) Yesterday........................European met me.

(b) She is......................untidy girl.

(vii) Complete the following sentences with ‘will’ or ‘going to’

appropriately :

(a) I (book) the cab if you get the train tickets.

(b) All right then, I (leave) the cheque with you and he can

pick it up later.

(viii) Underline the subordinate clause in the sentences given below :

(a) Unless you are confident, you should not make that

venture.

(b) He entered the room when the door opened.
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(ix) Fill in the gaps with appropriate discourse markers given in

the brackets :

(a) Anil : I’m earning Rs. 20,000 net in my present job, Sir,

I think anything a little over that should be all

right.

Amir : ............Mr. Shravan Kumar, we will be getting back

to you in a week’s time. (well, then, right, so)

(x) Match the words given in the column ‘A’ with their meanings

given in the column ‘B’ :

 ‘A’   ‘B’

(a) fill up (i) recover from illness

(b) cut off (ii) to become full

(c) get over (iii) to wait for a short time

(d) hold on (iv) disconnect
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[4101]-302

T.Y. B.A. EXAMINATION, 2012

MARATHI (ejkBh)

lkekU;Lrj vH;kl&if=dk ÿ- 3 (G-3)

(vk/kqfud ejkBh lkfgR; vkf.k mi;ksftr ejkBh)

(2008 PATTERN)

vH;klÿe %— (i) xzaFk ijh{k.k

(ii) izkFkZusph ?kaVk («f«r «s[klaxzg)µvðkksd dksrok«

(iii) fpuh ekrhrh« fnol (izokl o.kZu)µ«{e.k xk;dokM

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj f«gk % [16]

(v) xzaFk ijh{k.k djrkuk dks.kdks.kR;k ?kVdkapk fopkj djkok «kxrks \

fdaok

xzaFk ijh{k.k Eg.kts dk; \ rs lkaxwu xzaFk ijh{k.k djrkuk dks.krh dkˇth

?;koh \

(c) rqEgh okp«sY;k dks.kR;kgh ,dk iqLrdkps ijh{k.k djk-

P.T.O.

Seat

No.
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2. [kk«h«iSdh izR;sd xVkrh« rhu izðukaph mŸkjs ohl ðkCnkai;±r f«gk % [12]

(v) (1) ejkBh «?kqfuca/kkpk ik;k dks.kh ?kkr«k \

(2) ^«f«r x|* ok≥~e; izdkjkph oSfðk"VÓs f«gk-

(3) «f«r xnÓkr dks.kR;k «s[kuizdkjkapk lekosðk gksrks \

(4) «f«r xnÓ o oSpkfjd xnÓ ;krh« nksu Qjd lkaxk-

(5) pkj «f«r«s[kdkaph ukos f«gk-

(c) (1) izoklo.kZukrh« rhu egRRokps ?kVd f«gk-

(2) ejkBhrh« izoklo.kZuij «s[ku dj.kkÚ;k nksu «s[kdkaph ukos f«gk-

(3) izoklo.kZu «s[kukekxh« izsj.kk dks.kR;k \

(4) izoklo.kZu ladYiuk Li"V djk-

(5) ^izoklo.kZu* ;k ok≥~e;izdkjkph nksu oSf'k"VÓs fygk-

3. [kk«h«iSdh izR;sd xVkrh« dks.kR;kgh ,dk izðukps mŸkj iUukl ðkCnkai;±r f«gk % [12]

(v) «f«r xnÓ «s[kukrh« vkRekfo"dkjkps egRRo foðkn djk-

fdaok

«f«r xnÓ ;k ok≥~e; izdkjkP;k «s[kukekxh« iz;kstus f«gk-

(c) izoklo.kZu «s[kukrh« vMp.kh f«gk-

fdaok

^izoklo.kZu* ;k ok≥~e; izdkjkps osxˇsi.k Li"V djk-

4. [kk«h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj nksuðks ðkCnkai;±r f«gk % [20]

(v) ^lkoY;k* ;k «s[kkrwu dks.kdks.krh O;fDrfp=s vk«h vkgsr \
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fdaok

^ik;okVk* ;k «s[kkrwu dks.kdks.kR;k ik;okVkacÌ« «s[kdkus lkafxr«s vkgs \

(c) phuP;k izoklk«k tk.;kph r;kjh djrkuk «s[kdk«k dks.krs vuqHko vk«s \

fdaok

^fpuh ekrhrh« fnol* ;k izoklo.kZukr fpuh ek.klkP;k fðkLrfiz;rsps o.kZu

dls vk«s vkgs \

5. [kk«h«iSdh izR;sd xVkrh« dks.kR;kgh ,dk izðukps mŸkj rhuðks ðkCnkai;±r f«gk % [20]

(v) ^izkFkZusph ?kaVk* ;k «s[klaxzgkph oSfðk"VÓs Li"V djk-

fdaok

«s[kdk«k vl«s«s lk/kwacÌ«ps vkd"kZ.k ^izkFkZusph ?kaVk* ;k «s[klaxzgkrwu dls

O;Dr >k«s vkgs \

(c) ^fpuh ekrhrh« fnol* ;k izoklo.kZukrwu fpuh laLœrhps nðkZu «{e.k xk;dokM

;kauh dls ?kMo«s vkgs \

fdaok

«s[kdkus ^phu* e/kh« dks.kdks.kR;k LFkˇkauk HksVh fnY;k rs lfoLrj f«gk-
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[4101]-302

(O;kogkfjd o mi;ksftr ejkBh)

(i;kZ;h vH;klÿe)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h«iSdh dks.kR;kgh ngk izðukaph mŸkjs izR;sdh 20 ðkCnkai;�±r f«gk % [20]

(1) vktP;k dkˇkrh« izeq[k izlkjek/;es dks.krh vkgsr \

(2) ?kks"kokD; Eg.kts dk; \

(3) orZekui=kP;k okpukeq«s gks.kkjs Qk;ns f«gk-

(4) vkdkðkok.khps czhnokD; dk; vkgs \

(5) ckreh f«[kk.kke/;s dks.krs ?kVd vkoð;d vlrkr \

(6) ejkBhrh« dks.kR;kgh pkj izeq[k orZekui=kaph ukos f«gk-

(7) tkfgjkr elqnk«s[ku Eg.kts dk; \

(8) mn~?kks"k.kk Eg.kts dk; \

(9) :id Eg.kts dk; \

(10) nwjnðkZu ;k ek/;ekps osx«si.k f«gk-

(11) vkdkðkok.khojh« dks.kR;kgh nksu euksjatukRed dk;Zÿekaph ukos f«gk-

(12) nwjnðkZuojh« ckrE;kaP;k dks.kR;kgh pkj okfgU;kaph ukos f«gk-

(13) lw=lapk«u Eg.kts dk; \
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2. [kk«h« izðukaph mŸkjs iUukl ðkCnkai;±r f«gk (^v* e/kh« ,d o ^c* e/kh« ,d) % [10]

(v) ckrehi=kps «s[ku dls pk«rs \

fdaok

vkdkðkok.khps tuekulkrh« egRo Li"V djk-

(c) vkdkðkok.khlkBh ^ok<rs iznw"k.k* ;k fo"k;koj Hkk"k.k r;kj djk-

fdaok

jkT;Lrjh; ÿhMkLi/ksZe/;s uSiq.; feˇfo«sY;k ;qodkph fdaok ;qorhph nwjnðkZulkBh

eq«k[kr ?;k-

3. [kk«h«iSdh izR;sd xVkrh« dks.kR;kgh ,dk izðukps mŸkj nksuðððððks ðkCnkai;±r f«gk % [20]

(v) vktdk«P;k izlkjek/;ekaps cn«rs Lo:i Li"V djk-

fdaok

^iznw"k.keqDr Hkkjr* ;k fo"k;h tutkx`rh dj.kkjs i= okpdkapk i=O;ogkj ;k

lnjklkBh r;kj djk-

(c) nwjnðkZuoj iz{ksfir dsY;k tk.kkÚ;k ekf«dkaoj lk/kd&ck/kd fopkj ekaMk-

fdaok

^eq«xh okpok* ;k fo"k;koj vkdkðkok.khlkBh :id r;kj djk-

4. [kk«h«iSdh izR;sd xVkrh« dks.kR;kgh ,dk izðukps mŸkj rhuðks ðkCnkai;±r f«gk % [30]

(v) orZekui=kaps egRo Li"V djk-
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fdaok

brj loZ izlkjek/;ekais{kk nwjnðkZu gs ek/;e dks.kdks.kR;k ckcrhr osx š vkgs

rs Li"V djk-

(c) ^vknðkZ xko ek>h dYiuk* ;k fo"k;koj vkdkðkok.khlkBh Hkk"k.k r;kj

djk-

fdaok

nwjnðkZulkBh ^efg«k fnukfufeŸk* lkekftd dk;Z dj.kkÚ;k efg«sph eq«k[kr

?;k-
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T.Y. B.A. EXAMINATION, 2012

MARATHI (ejkBh) (S-3)

foðððððks"kLrj vH;klif=dk ÿ- 3

(lkfgR;fopkj)

(2008 PATTERN)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h«iSdh dks.kR;kgh ngk izðukaph mŸkjs lqekjs ohl ðkCnki;±r f«gk % [20]

(1) lkfgR; Eg.kts dk; \

(2) lkfgR;kph nksu iz;kstus f«gk-

(3) ^jhrh* gs lkfgR; iz;kstu dks.kh eku«s vkgs \

(4) lkfgfR;dkaP;k O;fDreRokps egŸokps foðks"k f«gk-

(5) ^izrhek* Eg.kts dk; \

(6) lkfgR;kP;k Hkk"ksr ^Lo&ij&xr* ;kpk vFkZ f«gk-

P.T.O.
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No.
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(7) lkfgR;kps izdkj f«gk-

(8) ok≥~e;hu vfHk#ph Eg.kts dk; \

(9) lkfgR; vkLoknkrh« ;s.kkjs vMFkˇs f«gk-

(10) ^rsu* us lkfgR;kP;k lkekftdrsfo"k;h dks.krh rŸos ekaM«h \

(11) pkaxY;k jfldrsph rhu «{k.ks f«gk-

(12) ^dkO;* ;k ok≥~e;izdkjkps foðks"k f«gk-

(13) ejkBhrh« pkj ok≥~e;kizdkjkaph ukos f«gk-

2. [kk«h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj lqekjs iUukl ðkCnk;±r f«gk % [10]

(v) ;ðk] dhfrZ] minsðk ;k lkfgR; iz;kstukaph ppkZ djk-

fdaok

lkfgfR;dkaP;k O;fDreŸoke/;s dks.kdks.kR;k xks"Vhapk varHkkZo gksrks \

(c) ^lkfgR; vkf.k lekt* ;k ckcr foospu djk-

fdaok

vkLokn izfÿ;k Eg.kts dk; rs Li"V djk-

3. [kk«h«iSdh izR;sd xVkrh« ,dk izðukps m�Ÿkj iUukl ðkCnki;±r f«gk % [20]

(v) O;ogkjHkk"kk ðkkL=h; ok≥~e;kph Hkk"kk vkf.k «f«r ok≥~e;kph Hkk"kk ;k eËkh«

Qjd lksnkgj.k Li"V djk-

fdaok

^vkRekfo"dkj* o ^ftKklkr`Irh* ;k iz;kstukafo"k;h foospu djk-
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(c) lkfgR; vkf.k thou ;k fo"k;koj d«kœrhapk lanHkZ ns≈u lksnkgj.k ppkZ djk-

fdaok

lkfgfR;d vfHk#ph Eg.kts dk; rs lkaxwu pkaxY;k vfHk#phph «{k.ks

f«gk-

4. [kk«h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj rhuðððððks ðkCnki;±r f«gk % [30]

(v) lkfgR;kps Lo:i Li"V djk-

fdaok

«f«rlkfgR;kph fufeZrhizÿh;k m«xMwu nk[kok-

(c) ^^lkfgR;kpk vkLokn gh ,d xaqrkxaqrhph izÿh;k vkgs-** ;k fo/kkukph ppkZ

djk-

fdaok

lkfgR;kps Bˇd izdkj lkaxwu pfj= o vkRepfj= ;k ok≥~e;izdkjkps osx ši.k

Li"V djk-
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Seat

No. [4101]-304

T.Y. B.A. EXAMINATION, 2012

MARATHI (ejkBh) (S-4)

foðððððks"kLrj vH;klif=dk ÿ- 4

(,sfrgkfld Hkk"kkfoKku o o.kZukRed Hkk"kkfoKku)

(2008 PATTERN)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1- [kk«h«iSdh dks.kR;kgh ngk izðukaph mŸkjs izR;sdh ohl ðkCnkai;±r f«gk % [20]

(1) Hkk"kkH;klkP;k nksu in~/krhaph ukos f«gk-

(2) ,sfrgkfld Hkk"kkfoKkukpk ik;k dks.kh ?kkr«k \

(3) dks.kR;kgh nksu Hkk"kkdq«kaph ukos f«gk-

(4) ;knodk«hu ejkBh Hkk"ksoj dks.kR;k Hkk"kspk izHkko gksrk \

(5) lrjkO;k ðkrdkrh« nksu xzaFkdkjkaph ukos f«gk-

(6) varoZrqZˇ&cfgoZrqZˇ fln~/kkar dks.kh ekaM«k \

(7) Lofue Eg.kts dk; \

(8) :fidk Eg.kts dk; \

(9) ejkBhrh« vuqukflds f«gk-

(10) ejkBhps LojLofue f«gk-

(11) ejkBhrh« [kaMkf/kf"Br@[kafMrkf/kf"Br Lofuekps izdkj f«gk-

(12) okD;kps izdkj dks.krs \

(13) ðkCnkaP;k rhu ðkDrh f«gk-



[4101]-304 2

2- [kk«h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj iUukl ðkCnkai;±r f«gk % [10]

(v) 13O;k ðkrdkrh« xzaFkkaoj vl«s«k izkœrpk izHkko Li"V djk-

fdaok

ÊkfoMh Hkk"kkdq«kpk laf{kIr ifjp; d:u |k-

(c) vFkZ o ladsr ;krh« ijLijlaca/k Li"V djk-

fdaok

okD;kps Lo:i Li"V djk-

3- [kk«h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj nksuðððððks ðkCnkai;±r f«gk % [20]

(v) vk;ZHkkjrh; Hkk"kkdq« ladYiuk Li"V djk-

fdaok

oS|&xq.ks oknkph ppkZ djk-

(c) Lofue fufðprhph rŸos Li"V djk-

fdaok

Lou&Lofue&Loukarj ;krh« ijLijlaca/k Li"V djk-

4- [kk«h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj rhuðððððks ðkCnkai;±r f«gk % [30]

(v) ejkBh Hkk"ksP;k mRiŸkhpk ,sfrgkfld n`"Vhus vk<kok ?;k-

fdaok

fðkodk«hu ejkBh Hkk"kspk ok≥~e;hu xzaFkkP;k vk/kkjs vk<kok ?;k-

(c) ejkBhph LojLofue o O;atuLofue O;oLFkk Li"V djk-

fdaok

ejkBhrh« vFkZfoU;klkps Lo:i Li"V djk-
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Seat

No. [4101]-316

T.Y. B.A. EXAMINATION, 2012

HINDI (G-3)

fganh % lkekU;&3

(fuca/k] dkO;&ukVd rFkk ys[ku)

(2008 PATTERN)

le; % rhu ?kaVs iw.kk±d % 80

ikB~;&iqLrdsa :— (i) fuca/k lkSjHkµlaik- lkS- mek tk/koA

(ii) xkFkk dq#{ks= dhµeuksgj ';ke tks'khA

lwpuk,° :— (i) lHkh iz'u vfuok;Z gSaA

(ii) nkfguh vksj fy[ks vad iz'u ds iw.kk±d gSaA

1. (v) fuEufyf[kr vaxzsth ikfjHkkf"kd 'kCnksa esa ls fdUgha N% ds fganh i;kZ;okph

'kCn fyf[k, % [6]

(1) Accounts Officer

(2) Assistant Clerk

(3) Cabinet Secretary

(4) Divisional Engineer

(5) Educational Adviser

P.T.O.
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(6) Lecturer

(7) Measuring Officer

(8) Research Associate.

(vk) fuEufyf[kr vaxzsth laf{kfIr;ksa esa ls fdUgha pkj ds iw.kZ fganh i;kZ;

fyf[k, % [8]

(1) A.C.P.

(2) B.E.

(3) C.C.I.

(4) D.D.

(5) E.U.

(6) G.O.I.

(7) H.R.D.

(b) fuEufyf[kr esa ls fdlh ,d fo"k; ij lekpkj&ys[ku dhft, % [6]

(1) egkfo|ky; esa laiUu okf"kZd Lusg lEesyuA

(2) ^fganh fnu* lekjksgA

2. fuEufyf[kr vorj.kksa esa ls fdUgha nks dh llanHkZ O;k[;k dhft, % [10]

(1) Hkyksa dk dY;k.k

uk'k nq"Vksa dk djus

/keZ/otk Qgjkus

;qx&;qx esa vorkj fy;k djrk gw°
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(2) vius vk°lqvksa dks iksaN ÊkSinh] /kS;Z /kj

thou&Mky ls Vid iM+saxs ;qºHkwfe esa_

dky ds idk;s dkSjo

;ksºk ifr rsjs nsaxs mUgsa e`R;qnaM

fnyk;saxs rq>s izfr'kks/kA

(3) gs fo'os'oj! gs fo'o:i!

vukfn vkSj vuUr gSa vki

lc dqN vki esa gh gS

vki lc dqN gSaA

(4) gs /keZiq= ;qf/kf"Bj! gs lR;oknh!!

rqe gh crkvks

D;k lpeqp esjk og iq= bdykSrk

ekjk x;k gS \

3. (v) fuEufyf[kr iz'uksa esa ls fdUgha nks ds mŸkj fyf[k, % [10]

(1) gekjs thou esa d#.kk dk izlkj D;ksa gksrk gS \

(2) ^uhydaB* esa lkekftd folaxfr dks fdu 'kCnksa esa fpf=r fd;k x;k

gS \

(3) ftanxh esa fgEer dh D;k vko';drk gksrh gS \
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(vk) fuEufyf[kr iz'uksa esa ls fdUgha nks ds mŸkj fyf[k, % [10]

(1) ^xkFkk dq#{ks= dh*µdkO;&ukVd ds mÌs'; dks Li"V dhft,A

(2) Hkxoku Jhœ".k vtqZu dks vius fojkV :i dk fdl izdkj ifjp;

djk nsrs gSa \

(3) ^xkFkk dq#{ks= dh*µdkO;&ukVd ds var esa osnO;klth D;k mins'k nsrs

gSa \

4. (v) fuEufyf[kr esa ls fdlh ,d dk mŸkj fyf[k, % [10]

(1) ^esjh tUeHk wfe* fuca/k es a fpf=r lkaLœfrd fojklr dks Li"V

dhft,A

(2) cq<+kis dh n;uh; fLFkfr dk o.kZu fuca/kdkj us fdl izdkj fd;k

gS \

(vk) fuEufyf[kr iz'uksa esa ls fdlh ,d dk mŸkj fyf[k, % [10]

(1) dkO;&ukVd ds rRoksa ds vk/kkj ij ^xkFkk&dq#{ks= dh*µdkO;&ukVd

dh leh{kk dhft,A

(2) ^^uj dks vius ukjk;.k dk lkFk ugha NksM+uk pkfg,A**µ^xkFkk dq#{ks=

dh*µdkO;&ukVd ds vk/kkj ij Li"V dhft,A

(b) fuEufyf[kr esa ls fdlh ,d fo"k; ij i=ys[ku dhft, % [5]

(1) Hkkjrh; LVsV cSad }kjk dke&dkt ds le; esa ifjorZu laca/kh ifji=

dk uewuk rS;kj dhft,A

(2) ljdkjh dk;kZy; ds fdlh Hkh fyfid dks dk;kZy;hu i=kpkj rFkk

vU; lkexzh ?kj ij u ys tkus ds lanHkZ esa ^dk;kZy; vkns'k* dk

izk:i rS;kj dhft,A
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(bZ) fuEufyf[kr esa ls fdlh ,d ifjPNsn dk fganh esa vuqokn dhft, % [5]

It is very easy to acquire bad habits; such as eating too much

sweets or too much food, or drinking too much fluid of any

kind or smoking. The more we do a thing the more we tend

to like doing it; we feel unhappy. This is called the force

of habit and the force of habit should be fought against.

vFkok

tkLr xksM inkFkZ [kk.ks] [kwi tso.ks] dq<ysgh is; tkLr izek.kkoj ?ks.ks_ Ëkweziku

dj.ks ;klkj[;k okbZV lo;h ykowu ?ks.ks Qkj lksis vkgs- ,[kknh xks"V ftrdh

tkLr osˇk d: frrdh rh djk;yk vkiY;kyk vkoMw ykxrs- tj vki.k

rh dj.ks lksMwu fnys rj vki.k nq%[kh gksrks- ;kykp lo;hps nMi.k Eg.krkr-

v'kk lo;hP;k nMi.kkpk izfrdkj djk;yk ikfgts-
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[4101]-316

(iz;kstuewyd fganh)

(oSdfYid ikB~Óÿe)

le; % rhu ?kaVs iw.kk±d % 80

lwpuk,° :— (i) lHkh iz'u vfuok;Z gSaA

(ii) nkfguh vksj fy[ks vad iz'u ds iw.kk±d gSaA

1. (v) fuEufyf[kr vaxzsth okD;ksa esa ls fdUgha vkB okD;ksa dk fganh esa vuqokn

dhft, % [8]

(1) Certified that the purchases have been made at the lowest

market rate.

(2) Draft approved as amended.

(3) No action on our part seems to be called for.

(4) Pay can be fixed under FR 22.

(5) The banks have granted loans on cash terms to be flood

stricken persons.

(6) The file in question is placed below.

(7) The final bill is not on the prescribed form.

(8) The matter has been referred to the administration ministry.

(9) The receipt of the letter has been acknowledged.
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(10) There is no cause to modify the order already passed.

(11) This amount has become irrecoverable. May be written off.

(12) We are not concerned with this.

(vk) fuEufyf[kr vaxzsth laf{kfIr;ksa esa ls fdUgha vkB laf{kfIr;ksa dk fganh esa vuqokn

dhft, % [8]

(1) British Broadcasting Corporation

(2) Commercial Bank

(3) Crime Investigation Department

(4) Doctor of Litterateur

(5) Foreign Exchange Regulation Act

(6) Farmer Service Society

(7) Indian Banks Association

(8) International Monetary Fund

(9) Maharashtra of Legislative Assemble

(10) Non-Aligned Movement

(11) National Institute of Bank Management

(12) Reserve Bank of India.

2. (v) fuEufyf[kr esa ls fdUgha nks fo"k;ksa ij fjiksVZ&ys[ku dhft, % [8]

(1) egkfo|ky; esa euk;k x;k Lusg lEesyu

(2) fe=&eaMy dh vksj ls euk;k x;k ^olqa/kjk lao/kZu fnu*]

(3) xk°o dh leL;k,°

(4) fo'ofo|ky; }kjk tkjh ,u- ,l- ,l- dh xfrfof/k;k°A
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(vk) fuEufyf[kr ifjPNsn dk lkj&ys[ku dhft, vFkok ifjPNsn ds voyksdukRed

iz'uksas ds mŸkj fyf[k, % [8]

izR;sd izkarh; Hkk"kk dk viuk LFkku gSA eSaus vusd ckj dgk gS fd ftl

izdkj euq"; dks ns[kus ds fy, nks vk°[kksa dh vko';drk gksrh gS] mlh

rjg jk"V™ ds fy, nks Hkk"kkvksa] izkarh; Hkk"kk vkSj jk"V™ Hkk"kk dh vko';drk

gksrh gSA blfy, ge yksxksa us nks Hkk"kkvksa dk Kku vfuok;Z ekuk gSA Hkxoku

'kadj dk ,d rhljk us= Fkk ftls Kku us= dgrs gSaA blh rjg ge yksxksa

dks Hkh rhljs us= dh t:jr vuqHko gks rks laLœr Hkk"kk dk Hkh vË;;u

ykHkdkjh flº gksxk vkSj ml le; v°xzsth Hkk"kk p'es ds :i esa dke

vk,xhA cl] bruk gh gS vaxzsth dk LFkkuA blfy, eSa pkgrk gw° fd fganh

dk izpkj vPNh rjg O;kid :i esa gksuk pkfg,A

vFkok

(1) fouksck Hkkos us jk"V™Hkk"kk dk egRo dSls crk;k gS \

(2) izkarh; Hkk"kk dh vko';drk ij izdk'k Mkfy,A

(3) fouksck us rhljs us= dk izrhd fdlds fy, iz;qDr fd;k \

(4) mfpr 'kh"kZd nhft,A

3. (v) fuEufyf[kr esa ls fdlh ,d fo"k; ij vkdk'kok.kh vFkok nwjn'kZu ds fy,

foKkiu dk uewuk rS;kj dhft, % [6]

(1) iq#"kksŸke ,dkadh izfr;ksfxrk] iq.ks]

(2) uSuks dkj]

(3) xk°o dk esyk]

(4) cktkj esa vkbZ okf'kax e'khuA
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(vk) fuEufyf[kr vuqPNsnksa esa ls fdlh ,d vuqPNsn dk fganh esa vuqokn

dhft, % [6]

Gandhiji was a devout nationalist. At the same time, he was

internationalist par excellence. In a letter to Dr. Julian Huxley

he wrote, “The very right to live accrues to us only when

we do the duty of citizenship of the world.” According to Gandhiji

it is not nationalism that is an evil, it is the narrowness,

selfishness, exclusiveness which is the bane of modern nations

which is an evil. “Indian nationalism wants to organise itself

for the benefit and the service of humanity at large,” he writes.

A country has to be free in order that it may die, if necessary,

for the benefit of the world.

vFkok

xka/khth dÍj jk"V™oknh gksrs- rlsp rs loZJs"B fo'ojk"V™oknh gksrs- MkW- T;qfyvl

gDlys ;kauk fyfgysY;k i=kr rs fyfgrkr] ^^txkps ukxfjd Eg.kwu vlysys

drZO; ikj ikMys rjp tx.;kpk vkiyk gDd vkiY;kyk izkIr gksrks-** xkaËkhthaP;k

ers jk"V™okn gh [kjh vkiŸkh ulwu ladqfprrk] LokFkhZi.kk vkf.k vktP;k jk"V™kauk

'kkikizek.ks Bjr vlysyk ,dkdhi.kk gh [kjh vkiŸkh vkgs- rs fyfgrkr] ^^Hkkjrh;

jk"V™okn] O;kid ekuotkrhP;k lsoslkBh vkf.k ykHkklkBh lqla?kfVr gks≈ bfPNrks-**

txkP;k fgrklkBh] vko';drk vlsy rj ejrk ;kos ;klkBh jk"V™kus Lora=

vlys ikfgts-
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4. (v) fuEufyf[kr esa ls fdUgha pkj y?kwŸkjh; iz'uksa ds mŸkj fyf[k, % [20]

(1) dk;kZy;hu i=kpkj ds egRo dks le>kb,A

(2) ljdkjh i= dh fo'ks"krkvksa ij izdk'k Mkfy,A

(3) vuqoknd ds drZO; dkSu&dkSuls gksrs gSa \

(4) vuqokn ds fofo/k izdkjkssa dh tkudkjh nhft,A

(5) jktHkk"kk fganh dk egRo crkb,A

(6) ekudhdj.k ds ckjs esa le>kb,A

(vk) fuEufyf[kr fo"k;ksa esa ls fdUgha pkj ij fVIif.k;k° fyf[k, % [16]

(1) dk;kZy;hu Hkk"kk dh fo'ks"krk,°

(2) fganh vf/kdkjh (jktHkk"kk) ds drZO;

(3) vuqokn dh mi;ksfxrk

(4) {ks= dk;Z dk vFkZ

(5) nwjn'kZu dh Hkk"kk

(6) laidZ Hkk"kk fganhA



Total No. of Questions—5] [Total No. of Printed Pages—3

[4101]-317

T.Y. B.A. EXAMINATION, 2012

HINDI (fganh) (fo'ks"k&3)

fganh lkfgR; dk bfrgkl (vkfndky ls vk/kqfud dky rd)

(2008 PATTERN)

le; % rhu ?kaVs iw.kk±d % 80

lwpuk :— (i) lHkh iz'u vfuok;Z gSaA

(ii) nkfguh vksj fy[ks vad iz'u ds iw.kk±d gSaA

1. fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkj ls fyf[k, % [16]

(d) vkfndkyhu lkfgR; dh izeq[k izo`fŸk;k° Li"V dhft,A

([k) jhfrflº dkO;/kkjk dk ifjp; nsrs gq, mlesa fcgkjh ds ;ksxnku dks Li"V

dhft,A

2. fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkj ls fyf[k, % [16]

(x) jkeHkfDr dkO;/kkjk dk ifjp; nsrs gq, mlesa rqylhnkl dk LFkku fu/kkZfjr

dhft,A

(?k) lar dchj ds lkfgR; dk ifjp; nsrs gq, Li"V dhft, fd os lekt&lqËkkjd

Fks ;k dfo \

P.T.O.

Seat

No.
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3. fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkj ls fyf[k, % [16]

(p) iz;ksxoknh dkO; dh izo`fŸk;ksa dk laf{kIr ifjp; nsrs gq, mlesa dfo vKs;

dk ;ksxnku Li"V dhft,A

(N) jk"V™h; dkO;/kkjk dh fo'ks"krkvksa dk lksnkgj.k ifjp; nhft,A

4. fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkj ls fyf[k, % [16]

(t) fganh miU;kl ds fodklÿe dk laf{kIr ifjp; nsrs gq, fganh ds vk°pfyd

miU;klksa dk egRo Li"V dhft,A

(>) fganh ukVdksa ds fodklÿe dks Li"V djrs gq, y{ehukjk;.k yky ds ;ksxnku

dks v/kksjsf[kr dhft,A

5. (v) fuEufyf[kr iz'uksa esa ls fdUgha pkj iz'uksa ds mŸkj la{ksi esa fyf[k, % [8]

(1) Hkkjrsanq;qxhu dkO;/kkjk ds nks dfo;ksa ds uke fyf[k,A

(2) izxfrokn dh nks fo'ks"krkvksa dks Li"V dhft,A

(3) Nk;koknh dkO;/kkjk ds KkuihB iqjLdkj izkIr nks dfo;ksa ds uke

fyf[k;sA

(4) ^ljLorh* if=dk ds laiknd dk uke fyf[k,A

(5) fganh ds euksoSKkfud miU;klkas esa ls fdUgha rhu miU;klksa ds uke

fyf[k,A

(6) fganh ds nks fuca/kdkjksa ds uke fyf[k,A
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(vk) fuEufyf[kr eas ls fdUgha vkB iz'uksa ds mŸkj ,d&,d okD; eas fyf[k, % [8]

(1) vk/kqfud fganh dfork ds izeq[k nks oknksa ds uke fyf[k,A

(2) ^dkek;uh* ds izeq[k rhu ik=ksa ds uke fyf[k,A

(3) ^iz;ksxokn* ds izorZd dfo dkSu gSa \

(4) ^dq#{ks=* ds rhu izeq[k ik=ksa ds uke fyf[k,A

(5) fganh ds izœfr&izseh nks dfo;ksa ds uke fyf[k,A

(6) ;'kiky ds izeq[k nks miU;klksa ds uke fyf[k,A

(7) eksgu jkds'k ds nks ukVdksa ds uke fyf[k,A

(8) ^va/ksj uxjh* ds jpukdkj dkSu gSa \

(9) gtkjh izlkn f}osnh ds fuca/kksa dh nks fo'ks"krk,° fyf[k,A

(10) ^fp=ys[kk* ds izeq[k ik=ksa ds uke fyf[k,A



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [4101]-318

T.Y. B.A. EXAMINATION, 2012

HINDI (fganh)

fo'ks"k isij 4

(Hkk"kkfoKku vkSj fganh Hkk"kk)

(2008 PATTERN)

le; % rhu ?kaVs iw.kk±d % 80

lwpuk :— (i) lHkh izðu vfuok;Z gSa A

(ii) nkfguh vksj fy[ks vad iz'uksa ds iw.kk±d gSa A

1- fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkj ls fyf[k, % [16]

(d) Hkk"kk dh ifjHkk"kk crkdj Hkk"kk dh fo'ks"krk,° Li"V dhft, A

([k) fganh ds 'kCnlewg ij foLrkj ls ppkZ dhft, A

2- fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkj ls fyf[k, % [16]

(x) /ofu;a= dk ifjp; nsrs gq, mldh dk;Ziz.kkyh Li"V dhft, A

(?k) vFkZ&ifjorZu dk Lo:i Li"V djrs gq, vFkZ&ifjorZu ds dkj.k foLrkj ls Li"V

dhft, A

3- fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkj ls fyf[k, % [16]

(p) in vkSj laca/krRo dk ifjp; nsrs gq, laca/krRo ds izdkj fyf[k, A

(N) okD; dh ifjHkk"kk crkdj okD; dh vko';drkvksa dks Li"V dhft, A
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4- fuEufyf[kr esa ls fdUgha nks ij fVIif.k;k° fyf[k, % [16]

(1) vo/kh cksyh dk lkekU; ifjp; A

(2) HkkSxksfyd fofHkUurkokn A

(3) nsoukxjh fyfi esa lq/kkj A

(4) vFkkZns'k A

5- (v) fuEufyf[kr esa ls fdUgha pkj iz'uksa ds mŸkj la{ksi eas fyf[k, % [8]

(1) fganh dk izpkj&izlkj djusokyh laLFkkvksa ds uke fyf[k, A

(2) Hkk"kkfoKku dh ifjHkk"kk fyf[k, A

(3) izknsf'kd Hkk"kk fdls dgrs gSa \

(4) ^cyk?kkr* ls D;k rkRi;Z gS \

(5) czt cksyh ds nks dfo;ksa ds uke fyf[k, A

(6) nsoukxjh fyfi dh nks fo'ks"krk,° fyf[k, A

(vk) fuEufyf[kr esa ls fdUgha vkB iz'uks a ds mŸkj ,d&,d okD; ea s

fyf[k, % [8]

(1) [kM+h cksyh dh ,d izflº jpuk dk uke fyf[k, A

(2) rRle 'kCn ds nks mnkgj.k fyf[k, A

(3) Hkk"kk fodkl ds oknksa ds uke fyf[k, A

(4) cksyh dh ,d ifjHkk"kk fyf[k, A
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(5) Hkk"kk dh lcls NksVh bdkbZ dk uke fyf[k, A

(6) Hkk"kkfoKku ds vax crkb, A

(7) vks"BÓ /ofu;ksa ds mnkgj.k fyf[k, A

(8) iwohZ fganh dh cksfy;ksa dss uke fyf[k, A

(9) ^in* fdls dgrs gSa \

(10) ^Loj* dh ifjHkk"kk fyf[k, A
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[4101]-320

T.Y. B.A. EXAMINATION, 2012

SANSKRIT (Gen. III)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

Texts :— (i) izfrekukVde~

(ii) Hkkfeuhfoykl

1. Translate into English or Marathi any two from Section ‘A’ and

any two from Section ‘B’ from the following passagess :

iq<hy ifjPNsnkaiSdh ^v* foHkkxkrhy dks.kR;kgh nksgksaps o ^c* foHkkxkrhy dks.kR;kgh

nksgksaps baxzthr fdaok ejkBhr Hkk"kkarj djk %

Section ‘A’ [10]

(foHkkx ^v*)

(i) vonfrdk % vgks vR;kfgre~A ifjgklksukihea oYdyeqiu;UR;k eeSrkon~ Hk;eklhr~

fda iquyksZHksu ij/kua gjr%A gflrqfePNkfeA u [kYosdkfdU;k

gflrO;e~A

lhrk % g¥ts vonfrdk ifj'kf≥~dro.ksZo n`';rsA fdUuq [kfYooSrr~A

psVh % HkfV~Vfu lqyHkkijk/k% ifjtuks ukeA vijkºk Hkfo";frA

lhrk % ufg ufg gflrqfeosPNfrA

vonfrdk % (mil`R;) t;rq HkfV~Vfu u [kYogeijkºkA

P.T.O.

Seat

No.
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(ii) dkSlY;k % (l#fnre~) vyfenkuha egkjktks∑frek=a lUrI; ijo'kekReua drqZe~

uuq lk rkS p dqekjkS egkjktL; le;kolkus izssf{krO;k Hkfo";fUrA

jktk % dk Roa Hkks%A

dkSlY;k % vfLuX/kiq=izlfouh [kYoge~A

jktk % fda fda loZtu"Vn;u;ukfHkjkeL; jkeL; tuuh Roefl dkSlY;kA

dkSlY;k % egkjkt lSo eUnHkkfxuh [kYoge~A

jktk % dkSlY;s lkjLorh [kYoflA Ro;k fg [kyq jkeks xHksZ /k`r%A

(iii) Hkjr% % HkksLrkr fuos|rka fuos|rkaA

lqeU=% % dqekj fdfefr fuos|rsA

Hkjr% % jkT;yqC/kk;k% dSds∏;k% iq=ks Hkjr% izkIr bfrA

lqeU=% % dqekj vya xq#tukioknefHk/kkrqe~A

Hkjr% % lq"Bq u U;k∏;a ij|s"kefHk/kkrqe~A rsu fg mP;rkfe{okdqdqyU;≥~xHkwrks

Hkjrks n'kZuefHky"krhfrA

lqeU=% % dqekj ukgesoa oDrqa leFkZ%A vFk iquHkZjr% izkIr bfr czw;ke~A

Section ‘B’ [10]

(foHkkx ^c*)

(i) vkisfnjs∑EcjiFka ifjr% ir≥~x

Hk`≥~x jlkyeqdqykfu lek‹kz;fUrA

ladkspe¥pfr ljLRof; nhughuks

ehuks uq gUr dreka xfreH;qiSrq˚
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(ii) lkSjH;a Hkqou=;ss∑fi fofnra 'kSR;a rq yksdksŸkja

dhfrZ% fda p fnx≥~xk≥x.kxrk fdURosrnsda 'k`.kqA

lokZuso xq.kkfu;a fufxjfr Jh[k.M rs lqUnjkuqT>Urh

[kyq dksVjs"kq xjyTokyka f}ft‡oyh˚

(iii) otza ikieghHk`rka HkoxnksÊsdL; flºkS"k/ka

feF;kKkufu'kkfo'kkyrelfLrXeka'kq fcEcksn;%A

ÿwj Dys'kegh#gkeq#HkjTokyktVky% f'k[kh

}kja fuo`ZfŸkln~euks fot;rs œ".ksfr o.kZ};e~˚

2. Explain with reference to the context any two from Section A and

any two from Section B :

^v* foHkkxkrhy dks.kR;kgh nksgksaps o ^c* foHkkxrhy dks.kR;kgh nksgksaps lanHkkZlg Li"Vhdj.k

djk %

Section ‘A’ [10]

(foHkkx ^v*)

(i) HkfV~Vfu loZ'kksHkuh;a lq:ia ukeA

(ii) cgqnks"kk.;j.;kfu lukFkS"kk Hkfo";frA

(iii) fiiklkrksZ∑uq/kkofe {kh.krks;ka unhfeo

(iv) xq.k bo c‡ijkºek;q"kk esA
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Section ‘B’ [10]

(foHkkx ^c*)

(i) ifj.kredjUnekfeZdkLrs txfr HkoUrq fpjk;q"kks fefyUnk%A

(ii) f'kjlk onkU;xqjo% lknjesua ogfUr lqjrjo%A

(iii) iq"ikUrjlsos;a HkzejL; foMEcuk egrhA

(iv) vfLr ee f'kjfl lrra uUndqekj% izHkq% ije%A

3. Write descriptive notes on any two of the following [16]

iq<hyiSdh dks.kR;kgh nksgksaoj lfoLrj Vhik fygk %

(i) The character of ^lqeU=* in izfrekukVde~A

izfrekukVdkrhy lqeU=kph O;fDrjs[kkA

(ii) Valkalaprasangah

oYdyizl¬%A

(iii) Mrganyoktih. .

e`xkU;ksfDr%

(iv) Burburanyoktih.

cqcqZjkU;ksfDr%A

4. (i) Appreciate critically Act 5th of izfrekukVde~A [12]

izfrekukVdkP;k ikpO;k vadkps fpfdRld jlxzg.k djk-



[4101]-320 5 P.T.O.

Or

(fdaok)

(ii) Which changes were made by Bhasa  in the plot of 

Ramayana.

?

jkek;.kps dFkkudkra Hkklkus dsysys cn« Li"V djk-

5. (i) Explain in detail ^flagkU;ksfDr%* in Prastavikavilasa . [12]

izkLrkfodfoyklkrhy ^flagkU;ksfDr* lfoLrj Li"V djk-

Or

(fdaok)

(ii) Explain in detail ^panukU;ksfDr%* and ^deykU;ksfDr%* in ‘

Prastavikavilasa

’.

izkLrkfodfoyklkrhy ^panukU;ksfDr%* vkf.k ^deykU;ksfDr%* Li"V djk-
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[4101]-321

T.Y. B.A. EXAMINATION, 2012

SANSKRIT—III

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

Texts :— (i) y?kqflºkar dkSeqnh

µlaKk] laf/k] dkjd

(ii) History of Vedic Literature

oSfnd ok≥~e;kpk bfrgkl

(iii) Sanskrit Composition.

laLœr fucU/kys[kuA

1. Explain any three of the following : [15]

iq<hyiSdh dks.kR;kgh frghaps Li"Vhdj.k djk %

(i) ΩR;d%A

(ii) Lrks% çqquk çq%A

(iii) eq[kukfldkopuks∑uqukfld%A

(iv) deZ.kk ;efHkizSfr l lEiznkue~A

(v) vk/kkjks∑f/kdj.ke~A

P.T.O.
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2. (A) Write notes on any three of the following : [6]

iq<hyiSdh dks.kR;kgh frghaoj Vhik fygk %

(i) vuqnkRr%A

(ii) ine~A

(iii) ^fV* laKkA

(iv) xq.k laKkA

(v) /kkrq%A

(B) Split any two conjuncts of the following quoting relevant

rules : [6]

iq<hyiSdh nksgkssapk lacaf/kr lw=s lkaxwu laf/k&foxzg djk %

(i) ,rUeqjkfj%A

(ii) ukO;e~A

(iii) e`xks /kkofrA

(iv) fo‹u%A

(C) Give any five Vibhaktis of the following underlined words from

the following sentences given relevant rules : [5]

[kkyhy okD;krhy dks.kR;kgh ikp v/kksjsf[kr 'kCnkaP;k foHkfDr lacaf/kr lw=kP;k

vk/kkjs lkaxk-

(i) ek"ks"kq v‹oa c/ukfrA

(ii) r.Mqyku~ vksnua ipfrA

(iii) xka nksfX/k i;%A
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(iv) jkes.k grks okyhA

(v) nsR;sH;ks gfj% vye~A

(vi) vXu;s LokgkA

(vii) jkK% iq#"k%A

(viii) o`{kkr i.k± irfrA

3. (A) Write an essay on Samaveda. [12]

lkeosnkoj fuca/k fygk-

Or

(fdaok)

What is meant by ;tql~ \ Write an essay on branches and

sub-branches of ;tqosZn-

;tql~ Eg.kts dk; \ ;tqosZnkP;k 'kk[kk vkf.k mi'kk[kk ;koj fuca/k fygk-

(B) Explain the characteristics of the 
&

Brahmana  texts. [12]

czk„.kxazFkkaph oSf'k"VÓs Li"V djk-

Or

(fdaok)

Write an essay on mifu"kn~

mifu"knkoj fuca/k fygk-
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4. Write critical paragraphs on any two of the following : [16]

iq<hyiSdh dks.kR;kgh nksgksaoj foospd ifjPNsn fygk %

(i) f'k{kk and T;ksfr"k~ as Vedanga.

f'k{kk vkf.k T;ksfr"k~µosnkax

(ii) fu#Dr and dYi as Vedanga.

fu#Dr vkf.k dYiµosnkax-

(iii)

Rgveda

 and its branches.

ΩXosn vkf.k R;kP;k 'kk[kk-

(iv) vkJh hymns in the Rgveda

ΩXosnkrhy vkJhlwDrs-

5. Write a short essay in Sanskrit on any one of the following : [10]

[kkyhyiSdh dks.kR;kgh ,dkoj laLœrkr fuca/k fygk %

(i) lk;adky%A

(ii) tyegŸoe~A

(iii) o`{kk% lRiq#"kk% [kyqA
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T.Y. B.A. EXAMINATION, 2012

SANSKRIT (S-IV)

Special Paper IV

(2008 PATTERN)

Texts—vkRekukRefoosd (Atmanatmaviveka)

  rdZlaxzg     (Tarkasamgraha)

Time : Three Hours Maximum Marks : 80

1. (A) Explain with reference to the context (any three) of the

following : [15]

[kkyhyiSdh dks.kR;kgh frUghaps llanHkZ Li"Vhdj.k djk %

(i) losZ"kka LFkwynsgkuka vk/;kfRedkf/kHkkSfrdkf/knSfodkfu rki=;kfXuuk nkgdRoa

laHkofr A

(ii) LFkwy'kjhja uke iaphœrHkwrdk;ZdeZtU;a tUekfnlbfodkje~ A

(iii) mijfr% uke fofgrkuka deZ.kka fof/kuk ifjR;kx% A

(iv) fuR;foKkuekuUna cz„ jkfr nkrq% ijk;.kfefr Jqrs% A

(v) f}/kk fo/kk; pSdSda prq/kkZ izFkea iqu% A

Lo&Losrj&f}rh;ka'kS;ksZtukr~ i¥p i¥p rs ˚

P.T.O.
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(B) Explain with reference to the context any three of the

following : [15]

[kkyhyiSdh dks.kR;kgh frUghaps llanHkZ Li"Vhdj.k djk %

(i) vk|irukleokf;dkj.ka xq#Roe~ A

(ii) loZO;ogkjgsrqKkZua cqfº% A

(iii) vHkko'prqfoZ/k% A

(iv) m".kLi'kZoŸkst% A

(v) lksikf/kdks gsrqO;kZI;Rokfln~/k% A

2. Explain fully the ‘Sadhanachatustaya. [15]

lk/kuprq"V; iw.kZi.ks Li"V djk-

Or

(fdaok)

Explain fully the concept of ^i¥pdks'k*

i¥pdks'kkaph ladYiuk lfoLrj Li"V djk-

3. Explain fully the ‘Yatharthanubhava’. [15]

;FkkFkkZuqHko laiw.kZi.ks Li"V djk-

Or

(fdaok)

Explain fully Svarthanumana and Pararthanumana.

LokFkkZuqeku o ijkFkkZuqekukps lfoLrj Li"Vhdj.k djk-
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4. Write critical notes on any two of the following : [10]

[kkyhyiSdh dks.kR;kgh nksgksaoj fpfdRld Vhik fygk %

(i) lw{e'kjhj

(ii) rkRi;Zfu.kZ;fy¬kfu

(iii) izk.k and miizk.k

izk.k o miizk.k A

5. Write critical notes on any two of the following : [10]

[kkyhyiSdh dks.kR;kgh nksgksaoj fpfdRld Vhik fygk %

(i) 'kCnizek.k

(ii) ÊO;

(iii) v;FkkFkkZuqHko-
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ARDHAMAGADHI (Prakrit)
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Texts : (i) Nalakaha—u«dgk

        (ii) Anjana Pavananjay Vuttantu

vatukiouat;oqŸkarq

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

1. Translate any two of the following into English or Marathi : [8]

[kk«h«iSdh dks.kR;kgh nksgksaps baxzthr fdaok ejkBhr Hkk"kkarj djk %

(i) vUufn.k s nk.klk«kfB;k fiPN, r«kjsfg a fuTtara cºa pk sj aA iqPN, lk

r«kjsµfdfefe.kkfo.kkl;a frA rsfga dfg;aµpanobZ, j;.kdjafM;k gfj;k v.ks.kA

rk gf.kTtb ,lks pksjks fo narxfg;axq«h ufe≈.k ne;afra Hk.kbµnsfo ! feÀkosfg

ea] rqg lj.kekxvks∑gaA n;koarh, ne;arh, d;k lh«lko.kkA lh«IiHkkos.k rqÍk

rDdjLl ca/kkA foj«hgwvk r«kjkA bea oqŸkara lks≈.k lekxvks rRFk jk;kA

P.T.O.
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(ii) ,RFkarjs j;.khfojkes ne;arh, fnÎks lqfo.kvksA dfgvks fofgiqOoa fim.kksA tgk fnÎk

e, fuOoqbnsoh vk.ks;arh bRFk x;.ks dksl«mTtk.kaA nsoho;.ks.k iqIQQ«df«;a vk:<k

vga pw;ik;oaA ee gRFks lefIi;a igk.kimea nsoh,A ifMvks iqOok:<ks >fŸk fogaxeksA

Hkhes.k oqŸkaµiqfŸk ! lksg.kks lqfo.kksA fuOoqbnsoh rs iqUujklh tfXxvksA dksl«qTtk.ka

dksl«kjTt«kHkdjaA

(iii) vDdks Oo esgeqDdks lqoUufiaMks Oo vu«mfŸkUuksA

ne;arh, Hkk«s fr«vks rks QqfjmHkkjºks˚

vg nso;kb ifMe Oo .gkfo;k fu;djsfga nsoh,A

iojalq;kba ifjgkfo≈.k uh;k fuolHkhos˚

pantlk ne;arh ; nksfo jUuks lgkb mofoÎkA

rfEe le;fEe lwjks Hkqo.kibZoks xvks vRFka˚

frfejs.k dTt«ks.k o Hkk;.ka x;.keaM«a Hkfj;aA

rgfo u jk;lgk, fo;afHkvks frfej«kslks fo˚

2. Explain with reference to the context any two of the following :  [8]

[kk«h«iSdh dks.kR;kgh nksgksaps llanHkZ Li"Vhdj.k |k %

(i) fufTtvks∑ga rqe, bfe.kk lPpfj,.k] rk djslq fu;jTtaA

(ii) fda dq.kb iqfjl;kjks iqfjlLl fofgfEe foojh,A

(iii) thfo;a ej.ka ok es beh, lea gksmA

(iv) lPpa [kq ,;a tks [khja ik,b lks fo MflTtb rqg tkbZ,A
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3. Give the character-sketch of ne;arh- [16]

ne;arhps O;fDrfp=.k djk-

Or

(fdaok)

Describe the supernatural elements of u«dgk-

u«dFksrh« vn~Hkqr jlkps o.kZu djk-

4. Give notes on any two of the following : [8]

[kk«h«iSdh dks.kR;kgh nksuoj Vhik f«gk %

(i) Lamentation of ne;arh-

ne;arhpk 'kksd-

(ii) Additional stories of u«dgk-

u«dgkrh« vokarj dFkk-

(iii) Scholarship of learning of u«jktk-

fo|kikjaxr u«jktk-

5. Translate any one into English or Marathi : [8]

dks.kR;kgh ,dkps ejkBhr fdaok baxzthr Hkk"kkarj djk %

(1) ,RFkUrjs W nqTtm nqf..kok#A e;.kkm: io.kat;&dqek#˚

.km folgb rb;m fnolq ,UrqA vPNb fojgk.k«s ° >Ei nsUrq̊

/kwekb o«b /kx/kxb fpŸkqA .ka eafn# vCHkUrjs W if«Ÿkq˚

pafn.km panq pan.kq t«ÌqA dIiwj&de«n«lsTt&eÌq˚

nkfg.k&ekjm lh;«&t«kb°A rgks W vfXx&Qqf«axb° dso«kb°˚
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f.kÏgb vaxqoaxb° v.k≥~xqA lTt.k&fg;;kb° o filq.k&laxq˚

.khllb llb osob res.kA /kkgkob /kkgk iapes.k˚

mÔ.k&vkgj.k&ilkg.kkb°A lCcb° vaxgks vlqgko.kkb°˚

 ?kŸkk&iklsm o«Xxb Yglb r.kq ra bafxm isD[kfo v..k&e.kq˚

 iHkf.km igfgl,°.k f.k,fo eqgq ^fda nqOof« gq;m dqekj rqgq˚

(2) gk lehj io.kat; vf.k« igat.kkA gfj fd;ar nararjs ° oÍb vat.kkA

gk dEeq dkb° fdm dsmebA [k«s W eqb; «gslfg do.k xb˚

gk rk; efgUn ebanq /kjs °A lqil..kfdfŸk ifMjD[k djs °˚

gk ek;fj rqgq fe .k laFkofgA eqPNkfo; nqfg; leqRFkofg˚

xa/kOogks ° nsogks ° nk.kogks °A foTtkgj&fd..kj ek.kogks °̊

tD[kgks ° jD[kgks ° jD[kgkss ° lfg;A .ka rks iapk.k.ks.k xfg;˚

ra f.klq.ks Wfo xa/kOokfgobA j.ks ° nqTtm ij&mo;kj&eb˚

ef.kpwMq j;.kpwMg° nbmA iapk.k.kq tsRFkq rsRFkq vbm˚

vÎkom lkom gksfo fFkmA gfj ikjkmÎm rs.k fdm˚

 ?kŸkk&rkos WfgW x;.kgks W vksvjsW fo vat.kgs ° olarek« fef«;A

^bgq vÎkom gksarq .k fo rk oÍb vkfl e, fxf«;*˚

6. Explain with reference to the context any two : [8]

dks.krsgh nksupk llanHkZ Li"V djk %

(i) g.kq#g&nhos ° iofÔ;m ^g.kqoUrq* .kkeq rsa rklq fdmA

(ii) gm° dars xoslfe rqo r.kmA beq esbf.k&eaM«q dsŸkMm*˚

(iii) lDdfe efg x;.kq ,Ddq djsfo nqº# .km lDdfe om /kjs °fo˚

(iv) ^rm thfom lg«q v.kar fl; tlq djs ° «Xxslb ,g fr;˚
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7. Critically appreciate laf/k 18 or laf/k 19. [16]

laf/k 18 fdaok laf/k 19 ps foospd jlxzg.k djk-

8. Give notes on any two : [8]

dks.kR;kgh nksuoj Vhik f«gk %

(i) Lo;aHkw-

(ii) Language of imepfjm-

imepfjmph Hkk"kk-

(iii) iouat;-















Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4101]-326

T.Y. B.A. EXAMINATION, 2012

ECONOMICS

(G-3 : Indian Public Finance)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) Explain the scope of Public Finance.

(ii) Explain the factors affecting taxable capacity.

(iii) State the sources of Internal and External Public Debt.

(iv) Write types of Budget.

2. Write notes in 100 words each (any four) : [20]

(i) Principles of Public Expenditure.

(ii) Instruments of Fiscal Policy.

(iii) Gender Budget.

(iv) Causes of Deficit Financing.

(v) Recommendations of 13th Finance Commission.

(vi) Objectives of Taxation.

P.T.O.
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3. Answer the following questions in 200 to 250 words each (any three) : [30]

(i) Explain the similarities and differences between Public and Private

Finance.

(ii) Explain repayment methods of Public Debt.

(iii) What is Deficit Financing ? Write objectives of Deficit Financing.

(iv) Explain the defects of Indian Tax System.

(v) Explain in detail the objectives of Fiscal Policy.

4. Answer the following questions in 500 words (any one) : [20]

(i) Discuss in detail Centre-State conflict on Finance.

(ii) Explain the causes of increasing public expenditure in India.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (QDr nksu) % [10]

(i) lkoZtfud vk;O;;kph O;kIrh Li"V djk-

(ii) djns; {kersoj ifj.kke dj.kkjs ?kVd Li"V djk-

(iii) lkoZtfud dtkZps varxZr o ck· lzksr (ekxZ) lkaxk-

(iv) vankti=dkps izdkj f«gk-
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2. izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) % [20]

(i) lkoZtfud [kpkZph rRos-

(ii) jktdks"kh; /kksj.kkph lk/kus-

(iii) f«axk/kkjhr vankti=d-

(iv) rqVhP;k vFkZHkj.;kph dkj.ks-

(v) rsjkO;k foŸk vk;ksxkP;k fðkQkjðkh-�

(vi) dj vkdkj.khph mfÌ"Vs-

3. [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) lkoZtfud o [kklxh vk;O;;krh« lkE; o Qjd Li"V djk-

(ii) lkoZtfud dtZ ijrQsMhps ekxZ (iºrh) Li"V djk-

(iii) rqVhpk vFkZHkj.kk Eg.kts dk; \ rqVhP;k vFkZHkj.;kph mfÌ"Vs f«gk-

(iv) Hkkjrh; dj iºrhps nks"k Li"V djk-

(v) jktdksf"k; /kksj.kkph mfÌ"Vs lfoLrj Li"V djk-

4. [kk«h« izðukaph 500 ðkCnkar mŸkjs f«gk (dks.krkgh ,d) % [20]

(i) dsaÊ&jkT; foŸkh; la?k"kkZph lfoLrj ppkZ djk-

(ii) Hkkjrkrh« lkoZtfud [kpZ ok<hph dkj.ks foðkn djk-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4101]-327

T.Y. B.A. EXAMINATION, 2012

ECONOMICS

Special Paper III

(S-3 : International Economics)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Explain the importance of International Trade.

(2) Explain briefly the Leontief’s Paradox.

(3) Explain the concept of Balance of Payment.

(4) What is convertibility of rupees ?

2. Write short notes in 100 words each (any four) : [20]

(1) Static gains from International Trade.

(2) Foreign Trade Multiplier.

(3) Special Economic Zone (SEZ).

P.T.O.
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(4) Objectives of World Bank.

(5) Types of Tariffs.

(6) Terms of Trade.

3. Answer the following questions in 200 to 250 words each (any three) : [30]

(1) Explain the causes of unfavourable terms of trade to less developed

countries.

(2) Explain briefly the theory of Comparative Cost.

(3) Explain the causes of disequilibrium in Balance of Payment.

(4) State and explain the functions of W.T.O.

(5) Explain the role of Multinational Corporations in India.

4. Answer any one of the following questions in 500 words : [20]

(1) Explain the merits and demerits of fixed exchange rate.

(2) Discuss the objectives and achievements of I.M.F.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) vkarjjk"V™h; O;kikjkps egRo Li"V djk-
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(2) f«vkafVQpk fojks/kkHkkl FkksMD;kr Li"V djk-

(3) O;ogkjrks«kph ladYiuk Li"V djk-

(4) #i;kph ijhorZuh;rk Eg.kts dk; \

2. izR;sdh 100 ðkCnkar Vhik f«gk (dks.kR;kgh pkj) % [20]

(1) vkarjjk"V™h; O;kikjkps fLFkrhðkh« «kHk-

(2) ijdh; O;kikj xq.kd-

(3) foðks"k vkfFkZd {ks= (ls>)-

(4) tkxfrd c°dsph mfÌ"VÓs-

(5) tdkrhps izdkj-

(6) O;kikjðkrhZ-

3. [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) vYifodflr nsðkkrh« O;kikjðkrhZ izfrdw« vl.;kph dkj.ks Li"V djk-

(2) rq«ukRed [kpZ «kHkkpk flºkar laf{kIri.ks Li"V djk-

(3) O;ogkjrks«krh« vlerks«kph dkj.ks Li"V djk-

(4) W.T.O. ph dk;sZ lkaxk o Li"V djk-

(5) Hkkjrkrh« cgqjk"V™h; daiU;kaph Hkwfedk Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) fLFkj fofue; njkps xq.k vkf.k nks"k Li"V djk-

(2) vkarjjk"V™h; (IMF) uk.ksfu/khph mfÌ"VÓs vkf.k ;ðk ;koj ppkZ djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4101]-328

T.Y. B.A. EXAMINATION, 2012

ECONOMICS

Special Paper IV

(S-4 : Quantitative Techniques and Project Work)

(Only for Regular Students)

(2008 PATTERN)

Time : Two Hours Maximum Marks : 50

N.B. :— (i) All questions are compulsory.

(ii) Answers should be neat and to the point.

(iii) Figures to the right indicate full marks.

(iv) Use of calculator is allowed.

1. Answer the following questions (any two) : [10]

(1) What is importance of tabulation of data ?

(2) Explain the sources of hypothesis.

(3) Solve : 200 – 8y = 2y + 50, y = ................. ?

(4) Find compound interest on Rs. 12,000 for 2 years at 10% rate

of interest.

P.T.O.
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2. Answer the following questions (any two) : [10]

(1) State the merits of median.

(2) Explain the classification of data.

(3) In what period Rs. 10,000 will earn simple interest of

Rs. 3,200 at 8% p.a. rate of interest ?

(4) Solve : 17x = 2720, x = ................. ?

3. Answer any two of the following : [16]

(1) What are the merits and demerits of mode ?

(2) What is primary data and secondary data ?

(3) What is frequency distribution ? Explain cumulative frequency

with suitable examples.

(4) The population of a village is 4,90,000. The female-male ratio

is 3 : 4. Calculate the total male-female.

4. Answer any one of the following questions : [14]

(1) Explain the objectives and steps involved in report writing.

(2) Find mean, median and mode of the following table :

Height Frequency

(inch)

40—50 04

50—60 05

60—70 10

70—80 08

80—90 01

90—100 02
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(ejkBh :ikarj)

osˇ % nksu rkl ,dw .k xq.k % 50

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs leiZd o eqÌslqn vlkohr-

(iv) dYD;q«sVj okij.;kl ijokuxh vkgs-

(v) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs f«gk (dks.krsgh nksu) %  [10]

(1) ekghrhP;k rDrhdj.kkps egRo f«gk-

(2) x`ghrdkps lzksr Li"V djk-

(3) lksMok % 200 – 8y = 2y + 50, y = ................. ?

(4) #- 12,000 jdesps 2 o"kkZlkBh n-lk-n-ðks- 10% njkus pÿok< O;kt dk<k-

2. [kk«h« izðukaph mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) e/;xkps xq.k f«gk-

(2) ekfgrhps oxhZdj.k djk-

(3) #- 10,000 jdesoj n-lk-n-ðks- 8% njkus fdrh dk«ko/khr #- 3,200 O;kt

feˇs«k-

(4) lksMok 17x = 2720, x = ................. ?
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3. [kk«h« izðukaph mŸkjs f«gk (dks.krsgh nksu) % [16]

(1) cgq«dkps xq.k o nks"k f«gk-

(2) izkFkfed o nq∏;e ekfgrh Eg.kts dk; \

(3) okjaokfjrk forj.k Eg.kts dk; \ lapf;r okjaokfjrk ;ksX; mnkgj.kkP;k lkgÓkus

Li"V djk-

(4) ,dk xkoph «ksdla[;k 4,90,000 vkgs- R;krh« L=h&iq#"k izek.k 3 : 4 vls

vkgs- rj xkokrh« L=h&iq#"kkaph la[;k fdrh \

4. [kk«h«iSdh dks.krkgh ,d izðukpk mŸkj f«gk % [14]

(1) vgok« «s[kukph mÌh"Vs o ik;Ú;k Li"V djk-

(2) [kk«h« rDR;ko:u e/;] e/;xk o cgq«d dk<k %

maph okjaokfjrk

(bap)

40—50 04

50—60 05

60—70 10

70—80 08

80—90 01

90—100 02



Total No. of Questions—4+4] [Total No. of Printed Pages—8+4+2

[4101]-329

T.Y. B.A. EXAMINATION, 2012

ECONOMICS

Special Paper IV

Quantitative Techniques

(For External Students only)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Use of non-scientific calculator is allowed.

1. Solve any two of the following : [10]

(1) Simplify :

3 2

5

2 . .

8

x x x

x

−

.

(2) Solve :

1
7

2
x − =

.

(3) Evaluate :

3 /416

P.T.O.

Seat

No.
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(4) Draw histogram and frequency polygon for the following

distribution :

0—5 07

5—10 10

10—15 20

15—20 13

20—25 17

25—30 10

30—35 14

35—40 09

2. Solve any four of the following : [20]

(1) Solve :

9x – 3y = 24

11x + 2y = 01

(2) Find out marginal cost [MC] if total cost [TC] is equal to

5x2 + 2x – 1, when x = 3.

(3) If A = {1, 2, 3, 4}, B = {2, 4, 6, 8}, C = {1, 3},

list all the elements of :

(i) (A B) C− ∩

(ii)

(A C) (A B)
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(4) Evaluate the following limit :

2

2

4
Lim

2x

x

x→

−

+

.

(5) Differentiate :

2

2

1

1

x

x

+

−
.

(6) Integrate the following with respect to x :

x8.

3. Solve any three of the following : [30]

(1) Find the total revenue (TR) and deduce the demand function

if the marginal revenue function is given as :

2

20
2

( 2)x

−
+

.

(2) Calculate coefficient correlation from the table given below :

x y

6 9

2 11

10 5

4 8

8 7
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(3) The distribution of age of first marriage of 130 males was

as given below : Calculate the average age.

Age No.

(x) (f)

18 2

19 1

20 4

21 8

22 10

23 12

24 17

25 19

26 18

27 14

28 13

29 12

(4) Draw the graph of the following function :

y = x2.

(5) The demand curve for a commodity is x = 2y – 1; where

y represents price and x represents the quantity demanded.

(i) Find the quantity demanded for the price = 5.

(ii) Find the price for the quantity demanded 25.
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4. Solve any one of the following : [20]

(1) State the merits and demerits of each of the following :

(a) Arithmetic mean

(b) Geometric mean

(c) Weighted mean

(d) Median

(e) Mode

(2) From the data given below, find :

(i) Two regression coefficients.

(ii) Two regression equations.

(iii) Correlation coefficient between marks in Economics and

Statistics :

Econmics Statistics

25 43

28 46

35 49

32 41

31 36

36 32

29 31

38 30

34 33
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs leiZd o foupwd vlkohr-

(iv) lk/kk dWYD;q«sVj okij.;kl ijokuxh vkgs-

(v) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.krsgh nksu izðu lksMok % [10]

(1) ljˇ :i |k %

3 2

5

2 . .

8

x x x

x

−

.

(2) lksMok %

1
7

2
x − =

.

(3) fdaer dk<k (lw{e :i |k) %

3 /416

(4) [kk«h fn«sY;k okjaokfjrk rDR;ko:u cgqHk qt vkf.k vko`Ÿklwpd fp=

dk<k :

0—5 07

5—10 10

10—15 20

15—20 13

20—25 17

25—30 10

30—35 14

35—40 09
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2. [kk«h«iSdh dks.krsgh pkj izðu lksMok % [20]

(1) lksMok %

9x – 3y = 24

11x + 2y = 01

(2) ,dw.k [kpZ = 5x2 + 2x – 1 (tsOgk x = 3 vls«)] rj lhekUr [kpZ

(lh[k) dk<k-

(3) tj A = {1, 2, 3, 4}, B = {2, 4, 6, 8}, C = {1, 3}.

rj-

(i) (A B) C− ∩

(ii)

(A B) (A B)∪ − ∩

;krhy loZ ?kVd f«gk-

(4) [kk«h« fn«sY;k e;kZnsps ewY; dk<k %
2

2

4
Lim

2x

x

x→

−

+
.

(5) fodf«r djk %

2

2

1

1

x

x

+

−
.

(6) x lUnHkkZrhy [kk«h« inko«hps lad«u djk %

x8.

3. [kk«h«iSdh dks.krsgh rhu izðu lksMok % [30]

(1) 2

20
2

( 2)x

−
+

 vlk lhekUr eglw« fn«s«k vlrkuk ,dw.k eglw« dk<k

vkf.k ekx.kh Q«u dk<k-
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(2) [kk«h fn«sY;k rDR;ko:u lglaca/k lgxq.kd dk<k %

x y

6 9

2 11

10 5

4 8

8 7

(3) 130 iq#"kkaP;k izFke «Xukps o; [kk«h« rDR;kr fn«s vkgs R;ko:u ljkljh

dk<k %

o; okjaokfjrk

(x) (y)

18 2

19 1

20 4

21 8

22 10

23 12

24 17

25 19

26 18

27 14

28 13

29 12
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(4) y = x2 ;k Q«uko:u vk«s[k dk<k-

(5) x = 2y – 1 gk ,dk oLrwpk ekx.kh oÿ vkgs- y Eg.kts fdaer vkf.k

x Eg.kts ,dw.k ekx.kh vkgs- R;ko:u %

(i) fdaer 5 vlrkuk ekx.kh dk<k-

(ii) ekx.kh uxla[;k 25 vlrkuk fdaer dk<k-

4. [kk«h«iSdh dks.kRkkgh ,d izðu lksMok % [20]

(1) [kk«h fn«sY;k izR;sdkps xq.k o nks"k lkaxk %

(a) xf.krh e/;

(b) Hkwferh e/;

(c) Hkkfjr e/;

(d) e/;dk

(e) cgq«d

(2) [kk«h fn«sY;k vkdMsokjh o:u %

(i) nksUgh izfrixeu lgxq.kd dk<k-

(ii) nksUgh izfrixeu lehdj.ks dk<k-
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(iii) vFkZðkkL= vkf.k la[;kðkkL= ;kaP;k xq.kk ae/kh« lglaca/k lgxq.kd

dk<k %

vFkZðððððkkL= la[;kðððððkkL=

25 43

28 46

35 49

32 41

31 36

36 32

29 31

38 30

34 33
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[4101]-329

(S4 : Development and Environmental Economics)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) :  [10]

(1) Explain the concept of Economic Growth.

(2) Explain vicious circle of poverty.

(3) State the importance of infrastructure in economic

development.

(4) Explain the causes of soil pollution.

2. Write short notes in 100 words each (any four) : [20]

(1) Population Explosion.

(2) Indicators of Economic Development.

(3) Role of Agriculture in Economic Development.

(4) Importance of Environment in Economic Development.

(5) Need of Economic Planning.

(6) Multinational companies and Economic Development.
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3. Answer the following questions in 200 to 250 words each

(any three) : [30]

(1) Explain the causes of Low Productivity of Indian Agriculture.

(2) Explain the Karl Marx’s theory of Economic Development.

(3) Discuss the Unbalanced Growth approach to Economic

Development.

(4) State and explain the importance of Land Reforms.

(5) Explain the characteristics of Less Developed Countries.

4. Answer any one of the following questions in 500 words :  [20]

(1) What is meant by pollution ? Explain the causes and effects

of water pollution.

(2) State and explain the main objectives of Monetary Policy of

developing countries.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh eq̌  baxzth izðuif=dk igkoh-
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1. [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) vkfFkZd o`ºhph ladYiuk Li"V djk-

(2) nkfjÊÓkps nq"Vpÿ Li"V djk-

(3) vkfFkZd fodklkrh« ik;kHkwr lqfo/kkaps egRo lkaxk-

(4) tehu iznq"k.kkph dkj.ks Li"V djk-

2. izR;sdh 100 ðkCnkar Vhik f«gk (dks.kR;kgh pkj) % [20]

(1) «ksdla[;k foLQksV-

(2) vkfFkZd fodklkps funsZðkd-

(3) vkfFkZd fodklkrh« ðksrhph Hkwfedk-

(4) vkfFkZd fodklkrh« i;kZoj.kkps egRo-

(5) vkfFkZd fu;kstukph xjt-

(6) cgqjk"V™h; daiU;k vkf.k vkfFkZd fodkl-

3. [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) Hkkjrh; ðksrhph mRikndrk deh vl.;kph dkj.ks Li"V djk-

(2) vkfFkZd fodklkckcr dk«Z ekDlZpk flºkar Li"V djk-

(3) vkfFkZd fodklkrh« vlerks« o`ºh n`"Vhdksukoj ppkZ djk-
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(4) tehu lq/kkj.kkps egRo lkaxk o Li"V djk-

(5) vYi&fodflr nsðkkaph oSfðk"VÓs Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) iznq"k.k Eg.kts dk; \ t« iznq"k.kkph dkj.ks vkf.k ijh.kke Li"V djk-

(2) fodluðkh« nsðkkrh« p«ufo"k;d /kksj.kkph eq[; mfÌ"VÓs lkaxk o Li"V

djk-



Total No. of Questions—4+4] [Total No. of Printed Pages—7

Seat

No. [4101]-330

T.Y. B.A. EXAMINATION, 2012

POLITICS

General Paper III

(India and The World)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any two questions (in 50 words each) : [10]

(1) Principles of India’s Foreign Policy.

(2) Objectives of Non-aligned Movement.

(3) Principles of Panchsheel.

(4) Functions of the International Court.

2. Answer any four questions (in 100 words each) : [20]

(1) Objectives of United Nations Organization

P.T.O.
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(2) Terrorism

(3) Human Rights

(4) C.T.B.T.

(5) W.T.O.

(6) India’s Nuclear Policy.

3. Attempt any three questions (in 250 words each) : [30]

(1) Explain the relevance of Non-aligned Movement.

(2) Describe the India-U.S. relations.

(3) Examine the Indo-Pak relations.

(4) Explain the effects of globalisation on India.

(5) Explain the composition, functions and powers of the Security

Council of the U.N.O.

4. Attempt any one question (in 500 words) : [20]

(1) Discuss Pandit Nehru’s contribution to India’s Foreign

Policy.

(2) Review the Indo-China relations.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.krsgh nksu izðu lksMok (izR;sdh 50 ðkCnkar) % [10]

(1) HkkjrkP;k ijjk"V™ /kksj.kkph ew«rRos-

(2) vf«Irrkoknh pˇoˇhph mfÌ"VÓs-

(3) iapðkh«ph rRos-

(4) vkarjjk"V™h; U;k;k«;kph dk;sZ-

2. [kk«h«iSdh dks.krsgh pkj izðu lksMok (izR;sdh 100 ðkCnkar) % [20]

(1) la;qDr jk"V™la?kkph mfÌ"VÓs

(2) ngðkrokn

(3) ekuoh gDd

(4) lh-Vh-ch-Vh- (loZlekosðkd v.kw pkp.kh canh djkj)

(5) tkxrhd O;kikj la?kVuk

(6) Hkkjrkps vk.ohdfo"k;d /kksj.k-
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3. [kk«h«iSdh dks.krsgh rhu izðu lksMok (izR;sdh 250 ðkCnkar) % [30]

(1) vf«Irrkoknh pˇoˇhph mi;qDrrk Li"V djk-

(2) Hkkjr&vesfjdk (;w- ,l- ,-) laca/kkps o.kZu djk-

(3) Hkkjr&ikd laca/kkps ijh{k.k djk-

(4) tkxfrdhdj.kkps Hkkjrkoj >k«s«s ijh.kke Li"V djk-

(5) la;qDr jk"V™ la?kkP;k (;wuks) lqj{kk eaMˇkph jpuk] dk;sZ vkf.k vf/kdkj Li"V

djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj f«gk (500 ðkCnkar) % [20]

(1) iafMr usg:uh Hkkjrh; ijjk"V™ /kksj.kk«k ds«sY;k ;ksxnkukph ppkZ djk-

(2) Hkkjr&phu laca/kkpk vk<kok ?;k-
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[4101]-330

(Optional Paper)

(International Organizations)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any two questions (in 50 words each) : [10]

(1) Nature of International Organisation.

(2) Composition of Security Council.

(3) Meaning of Intervention.

(4) International Transparency.

2. Attempt any four questions (in 100 words each) : [20]

(1) UNCTAD

(2) Disarmament

(3) ASEAN

(4) Terrorism

(5) SAARC

(6) GATT.
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3. Attempt any three questions (in 250 words each) : [30]

(1) Explain the functions of IMF and WTO.

(2) Explain the European Union.

(3) On what grounds expansion of permanent membership of UN

Security Council may be justified.

(4) Explain the meaning and nature of International Organizations.

(5) Explain New International Economic Order.

4. Answer any one question (in 500 words) : [20]

(1) Explain the role of U.N.O. regarding Disarmament and Human

rights.

(2) Discuss the challenges before International Organisations.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.krsgh nksu izðu lksMok (izR;sdh 50 ðkCnkar) % [10]

(1) vkarjjk"V™h; la?kVukaps Lo:i-

(2) lqj{kk ifj"knsph jpuk-

(3) gLr{ksikpk vFkZ-

(4) vkarjjk"V™h; ikjnðkZdrk-



[4101]-330 7 P.T.O.

2. [kk«h«iSdh dks.krsgh pkj izðu lksMok (izR;sdh 100 ðkCnkar) % [20]

(1) la;qDr jk"V™ la?kVusph O;kikj vkf.k fodkl ifj"kn

(2) fu%ðkL=hdj.k

(3) nf{k.k&iwoZ vkfðk;k jk"V™kaph la?kVuk

(4) ngðkrokn

(5) lkdZ

(6) xWV djkj-

3. [kk«h«iSdh dks.krsgh rhu izðu lksMok (izR;sdh 250 ðkCnkar) % [30]

(1) tkxrhd uk.ksfu/kh vkf.k tkxrhd O;kikj la?kVusph dk;sZ Li"V djk-

(2) ;qjksfi;u la?k Li"V djk-

(3) la;qDr jk"V™kP;k lqj{kk ifj"knspk foLrkj dj.;kps leFkZu dks.kR;k eqÌkoj djrk

;sbZ« \

(4) vkarjjk"V™h; la?kVusps vFkZ o Lo:i Li"V djk-

(5) ufou vkarjjk"V™h; vkFkhZd O;oLFkk Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj lksMok (500 ðkCnkar) % [20]

(1) la;qDr jk"V™ la?kVusph fu%ðkL=hdj.k vkf.k ekuoh gDd ;k lanHkkZr Hkqehdk

Li"V djk-

(2) vkarjjk"V™h; la?kVukiq<h« vkOgkukaph ppkZ djk-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4101]-331

T.Y. B.A. EXAMINATION, 2012

POLITICS

Special Paper III

(Introduction to Public Administration)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) POSDCORB

(ii) Unity of Command

(iii) Hierarchy

(iv) New Public Administration.

2. Write short notes in 100 words each (any four) : [20]

(i) Lokayukta

(ii) Planning

(iii) Decision making

(iv) Co-ordination

(v) Difference between Public and Private Administration

(vi) Nature of Public Policy.

P.T.O.
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3. Answer the following questions in 200 to 250 words each (any three) : [30]

(i) Explain modern approach of Public Administration.

(ii) State the types of Staff Agencies.

(iii) Explain the functions of Management.

(iv) State the causes to increase the Administrative Tribunals.

(v) What is meant by objectives of Training and explain the types

of Training.

4. Answer any one question in 500 words : [20]

(i) Critically examine the types of Budget.

(ii) What is meant by Recruitment ? Explain the types of Recruitment.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad xq.k nðkZforkr-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk % [10]

(i) iksLMdkWcZ

(ii) vkKSD;

(iii) inlksiku rRo

(iv) uo«ksdizðkklu-
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2. dks.kR;kgh pkjoj FkksMD;kr fVik f«gk (izR;sdh 100 ðkCnkar) % [20]

(i) «ksdk;qDr

(ii) fu;kstu

(iii) fu.kZ;izfÿ;k

(iv) leUo;

(v) «ksdizðkklu vkf.k [kktxh izðkklukrh« Qjd

(vi) lkoZtfud /kksj.kkps Lo:i-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkai;±r f«gk % [30]

(i) «ksdizðkklukpk vk/kqfud n`"Vhdksu Li"V djk-

(ii) lgk∏;dkjh la?kVusps izdkj lkaxk-

(iii) O;oLFkkiukph dk;sZ Li"V djk-

(iv) izðkkldh; U;k;kf/kdj.kkP;k ok<hph dkj.ks lkaxk-

(v) izfðk{k.kkpk gsrw (mÌsðk) Eg.kts dk; \ izfðk{k.kkps izdkj Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) vankti=dkaps izdkjkaps fpfdRld ijh{k.k djk-

(ii) Hkjrh Eg.kts dk; \ Hkjrhps izdkj Li"V djk-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4101]-332

T.Y. B.A. EXAMINATION, 2012

POLITICS

Special Paper IV

(S-4 : Political Concepts and Ideologies)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Liberal concept of the state.

(2) Nature of power

(3) Bhudan movement

(4) Nature of Democratic Socialism.

2. Write short notes in 100 words each (any four) : [20]

(1) Meaning and nature of Authority.

(2) Political obligation.

(3) Meaning and nature of Nationalism.

(4) Features of Sarvodaya.

(5) Nature of feminism.

(6) Guild Socialism.

3. Answer the following questions in 200 to 250 words each (any

three) : [30]

(1) Explain the concepts of Liberty and Equality. State relation

between Liberty and Equality.

P.T.O.
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(2) Discuss bases of political obligations.

(3) Explain the types of Nationalism.

(4) Discuss meaning, nature and types of Democratic Socialism.

(5) State the liberal perspectives of Feminism.

4. Answer any one question in 500 words : [20]

(1) State the meaning of the state and explain the bases of the

state.

(2) Critically examine the meaning, nature and Marxian perspective

of Feminism.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk %  [10]

(1) mnkjeroknh jkT;kph ladYiuk

(2) lŸksps Lo:i

(3) Hkwnku pˇoˇ

(4) «ksdðkkgh lektoknkps Lo:i-

2. dks.kR;kgh pkjoj FkksMD;kr fVik f«gk (izR;sdh 100 ðkCnkar) %  [20]

(1) vf/klŸkspk vFkZ vkf.k Lo:i

(2) jktdh; vkca/ku

(3) jk"V™oknkpk vFkZ o Lo:i

(4) loksZn;kph oSfðk"Vs

(5) fL=oknkps Lo:i

(6) O;olk; la?kokn-
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3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkai;Zr

f«gk % [30]

(1) Lokra´; o lerk ladYiuk Li"V d:u R;kaps ijLijlaca/k lkaxk-

(2) jktdh; vkca/kukP;k vk/kkjkaph ppkZ djk-

(3) jk"V™oknkps izdkj Li"V djk-

(4) «ksdðkkgh lektoknkpk vFkZ] Lo:i vkf.k izdkjkaph ppkZ djk-

(5) fL=oknkpk mnkjeroknh n`"Vhdksu lkaxk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) jkT; ladYiuspk vFkZ lkaxwu jkT;kps ew«k/kkj Li"V djk-

(2) fL=oknkpk vFkZ] Lo:i o ekDlZoknh n`"Vhdksukps fpfdRld ijh{k.k

djk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4101]-333

T.Y. B.A. EXAMINATION, 2012

HISTORY

General Paper III

History of the Marathas [1630 to 1818]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Explain the concept of ‘Powada’.

(2) What is meant by Shiledar and Bargir ?

(3) Explain the concept of ‘Barbhai Council’.

(4) What is meant by ‘ordeals’ ?

2. Write short notes in about 100 words each (any four) : [20]

(1) Historical contribution of saint Eknath.

(2) Significance of Javali Victory.

(3) Dhanaji Jadhav.

(4) Treaty of Mungi-Shevgaon.

(5) Battle of Khadki (1817).

(6) Provincial Administration under the Peshwas.
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3. Answer the following questions in 250 words each (any three) : [30]

(1) Give an account of literary sources of the Maratha History.

(2) Explain the importance of Chh. Shivaji’s Karnatak expedition.

(3) Explain the salient features of military administration of

Chhatrapati Shivaji Maharaj.

(4) State the consequences of Third Battle of Panipat.

(5) Elaborate judicial system during the Peshwa period.

4. Answer the following question in 500 words (any one) : [20]

(1) Give an account of the achievements of Chhatrapati Sambhaji

Maharaj in the history of the Marathas

(2) Review in detail the ‘policy of expansion in north’ of Peshwa

Bajirao—I.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1- [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (QDr nksu) % [10]

(1) ^iksokMk* gh ladYiuk Li"V djk-

(2) ^fðk«snkj* o ^ckjxhj* Eg.kts dk; \

(3) ^ckjHkkbZ eaM«* gh ladYiuk Li"V djk-

(4) ^fnO;* Eg.kts dk; \
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2- izR;sdh 100 ðkCnkar fVik f«gk (QDr pkj)% [20]

(1) lar ,dukFkkaps ,sfrgkfld ;ksxnku-

(2) tkoˇh fot;kps egRo-

(3) /kukth tk/ko-

(4) eqaxh&ðksoxkopk rg-

(5) [kMdhph «<kbZ (1817)-

(6) isðkosdk«hu izkarh; izðkklu O;oLFkk-

3- [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (QDr rhu) % [30]

(1) ejkBÓkaP;k bfrgklkP;k f«[khr lk/kukapk vk<kok ?;k-

(2) N=irh fðkokth egkjktkaP;k dukZVd Lokjhps egRo Li"V djk-

(3) N=irh fðkokth egkjktkaP;k «"djh izðkklukph Bˇd oSfðk"VÓs foðkn djk-

(4) frlÚ;k ikuhir ;qºkps ifj.kke lkaxk-

(5) isðkosdk«hu U;k;&O;oLFkk Li"V djk-

4- [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkar mŸkj f«gk % [20]

(1) ejkBÓkaP;k bfrgklkrh« N=irh laHkkth egkjktkaP;k dkefxjhpk o`Ÿkkar |k-

(2) ifgY;k is'kok ckthjkokP;k mŸkjsdMh« lŸkkfoLrkjkP;k /kksj.kkpk vk<kok ?;k-



P.T.O.

Total No. of Questions—4+4] [Total No. of Printed Pages—4+2

Seat

No. [4101]-334

T.Y. B.A. EXAMINATION, 2012

HISTORY

Special Paper IV

[History of Transformation in Modern Maharashtra (1818-1960)]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Explain the concept of ‘Bhakti Movement’.

(2) State the causes for the rise of ‘Extremists’.

(3) State the principles of Satyashodhak Samaj.

(4) Explain the concept of ‘Co-operative Movement’.

2. Write short notes in 100 words each (any four) : [20]

(1) Achievements of Shahaji Raje

(2) Home Rule Movement

(3) Non-Co-operation Movement

(4) ‘Economic Nationalism’

(5) Mahatma Phule’s attitude towards Women

(6) Dr. B.R. Ambedkar’s contribution to the Economics.
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3. Answer the following questions in 250 words each (any three) : [30]

(1) Explain the social and economic impact of British rule on

Maharashtra.

(2) Give an account of progress of Samyukta Maharashtra

Movement.

(3) Explain the contribution of Maharashtra to Civil Disobedience

Movement.

(4) State the educational work of Shahu Maharaj.

(5) State the changes in the means of transportation in 19th century

Maharashtra.

4. Answer the following question in 500 words (any one) : [20]

(1) Explain the inspirations of revolutionaries in Maharashtra.

(2) Give an account of Peasant movement in Maharashtra led by

Congress.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h« izðukaph izR;sdh 50 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) ^HkDrh pˇoˇ* gh ladYiuk Li"V djk-



[4101]-334 3 P.T.O.

(2) tgk«oknkapk mn;kph dkj.ks lkaxk-

(3) lR;ðkks/kd lektkph rRos lkaxk-

(4) ^lgdkj pˇoˇ* gh ladYiuk Li"V djk-

2- izR;sdh 100 ðkCnkr FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(1) ðkgkth jktkaph dkefxjh

(2) gkse:« pˇoˇ

(3) vlgdkj vkanks«u

(4) vkfFkZd jk"V™okn

(5) e- Qq«s ;kapk fL=fo"k;d n`"Vhdksu

(6) MkW- ckcklkgsc vkacsMdj ;kaps vFkZðkkL=ke/kh« ;ksxnku-

3- [kk«h« izðukaph izR;sdh 250 ðkCnkr mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) baxzth jktoVhps egkjk"V™krh« lkekthd o vkfFkZd ifj.kke Li"V djk-

(2) la;qDr egkjk"V™ pˇoˇhP;k izxrhpk o`Ÿkkar |k-

(3) egkjk"V™krh« lfou; dk;nsHkax pˇoˇhpk lgHkkx Li"V djk-

(4) ðkkgw egkjktkaps ðkS{kf.kd {ks=krh« dk;Z lkaxk-

(5) 19O;k ðkrdkrh« egkjk"V™krh« nˇ.koˇ.kkP;k lk/kukrh« cn« lkaxk-

4- [kk«h«iSdh dks.krkgh ,d izðukpk mŸkj 500 ðkCnkr f«gk % [20]

(1) egkjk"V™krh« ÿkarhdkjdkaP;k izsj.kk Li"V djk-

(2) egkjk"V™krh« dk°xzslP;k usr`Rok[kk«h« ðksrdjh pˇoˇhph ekfgrh |k-
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[4101]-334

(History of Modern China and Japan)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) State the consequences of the Opium War.

(2) State the principles of political philosophy of Dr. Sun-Yat-Sen.

(3) State the main provisions of the Anglo-Japanese Alliance, 1902.

(4) What is meant by Rome-Berlin-Tokyo Axis ?

2. Write short notes in 100 words each (any four) : [20]

(1) Open-Door Policy

(2) May Fourth Movement

(3) New Economic Policy of China, 1961

(4) Zaibatsu

(5) Washington Conference

(6) Militarism in Japan.

3. Answer the following questions in 250 words each (any three) : [30]

(1) State the causes of Taiping Rebellion.
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(2) Explain the causes responsible for the Revolution of 1911 in

China.

(3) Examine the role played by Mao-Tse-Tung in the history of

China.

(4) Evaluate the achievements of Gen. Mac Arthur in Japan.

(5) Describe the economic progress in Japan after World

War II.

4. Answer any one of the following question in 500 words : [20]

(1) Critically examine the domestic policy of Chiang Kai-Shek.

(2) Give an account of the modernisation of Japan in the

Meiji era.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) vQwP;k ;qºkps ifj.kke lkaxk-

(2) MkW- lu&;r&lsu ;kaP;k jktdh; rŸoKkukrh« lq=s lkaxk-

(3) 1902P;k baX«aM&tiku djkjkP;k izeq[k rjrqnh lkaxk-

(4) ^jkse&c«hZu&Vksfdvks v{k* Eg.kts dk; \
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2- izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(1) eqDrn~okj /kksj.k

(2) pkj es ph pˇoˇ

(3) phups uos vkfFkZd /kksj.k (1961)

(4) >k;&cRlw

(5) okWfðkaXVu ifj"kn~

(6) tikue/kh« «"djokn-

3- [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) rk;fiax mBkokph dkj.ks lkaxk-

(2) phuP;k 1911P;k ÿkarhph dkj.ks Li"V djk-

(3) phuP;k bfrgklkr ekvks&Rls&rqax ;kauh ctkfo«sY;k Hkwfedsps ijh{k.k djk-

(4) tikue/kh« tuj« eWdvkFkZjP;k dkefxjhps ewY;ekiu djk-

(5) nqlÚ;k egk;qºkuarj tikuus ds«sY;k vkfFkZd izxrhps o.kZu djk-

4- [kk«h«iSdh dks.krkgh ,d izðukpk mŸkj 500 ðkCnkar f«gk % [20]

(1) p°x&dS&ðksdP;k varxZr /kksj.kkps VhdkRed ijh{k.k djk-

(2) esbZth dk«[kaMkr tikue/;s ?kMwu vk«sY;k vk/kqfudhdj.kkpk o`Ÿkkar |k-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4101]-335

T.Y. B.A. EXAMINATION, 2012

HISTORY

Special Paper III

(History of Medieval India : 1206-1707 A.D.)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Market control policy of Sultan Alauddin Khilji.

(2) Nature of state during Sultanate period.

(3) Urbanization during Mughal period.

(4) Describe cotton industry of Mughal period.

2. Write short notes in 100 words each (any four) : [20]

(1) Achievements of Kutubuddin Aibak.

P.T.O.
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(2) Architecture during Sultanate period.

(3) Muhammad Gawan.

(4) Life of women during Mughal period.

(5) System of Mansabdari.

(6) Paintings during Mughal period.

3. Answer the following questions in 250 words each (any

three) : [30

(1) Evaluate the achievements of Sultan Iltutmish.

(2) Describe the causes of decline of Sultanate.

(3) Evaluate the religious policy of Akbar.

(4) Describe social structure during Mughal period.

(5) Review economic life during Mughal period.

4. Answer any one of the following questions in 500 words : [20]

(1) Discuss the achievements of Raja Krishna Devaraya of Vijaynagar

Empire.

(2) Review the art and architecture during the Mughal

period.



[4101]-335 3 P.T.O.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad izðukps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nks) %  [10]

(1) vY«kmÌhu f[k«thps cktkj fu;a=.k fo"k; /kksj.k-

(2) lq«rkuðkkghrh« jkT;kps Lo:i-

(3) eksx«dk«hu ukxjhdj.k-

(4) eksx«dk«hu dkiM m|ksxkps o.kZu djk-

2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(1) dqrqcqÌhu ,scdkP;k dkefxjh-

(2) lq«rkuðkkghdk«hu LFkkiR; d«k-

(3) egean xoku-

(4) eksx«dk«hu L=h thou-

(5) eulcnkjh iºr-

(6) eksx«dk«hu fp=d«k-

3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) lq«rku vYreðkP;k dkefxjhps ewY;ekiu djk-
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(2) lq«rkuðkkghP;k Úgklkph dkj.ks foðkn djk-

(3) vdcjkP;k /kkfeZd /kksj.kkps ijh{k.k djk-

(4) eksx«dk«hu lekt jpusps o.kZu djk-

(5) eksx«dk«hu vkfFkZd thoukpk vk<kok ?;k-

4. [kk«h« dks.krkgh ,d izðukpk 500 ðkCnkar mŸkj f«gk % [20]

(1) fot;uxj lkezkT;krh« jktk œ".knsojk;kP;k dkefxjhph ppkZ djk-

(2) eksx«dk«hu d«k vkf.k LFkkiR;kpk vk<kok ?;k-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4101]-336

T.Y. B.A. EXAMINATION, 2012

ANTHROPOLOGY

(G-3 : Maharashtra : A Cultural Region)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following in 50 words each : [10]

(1) Give the meaning of ‘Maharashtra Culture’.

(2) Write the meaning of Balutedari.

(3) What is Leni ?

(4) Name the types of Forts.

2. Write short notes on any four of the following in 100 words each : [20]

(1) Maharashtra Dharma.

(2) Khandesh : A Cultural Region.

(3) Tribal economy.

(4) Shetkari Sangathana.

(5) Right to Information Act.

(6) Ek Gaon—Ek Panvata.
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3. Answer any three of the following in 250 words each : [30]

(1) Explain the contribution of Dr. B.R. Ambedkar in Social Reform

Movement.

(2) Elaborate the Tribal movement under the leadership of Godavari

Parulekar.

(3) Describe the educational contribution of Karmaveer Bhaurao

Patil.

(4) Review the Revolutionary movement by Vir Savarkar.

(5) Describe the nature of Industrialization in Maharashtra.

4. Answer any one of the following in 500 words : [20]

(1) Explain the work of Mahatma Jyotiba Phule.

(2) Describe the role of Varkari Saints in Maharashtra.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1- [kk«h«iSdh dks.kR;kgh nksu izðukaph izR;sdh 50 ðkCnki;±r mŸkjs f«gk % [10]

(1) ^egkjk"V™kph laLœrh* vFkZ f«gk-

(2) c«qrsnkjhpk vFkZ f«gk-

(3) «s.kh Eg.kts dk; \

(4) fdYY;kaP;k izdkjkaph ukos f«gk-
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2- [kk«h«iSdh dks.kR;kgh pkjoj izR;sdh 100 ðkCnki;±r fVik f«gk % [20]

(1) egkjk"V™ /keZ-

(2) [kkUnsðk % ,d lkaLœrhd iznsðk-

(3) vkfnoklh vFkZO;oLFkk-

(4) ðksrdjh la?kVuk-

(5) ekfgrh vf/kdkj dk;nk-

(6) ,d xko % ,d ik.koBk-

3- [kk«h«iSdh dks.kR;kgh rhu izðukaph izR;sdh 250 ðkCnki;±r mŸkjs f«gk % [30]

(1) MkW- ch-vkj- vkacsMdjkaps lkekftd lq/kkj.kk pˇoˇhrh« ;ksxnku Li"V djk-

(2) xksnkojh i:ˇsdjkaP;k usr`Rok[kk«h« vkfnoklh pˇo«hps o.kZu djk-

(3) deZfoj Hkk≈jko ikVh« ;kaps ðkS{k.khd dk;Z foðkn djk-

(4) ohj lkojdkjkaP;k ÿkarhdkjh pˇoˇhpk vk<kok ?;k-

(5) egkjk"V™krh« vkSnÓksxhdj.kkps Lo:i foðkn djk-

4- [kk«h«iSdh dks.kR;kgh ,dk izðukaps 500 ðkCnki;±r mŸkj f«gk % [20]

(1) egkRek T;ksrhck Qq«s ;kaps dk;Z Li"V djk-

(2) egkjk"V™krh« okjdjh lkaiznk;kP;k larkaph Hkwfedk foðkn djk-



Total No. of Questions—4+4] [Total No. of Printed Pages—8

[4101]-337

T.Y. B.A. EXAMINATION, 2012

GEOGRAPHY (G-3)

(Gg-310 : Geography of Tropical Agriculture)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencils is allowed.

1. Answer the following questions in about 20 words each (any ten) : [20]

(1) What is Tropical Agriculture ?

(2) What is Watershed ?

(3) Define polyhouse.

(4) Write two problems of Shifting Agriculture.

(5) What is meant by Tissue Culture ?

(6) Name any two bee-keeping centers in India.

(7) What is crop rotation ?

(8) Define group plantation.

(9) Name the four crops of plantation agriculture.

(10) Give two advantages of drip irrigation.

P.T.O.

Seat

No.
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(11) State any two economic problems of Tropical Agriculture.

(12) What is meant by Nala Bunding ?

(13) Name any two states of Tropical Africa.

2. Write notes on the following questions in about 50 words each

(any two) : [10]

(1) Effects of drought

(2) Sprinkler irrigation

(3) Agro-Tourism

(4) Corporate farming

3. Answer the following questions in about 150 words each (any two) : [20]

(1) Explain the importance of bio-chemical inputs in Tropical

Agriculture.

(2) Describe the importance of irrigation in Tropical Agriculture.

(3) Write explanatory notes on organic farming.

(4) Explain the use of modern technology in Indian Agriculture.

4. Answer the following questions in about 300 words each (any

two) : [30]

(1) Explain the various approaches to the study of Agricultural

Geography.

(2) Discuss the problems and prospects of Tropical Agriculture.

(3) Explain the concept and characteristics of dryland farming in

India.

(4) “Food Security is emerging issue in India.” Comment.



[4101]-337 3 P.T.O.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k dk<k-

(iv) udkðkk LVsfUl« okij.;kl ijokuxh vkgs-

(v) lanHkkZlkBh eqˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph izR;sdh lqekjs 20 ðkCnkar mŸkjs f«gk (dks.krsgh ngk) % [20]

(1) m".kiznsfðk; œ"kh Hkwxks« Eg.kts dk; \

(2) ik.k«ksV {ks= Eg.kts dk; \

(3) ikW«hgkmlph O;k[;k |k-

(4) LFk«karjhr ðksrhP;k nksu leL;k f«gk-

(5) mrh lao/kZu Eg.kts dk; \

(6) Hkkjrkrh« dks.kR;kgh nksu e/kqef{kdk ikyudsaÊkph ukos f«gk-

(7) ihd Qsjik«V Eg.kts dk; \

(8) xV ðksrhph O;k[;k |k-

(9) eˇ;kP;k ðksrhrh« pkj fidkaph ukos nÓk-

(10) fBcd flaapukps nksu Qk;ns lkaxk-

(11) m".kdfVca/kh; ðksrhP;k nksu vkfFkZd leL;k lkaxk-

(12) uk«k cafMax Eg.kts dk; \

(13) m".kdfVca/kh; iznsðkkrh« vkf›dk [kaMkrh« nksu nsðkkaph ukos lkaxk-
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2. izR;sdh lqekjs 50 ðkCnkar Vhik f«gk (dks.kR;kgh nksu) % [10]

(1) vo"kZZ.kkps ijh.kke

(2) rq"kkj t«flapu

(3) œ"kh i;ZVu

(4) dkWiksZjsV Qk£eax

3. [kk«h« izðukaph izR;sdh lqekjs 150 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) tSo&jklk;fud vknkukps (fufo"Vkaps) m".kdfVca/kh; ðksrhrh« egRo Li"V

djk-

(2) m".kdfVca/kh; ðksrhrh« t«flapukps egRo o.kZu djk-

(3) lasfÊ; ðksrhph lfoLrj ekfgrh f«gk-

(4) Hkkjrh; ðksrhrh« vk/kqfud ra=Kkukpk okij Li"V djk-

4. [kk«h« izðukaph izR;sdh lqekjs 300 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [30]

(1) œ"kh Hkwxks«kP;k fofo/k vH;kliºrh Li"V djk-

(2) m".kdfVca/kh; ðksrhP;k leL;k o mik; ;kaph ppkZ djk-

(3) Hkkjrkrh« dksjMokgqðksrhph ladYiuk Li"V d:u rhph xq.koSfðk"VÓs lkaxk-

(4) ^^vUulqj{kk gh Hkkjrkrh« To«ar leL;k vkgs-** ppkZ djk-



[4101]-337 5 P.T.O.

[4101]-337

(Gg-310 : Geography of Travel and Tourism)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map-stencils is allowed.

1. Answer the following questions in about 20 words each (any

ten) : [20]

(1) Define a foreign tourist.

(2) State any two characteristics of the Domestic Tourism.

(3) What do you mean by the mathematical location of the tourist

place ?

(4) What is Agro-tourism ?

(5) Name any two cultural factors that attract the tourist.

(6) Name any two planned cities in India.

(7) State the two advantages of Rail transport.

(8) Give any two functions of the Maharashtra Tourism Development

Corporation.

(9) State any two effects of tourism on coastal water.

(10) In which states Shirdi and Shimala are located ?

(11) What are the main attractions of the tourist place ‘Agra’ ?

(12) Name any two national park of India.

(13) Name any two tourism policies of India.
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2. Write notes in about 50 words each (any two) : [10]

(1) Heritage Tourism

(2) Rail Yatri Bhavan

(3) Tourism and Health

(4) Tourism and Air Pollution

3. Answer the following questions in about 150 words each (any two) : [20]

(1) Explain the role of Geography in Tourism.

(2) Explain the various cultural factors that attract the tourism.

(3) Why is Tourism called a form of Neocolonialism ?

(4) Write a note on the National Level Tourism Planning.

4. Answer the following questions in about 300 words each (any two) : [30]

(1) Explain the various types of tourism.

(2) Explain the various physical factors affecting on Tourism

development.

(3) Explain the economic impact of tourism.

(4) Describe Tirupati Temple and Bhimashankar as a tourist

place.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k dk<k-

(iv) udkðkk LVsfUl« okij.;kl ijokuxh vkgs-

1. [kk«h« izðukaph mŸkjs izR;sdh lqekjs 20 ðkCnkar f«gk (dks.krsgh ngk) % [20]

(1) ijnsðkh i;ZVdkph O;k[;k f«gk-

(2) nsðkh i;ZVdkaph nksu oSfðk"Vs lkaxk-

(3) i;ZVu LFkˇkaps xf.krh LFkku Eg.kts dk; \

(4) œ"kh i;ZVu Eg.kts dk; \

(5) i;ZVdkauk vkd"khZr dj.kkjs dks.krsgh nksu lkaLœfrd ?kVd lkaxk-

(6) Hkkjrkrh« nksu la;ksftr ðkgjs lkaxk-

(7) jsYos okgrqdhps nksu Qk;ns lkaxk-

(8) egkjk"V™ i;ZVu fodkl egkeaMˇkph nksu dk;sZ lkaxk-

(9) fdukjiV~VhP;k toˇh« ik.;koj gks.kkjs i;ZVukps nksu ifj.kke lkaxk-

(10) fðkMhZ o fðke«k dks.kR;k jkT;kr vkgsr \

(11) ^vkxzk* ;k i;ZVu LFk«kps eq[; vkd"kZ.k dks.krs \

(12) Hkkjrkrh« nksu jk"V™h; mnÓkuakph ukos |k-

(13) Hkkjrkph dks.krhgh nksu i;ZVufo"k;d /kksj.ks lkaxk-
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2. izR;sdh lqekjs 50 ðkCnkr Vhik f«gk (dks.krsgh nksu) % [10]

(1) ijaijk i;ZVu

(2) jsYos ;k=h Hkou

(3) i;ZVu o vkjksX;

(4) i;ZVu o gokiznw"k.k

3. [kk«h« izðukaph lqekjs 150 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) i;ZVukrh« Hkwxks«kph Hkwfedk Li"V djk-

(2) i;ZVdk«k vkd"khZr dj.kkjs fofo/k lkaLœfrd ?kVd Li"V djk-

(3) i;ZVuk«k uoolkgroknkpk izdkj dk EgV«ss tkrs \

(4) ^jk"V™h; ikrˇhojh« i;ZVu fu;kstu* ;koj Vhi f«gk-

4. [kk«h« izðukaph mŸkjs izR;sdh lqekjs 300 ðkCnkar f«gk (dks.krsgh nksu) % [30]

(1) i;ZVukps fofo/k izdkj Li"V djk-

(2) i;ZVu fodklkoj ijh.kke dj.kkjs izkœfrd ?kVd Li"V djk-

(3) i;ZVukps vkfFkZd ifj.kke Li"V djk-

(4) i;ZVuLFk« Eg.kwu fr:irh eafnj vkf.k fHkekðkadj ;kaps o.kZu djk-



P.T.O.

Total No. of Questions—4+4] [Total No. of Printed Pages—8

Seat

No. [4101]-338

T.Y. B.A. EXAMINATION, 2012

GEOGRAPHY (S-3)

Gg-320 : Fundamental Concepts in Geography

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencils is allowed.

1. Answer the following questions in about 20 words each

(any ten) : [20]

(1) Name the author of the book ‘Planetary Hypothesis’.

(2) Who has developed the concept of Geographical determinism ?

(3) Name any two causes of sea level change.

(4) Define the concept of Possibilism.

(5) Name stages of river in Davisian cycle of erosion.

(6) Who has written the theory of population growth ?

(7) Define the concept of Nation.

(8) Who has introduced the Rimland theory ?

(9) Define applied geography.

(10) Explain the term Globalisation.
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(11) What is Functionalism ?

(12) Name stages of population transition theory.

(13) Give any two consequences of sea level changes.

2. Write notes on the following in about 50 words each

(any two) : [10]

(1) Contribution of Immanual Kant in Geography.

(2) Describe the internal causes of sea level changes.

(3) Describe the rural-urban fringe.

(4) Weber’s theory.

3. Answer the following questions in about 150 words each

(any two) : [20]

(1) Discuss the Von Thunen model of landuse.

(2) Define economic geography. Discuss the Rostow’s model.

(3) Explain the Davisian cycle of erosion.

(4) Discuss the Heartland theory.

4. Answer the following questions in about 300 words each

(any two) : [30]

(1) Discuss the stages of Demographic Transition theory.

(2) Define the concept of CBD and the characteristics of CBD.

(3) Give an internal and external causes of climate change.

(4) Define the term Globalisation and discuss the merits and demerits

of globalisation.



[4101]-338 3 P.T.O.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k dk<k-

(iv) udkðkk LVsfUlYl okij.;kl ijokuxh vkgs-

1- [kk«h« izðukaph mŸkjs izR;sdh lqekjs 20 ðkCnkr f«gk (dks.krsgh ngk) % [20]

(1) ^xzgh; ifjdYiuk* ;k xzaFkkps «s[kd dks.k \

(2) fulxZokn (HkkSxks«hd fu/kkZj.kokn) gh ladYiuk dks.kh fodflr ds«h \

(3) leqÊ t« ikrˇh cn«kps nksu dkj.ks lkaxk-

(4) ðkD;rkokn gh ladYiuk Li"V djk-

(5) MsfOgluph unh {kj.k pÿkP;k voLFkk lkaxk-

(6) «ksdla[;k ok<hpk flºkar dks.kh ekaM«k \

(7) jk"V™ ladYiusph O;k[;k |k-

(8) ifjf?k; flºkar dks.kh ekaM«k \

(9) mi;ksftr Hkwxks«kph O;k[;k f«gk-

(10) tkxfrdhdj.kkpk vFkZ Li"V djk-

(11) izdk;Zokn Eg.kts dk; \

(12) «ksdla[;k laÿe.k flºkarkP;k voLFkk lkaxk-

(13) lkxj t« ikrˇhr gks.kkÚ;k cn«kps nksu ifj.kke lkaxk-
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2- [kk«h« izðukaph mŸkjs izR;sdh lqekjs 50 ðkCnki;±r f«gk (dks.krsgh nksu) % [10]

(1) beWU;qv« dkaV ;kaps Hkwxks«krh« ;ksxnku-

(2) leqÊ ikrˇh cn«kaP;k varxZr dkj.kkaps o.kZu djk-

(3) v/kZ&ukxfj {ks=kps o.kZu djk-

(4) oscjpk flºkar-

3- [kk«h« izðukaph mŸkjs izR;sdh lqekjs 150 ðkCnki;±r f«gk (dks.krsgh nksu) % [20]

(1) oku Fkqusu ;kaP;k Hkwehmi;kstu flºkarkph ppkZ djk-

(2) vkfFkZd Hkwxks«kph O;k[;k nsowu jksLVkW ;kaP;k flºkarkph ppkZ djk-

(3) MsfOglu ;kaps [k.k.k pÿ Li"V djk-

(4) eeZHkweh flºkarkph ppkZ djk-

4- [kk«h« izðukaph mŸkjs izR;sdh lqekjs 300 ðkCnki;±r f«gk (dks.krsgh nksu) % [30]

(1) «ksdla[;k laÿe.k flºkarkP;k VII;kaph ppkZ djk-

(2) dsafÊ; O;ogkjh foHkkxkph O;k[;k nsowu frps xq.koSfðk"VÓs f«gk-

(3) gokeku cn«kph varxZr o cfgxZr dkj.ks nÓk-

(4) tkxfrdhdj.kkph O;k[;k lkaxwu frP;k Qk;nÓk&rksVÓkph ppkZ djk-
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[4101]-338

Gg-320 : Contemporary Issues and Geography

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencils is allowed.

1. Answer the following questions in about 20 words each

(any ten) : [20]

(1) Define the term Disaster.

(2) Define the term Drought.

(3) What is meant by Regional Planning ?

(4) Give the full form of CFC.

(5) What is the unit of measures of Earthquake ?

(6) What do you mean by the term Brain drain ?

(7) Name any two examples of renewable resources.

(8) Give any two symptoms of AIDS.

(9) Name any two rivers having hazards flood condition in India.

(10) Write the definition of urbanization.

(11) Give any two examples of major Nuclear Weapons.

(12) Write any two effects of infiltration.

(13) Give any two effects of regional imbalance.
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2. Write notes on the following in about 50 words each

(any two) : [10]

(1) Biological weathering.

(2) Characteristics of terrorism.

(3) Effects of cyclone.

(4) Major features of Indian Poverty.

3. Answer the following questions in about 150 words each

(any two) : [20]

(1) Explain the importance of study of contemporary issues in

geography.

(2) What is meant by Swine-flu ? Discuss the causes and con-

sequences of Swine-flu.

(3) Explain the causes of Migration.

(4) Write the causes of Wars Extremists activities in India.

4. Answer the following questions in about 300 words each

(any two) : [30]

(1) Explain the causes and effects of deforestation.

(2) Elaborate the causes and effects of Regional Disparity.

(3) Explain the causes and effect of energy crisis.

(4) Discuss the water dispute of river Indus and Ganga.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k dk<k-

(iv) udkðkk LVsfUlYl okij.;kl ijokuxh vkgs-

1- [kk«h« izðukaph mŸkjs izR;sdh lqekjs 20 ðkCnkr f«gk (dks.krsgh ngk) % [20]

(1) vkiŸkh Eg.kts dk; \

(2) vo"kZ.kkph O;k[;k f«gk-

(3) izknsfðkd fu;kstu Eg.kts dk; \

(4) CFC ps iw.kZ :i f«gk-

(5) Hkwdaikps ifjek.k lkaxk-

(6) cqºhogu Eg.kts dk; \

(7) iquuZfodj.kh; lk/kulaiŸkhps nksu mnkgj.ks lkaxk-

(8) ,M~l vktkjkph dks.krsgh nksu «{k.ks lkaxk-

(9) Hkkjrkrh« iwjleL;k fuekZ.k dj.kkÚ;k nksu unÓkaph ukos lkaxk-

(10) ukxjhdj.kkph O;k[;k f«gk-

(11) vkf.od vL=kps izeq[k nksu izdkj lkaxk-

(12) ?kql[kksjhps nksu ifj.kke lkaxk-

(13) izknsfðkd vlerks«kps nksu ifj.kke lkaxk-
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2- [kk«h« izðukaph mŸkjs izR;sdh lqekjs 50 ðkCnkr f«gk (dks.krsgh nksu) % [10]

(1) tSfod fonkj.k-

(2) ngðkroknkph oSfðk"VÓs-

(3) vkorkZps ifj.kke-

(4) Hkkjrkrh« nkfjÊÓkph izeq[k oSfðk"VÓs-

3- [kk«h« izðukaph mŸkjs izR;sdh lqekjs 150 ðkCnkr f«gk (dks.krsgh nksu) % [20]

(1) Hkwxks«krh« l|dk«hu ?kMkeksMhP;k vH;klkps egRo o gsrw Li"V djk-

(2) LokbZu&∂«w Eg.kts dk; \ ;kps dkj.ks o ifj.kke foðkn djk-

(3) LFk«karjkph dkj.ks Li"V djk-

(4) Hkkjrkrh« mxzoknh dkjok;kaph dkj.ks f«gk-

4- [kk«h« izðukaph mŸkjs izR;sdh lqekjs 300 ðkCnkr f«gk (dks.krsgh nksu) % [30]

(1) fuoZfudj.kkps dkj.ks vkf.k ifj.kke Li"V djk-

(2) izknsfðkd vlarq«ukph dkj.ks lkaxwu ifj.kke foðkn djk-

(3) mtkZ leL;kps dkj.ks vkf.k ifj.kke lkaxk-

(4) fla/kw vkf.k xaxk t«okn lfoLrj Li"V djk-
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[4101]-339

T.Y. B.A. EXAMINATION, 2012

MUSIC (Gen-III)

(2008 PATTERN)

osˇ % 1 rkl 30 fefuVs ,dw .k xq.k % 20

fof'k"V lwpuk % ;k lapkrhy jkxlaxhr xk;u] lrkj fdaok rcyk ;kiSdh dks.krhgh ,d

iz'uif=dk lksMok-

jkxlaxhr xk;u

lwpuk :— (i) ifgyk iz'u vfuok;Z vkgs-

(ii) vfuok;Z iz'u ,d vf/kd moZfjr iz'ukaiSdh dks.krsgh rhu vls ,dw.k

pkj iz'u lksMok-

1. ;k vH;klÿekrhy dks.kR;kgh ,dk jkxkph foyafcr canh'k@cMk [;ky Loj&fyficº

djk- [5]

2. t;t;oafr fdaok jkxsJh ;kiSdh dks.kR;kgh ,dk jkxkph laiw.kZ 'kkL=h; ekfgrh

vkjksg&vojksg&idM ;klg fygk- [5]

3. ^>qejk vkf.k vkMk pkSrky* fdaok ^,drky vkf.k pkSrky* ;k iSdh dks.kR;kgh ,dk

rky tksMhph rwyuk djk- [5]

P.T.O.

Seat

No.
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4. [kkyhyiSdh dks.kR;kgh nksuoj fVik fygk % [5]

(1) /k`in

(2) jkxkax jkx

(3) fooknh Loj

(4) vkJ; jkx

(5) lIrdkps izdkj-

5. [kkyhyiSdh dks.kR;kgh nksuoj FkksMD;kr fygk % [5]

(1) fucº&vfucº xku

(2) laf/kizdkf'kr jkx

(3) lkr Lojkaph ukos

(4) Jqrh&Loj foHkktu-

6. [kkyhyiSdh dks.kR;kgh ,dk laxhrKkps thou pfj= fygk % [5]

(1) ia- Hkhelsu tks'kh

(2) ia- dqekj xa/koZ

(3) Jherh dsljckbZ dsjdj-

7. [kkyhyiSdh dks.kR;kgh ,dk fo"k;koj foLrkjkus fygk % [5]

(1) laxhr f'k{k.kkps Lo:i

(2) laxhrkP;k mRiŸkh laca/kh fopkj

(3) jkxlaxhrkph yksdfiz;rk-
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rcyk

osˇ % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :— izzFke iz'u vfuok;Z- ,dw.k pkj iz'u lksMok-

1. :id fdaok rhurky ;kiSdh dks.kR;kgh ,dk rkykph laiw.kZ 'kkL=h; ekfgrh fygwu

,diV] nqIiV vkf.k pkSiV fygk- [5]

2. [kkyhyiSdh dks.kR;kgh nksuoj fVik fygk % [5]

(1) iyVk

(2) frgkbZ

(3) dk;nk

(4) jsyk-

3. vouº ok|kaph foLrkjkus ekfgrh |k- [5]

4. ckt vkf.k cukoV ;k n`f"Vdksukrwu rcY;kps egRo fo'kn djk- [5]

5. rqeP;k ok|kph foLr`r ekfgrh fygk- [5]

6. vkn'kZ rcykoknd ;k fo"k;koj fuca/k fygk- [5]
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jkx laxhr Loj ok| oknu (lrkj)

osˇ % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :—(i) ifgyk iz'u lksMfo.ks vfuok;Z vkgs-

(ii) moZjhr iz'ukaiSdh dks.krsgh rhu vls ,dw.k pkj iz'u lksMok-

(iii) loZ iz'ukauk leku xq.k vlwu rs mtohdMs n'kZfoys vkgsr-

1. vH;klÿekrhy dks.kR;kgh ,dk jkxkrhy eflr[kkuh xr Lojfyihcº djk- [5]

2. jkx&eqyrkuh o t;t;oarh ;kaiSdh dks.kR;kgh ,dk jkxkph oSf'k"VÓkalg lfoLrj 'kkL=ksDr

ekfgrh fygk- [5]

3. :id] >qejk] >irky ;kaiSdh dks.kR;kgh ,dk rkykph ek=k] [kaM] Vkˇh] dky ;k

izek.ks ys[ku djk- [5]

4. Vhik fygk (dks.kR;kgh nksu) % [5]

(1) prjax

(2) izca/k

(3) fucº] vfucº xku

(4) iwok±xoknh jkx

(5) Nk;kyx jkx-
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5. FkksMD;kr ekfgrh fygk (dks.krsgh nksu) % [5]

(1) Lo;aHkwLoj] lgk∏;d ukn

(2) vkJ; jkx

(3) tud jkx

(4) tU; jkx

(5) ijesy izos'kd jkx-

6. fuca/k fygk (dks.krkgh ,d) % [5]

(1) ,dy oknu o o`anoknu

(2) laxhrkP;k bfrgklkps dky foHkktu

(3) jkx laxhrkph yksdfiz;rk (jkx laxhr vkf.k tu#ph)-

7. pfj= fygk (dks.krsgh ,d) % [5]

(1) Jherh eksxqckbZ dqMhZdj

(2) ia- Hkhelsu tks'kh

(3) mLrkn fcfLeYyk [kku-
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Seat

No. [4101]-340

T.Y. B.A. EXAMINATION, 2012

MUSIC (laxhr)

Special Paper III

(2008 PATTERN)

oš  % 1½ rkl ,dw .k xq.k % 20

    foðððððks"k lwpuk %—;k lapkrh« jkxlaxhr xk;u] lrkj] rc«k ;kaiSdh rqEgh fðkd«sY;k

   fo"k;kph dks.krhgh ,d izðuif=dk lksMokoh-

jkxlaxhr xk;u

lwpuk :— (i) ifg«k izðu lksMfo.ks vfuok;Z vkgs-

(ii) moZjhr izðukaiSdh dks.krsgh rhu vls ,dw.k pkj izðu lksMokosr-

(iii) loZ izðukauk leku xq.k vlwu rs mtO;k cktwl nðkZfo«s vkgsr-

1. fe;k&eYgkj] fe;k dh rksMh] vfgj HkSjo ;kiSdh dks.kR;kgh ,dk jkxkrh« fo«achr

[;k«kps Loj«s[ku djk- [5]

2. jkx&iqfj;k dY;k.k vFkok njckjh dkuMk ;kaiSdh dks.kR;kgh ,dk jkxkph oSfðk"VÓkalg

lfoLrj ekfgrh f«gk- [5]

3. pkSrk«] /kekj] fr«okMk] rsojk (rhozk) ;kaiSdh dks.kR;kgh nksu e/;«; rk«kaps ek=k]

[kaM] Vkˇh] dk« ;kizek.ks «s[ku djk- [5]

4. iq<h« ladYiuk Li"V djk (dks.krkgh ,d) % [5]

(1) xk;d] uk;d] okXxs;dkj] d«koar

(2) tkrh xk;u

(3) rjk.kk

(4) izca/k

P.T.O.
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5. FkksMD;kr ekfgrh f«gk (dks.krkgh ,d) % [5]

(1) gkeZuh o es«Mh
(2) nkf{k.kkR; laxhrkrh« xhr izdkj
(3) oSfnd laxhr

6. fuca/k f«gk (dks.krkgh ,d) % [5]

(1) daB laLdkj
(2) ðkCnksPpkjkps egRo
(3) laxhr&xq#eq[kh fo/kk

7. pfj= f«gk (dks.krkgh ,d) % [5]

(1) «rk eaxsðkdj
(2) fdðkksjh veks.kdj
(3) ia- txUukFk cqok iqjksghr-
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jkxlaxhr Loj ok|oknu (lrkj)

oš  % 1½ rkl ,dw .k xq.k % 20

lwpuk :— (i) ifg«k izðu lksMfo.ks vfuok;Z vkgs-

(ii) moZjhr izðukaiSdh dks.krsgh rhu vls ,dw.k pkj izðu lksMokosr-

(iii) loZ izðukauk leku xq.k vlwu rs mtohdMs nðkZfo«s vkgsr-

1. vH;klÿekrh« dks.kR;kgh ,dk jkxkrh« eflr[kkuh xr Lojf«ficº djk- [5]

2. jkx&njckjh dkuMk o jkx&xkorh ;kaiSdh dks.kR;kgh ,dk jkxkph oSfðk"VÓkalg lfoLrj

ðkkL=ksDr ekfgrh f«gk- [5]

3. iatkch] vºk/kqekˇh] lrok ;kaiSdh dks.kR;kgh ,dk rk«kps ek=k] [kaM] Vkˇh] dk«

;kizek.ks «s[ku djk- [5]

4. Vhik f«gk (dks.krkgh ,d) % [5]

(1) gkeZuh vkf.k es«Mh

(2) tkrh xk;u

(3) Bqejh-

5. FkksMD;kr ekfgrh f«gk (dks.krkgh ,d) % [5]

(1) oSfnd laxhr

(2) izkphu o vk/kqfud vk«ki iºrh

(3) izca/k-
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6. fuca/k f«gk (dks.krkgh ,d) % [5]

(1) fj;ktkps egRo
(2) laxhr o vk/kqfud oSKkfud midj.ks
(3) laxhr fðk{k.kkps izkphu Lo:i (xq#dq« iºrhps laxhr fðk{k.k)

7. pfj= f«gk (dks.krkgh ,d) % [5]

(1) ia- txUukFk cqok iqjksghr
(2) «rk eaxsðkdj
(3) iUuk«k« ?kks"k-
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[4101]-340

rc«k
oš  % 1½ rkl ,dw .k xq.k % 20

lwpuk :—izFke izðu vfuok;Z vkgs- ,dw.k pkj izðu lksMok-

1. #Ê fdaok eŸk ;kiSdh dks.kR;kgh ,dk rk«kph laiw.kZ ðkkL=h; ekfgrh f«gwu ,diV]

nqIiV vkf.k pkSiV f«gk- [5]

2. [kk«h«iSdh dks.kR;kgh nksuoj Vhik f«gk % [5]

(1) frgkbZ

(2) isðkdkj

(3) «;dkjh

(4) dk;nk-

3. QekZbZðkh vkf.k dek«h pÿnkj ;k fo"k;koj foLrkjkus f«gk- [5]

4. rcY;kps ^nðk izk.k* ;k fo"k;koj foLr`r foospu djk- [5]

5. Lora= rc«koknu vkf.k lkFklaxr ;kcÌ« foLr`r foospu djk- [5]

6. rqeP;k vkoMR;k d«kdkjkps lkaxhfrd ;ksxnku foðkn djk- [5]
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Seat

No. [4101]-341

T.Y. B.A. EXAMINATION, 2012

MUSIC (laxhr)

Special Paper IV

(2008 PATTERN)

osˇ % 1 rkl 30 fefuVs ,dw .k xq.k % 20

fof'k"V lwpuk :— ;k lapkrh« jkx laxhr xk;u] lrkj] rc«k ;kaiSdh rqEgh fðkd«sY;k

fo"k;kph dks.krhgh ,d izðuif=dk lksMok-

(jkx laxhr xk;u)

lwpuk :— (i) ifg«k izðu lksMfo.ks vfuok;Z vkgs-

(ii) moZjhr izðukaiSdh dks.krsgh rhu vls ,dw.k pkj izðu lksMokosr-

(iii) loZ izðukauk leku xq.k vlwu rs mtO;k cktwl nðkZfo«s vkgsr-

1. vH;klÿekrh« dks.kR;kgh ,dk jkxkrh« fo«achr [;k«kps Loj«s[ku djk-  [5]

2. jkx&uan o ek:&fcgkx ;kaiSdh dks.kR;kgh ,dk jkxkph oSfðk"VÓkalg lfoLrj ðkkÚksDr

ekfgrh f«gk- [5]

3. f=rk«] pkSrk«] ,drk«] >qejk ;kaiSdh dks.kR;kgh nksu rk«kaps ek=k] [kaM Vkˇh]

dk« ;kizek.ks «s[ku djk- [5]

4. iq<h« ladYiuk Li"V djk (dks.krkgh ,d) % [5]

(1) laxhr vkf.k O;olk;kP;k la/kh

(2) ikðoZ xk;u

(3) laxhr o vk/kqfud oSKkfud midj.ks-

P.T.O.
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5. FkksMD;kr ekfgrh f«gk (dks.krkgh ,d) % [5]

(1) laxhr vkf.k vU; «f«r d«k

(2) laxhr Li/kk±ps egRo

(3) /ouh eqÊ.k-

6. fuca/k f«gk (dks.krkgh ,d) % [5]

(1) laxhr eSfQ« lknjhdj.kkps ra=

(2) laxhrklkBh xzaFkk«;s

(3) laxhr o vk/kqfud oSKkfud midj.ks-

7. pfj= f«gk (dks.krkgh ,d) % [5]

(1) vkðkk Hkksl«s

(2) ia- ‚n;ukFk eaxsðkdj

(3) ia- gfjizlkn pkSjfl;k-
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jkx laxhr Loj ok| oknu (lrkj)

osˇ % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :— (i) ifg«k izðu lksMfo.ks vfuok;Z vkgs-

(ii) moZjhr izðukaiSdh dks.krsgh rhu vls ,dw.k pkj izðu lksMokosr

(iii) loZ izðukauk leku xq.k vlwu rs mtohdMs nðkZfo«s vkgsr-

1. vH;klÿekrh« dks.kR;kgh ,dk jkxkrh« eflr[kkuh xr Lojf«ficº djk- [5]

2. jkx&ek:&fcgkx o jkx&e/kqoarh ;kaiSdh dks.kR;kgh ,dk jkxkph oSfðk"VÓkalg lfoLrj

ðkkÚksDr ekfgrh f«gk- [5]

3. vkMk pkSrk«] >qejk] f=rk« ;kaiSdh dks.kR;kgh ,dk rk«kps ek=k] [kaM] Vkˇh] dk«

;kizek.ks «s[ku djk- [5]

4. Vhik f«gk (dks.krkgh ,d) % [5]

(1) gkeZuh vkf.k es«<h

(2) laxhrkr nwj fðk{k.k iºrhl oko

(3) /ouh eqÊ.k-

5. FkksMD;kr ekfgrh f«gk (dks.krkgh ,d) % [5]

(1) laxhrkps jlkLoknu (laxhr leh{kk)

(2) laxhr Li/kk±ps egRo

(3) laxhr vkf.k laðkks/ku {ks= Eg.kwu laxhr fo"k;kps Lo:i-
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6. fuca/k f«gk (dks.krkgh ,d) % [5]

(1) laxhr eSfQ« lknjhdj.kkps ra=

(2) laxhrklkBh xazFkk«;s

(3) ok|o`an fdaok laxhr lkFk ;k {ks=kr flaFkslk;>j lkj[;k fo|qr midj.kkapk

ifj.kke&iM«s«k izHkko-

7. pfj= f«gk (dks.krkgh ,d) % [5]

(1) mLrkn vCnq« g«he tkQj [kk°

(2) mLrkn >kfdj gqlSu

(3) ia- fðkodqekj ðkekZ-
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jkx laxhr Loj ok| oknu (rc«k)

osˇ % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :—izFke izðu vfuok;Z vkgs- ,dw.k pkj izðu lksMok-

1. dks.kR;kgh ,dk rk«kph laiw.kZ ðkkL=h; ekfgrh vkf.k nksu izdkjP;k «;dkjh

f«gk- [5]

2. leku ek=kaP;k vusd rk«kaP;k fufeZrhph dkj.kfeekalk djk- [5]

3. rcY;krh« dks.kR;kgh nksu ?kjk.;kaP;k oknu ðkS«hph rq«uk djk- [5]

4. dukZVd rk« iºrhps FkksMD;kr foospu djk- [5]

5. xk;u] oknu] u`R;kP;k n`"Vhus rcY;kps Hkkjrh; laxhrkrh« egŸo foðkn djk- [5]

6. rqeP;k vkoMR;k d«kdkjkps lkaxhfrd ;ksxnku foðkn djk- [5]



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4101]-342

T.Y. B.A. EXAMINATION, 2012

ANCIENT INDIAN HISTORY, CULTURE AND ARCHAEOLOGY

(General Paper III)

(Outline of Religion and Philosophy)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) :  [10]

(i) Write the composition of Atharvaveda.

(ii) What is Nishkama  karmayoga in Bhagvad Gita ?

(iii) Explain the Triratnas in Jainism.

(iv) Who was Makkhali Goshala ?

2. Write notes on the following in 100 words each (any four) :   [20]

(i) Period of the composition of Rigveda.

(ii) Life seen in 

Brahmana
&

 Works.

(iii) Stages of the composition of the Mahabharat .

(iv) Digambar Sect in Jainism.

(v)

Hinayana

 (Sthaviravadi) sect of Buddhism.

(vi) Purana Kassapa.

P.T.O.
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3. Answer the following questions in 200 to 250 words each (any

three) : [30]

(i) Explain the general structure of the 

Ramayana

.

(ii) Describe the sects in Vaishnavism.

(iii) Which are the ‘Seven Categories’ in Jainism ?

(iv) State the main teachings of Bhagwan Mahavira .

(v) What do you know about the Heterodox Sects ?

4. Answer the following question in 500 words (any one) : [20]

(i) Describe the historical development of Shaivism.

(ii) Explain the causes for the rise of Buddhism.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vfuok;Z vkgsr-

(ii) mtohdMh« vad izðukps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkr mRrjs f«gk (dks.krsgh nksu) % [10]

(i) vFkoZosnkph jpuk f«gk-

(ii) Hkxonxhrsrh« fu"dke deZ;ksx Eg.kts dk; \

(iii) tSu/kekZrh« f=jRus Li"V djk-

(iv) eD[k«h xksðkk« dks.k gksrk \
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2. izR;sdh 100 ðkCnkr Vhik f«gk (dks.kR;kgh pkj) % [20]

(i) ΩXosnkP;k jpuspk dk«-

(ii) czk„.k xzaFkkr fnl.kkjs thou-

(iii) egkHkkjrkP;k jpusrh« VIis-

(iv) fnxacj tSu laiznk;-

(v) ckSn~/k/kekZrh« ghu;ku (LFkfojoknh) laiznk;-

(vi) iwj.k dLli (dð;i)-

3. [kk«h« izðukaph izR;sdh 200-250 ðkCnkr mRrjs f«gk (dks.krsgh rhu) % [30]

(i) jkek;.kkph loZlk/kkj.k jpuk Li"V djk-

(ii) oS".ko/kekZrh« laiznk; o.kZu djk-

(iii) tSu/kekZrh« ^lIrHk≥~xhu;* dks.krs \

(iv) Hkxoku egkohjkaph izeq[k fðkdo.k lkaxk-

(v) voSfnd laiznk;kafo"k;h rqEgkl dk; ekfgrh vkgs \

4. [kk«h« izðukps mRrj 500 ðkCnkr f«gk (dks.krkgh ,d) % [20]

(i) ðkSo/kekZpk (laiznk;kpk) ,sfrgkfld fodkl o.kZu djk-

(ii) ckSn~/k /kekZP;k mn;kph dkj.ks Li"V djk-



Total No. of Questions—4] [Total No. of Printed Pages—3

[4101]-343

T.Y. B.A. EXAMINATION, 2012

PUBLIC ADMINISTRATION

(G-3 : Local Self-Government in India)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) :[10]

(1) Explain the nature of Local Self-Government.

(2) State the main functions of the major.

(3) State the importance of 73rd Constitutional Amendment.

(4) State the income source of Zilla Parishad.

2. Write short notes in 100 words each (any four) : [20]

(1) Structure of Municipal Council.

(2) The powers of Gramsabha.

(3) The merits of Local Self-Government.

P.T.O.

Seat

No.
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(4) The functions of Block Development Officer.

(5) Changing features of Local Self-Government.

(6) Functions of Sarpanch.

3. Answer the following questions in 250 words each (any three) : [30]

(1) Explain the structure and functions of Panchayat Samiti.

(2) Describe the importance of Local Self-Government.

(3) Explain the structure and functions of Cantonment Boards.

(4) Explain the powers and functions of District Collector.

(5) Evaluate the 73rd and 74th Constitutional Amendment.

4. Answer any one question in 500 words : [20]

(1) Discuss the structure, functions and income source of Municipal

Corporation.

(2) Evaluate the problems of Urbanization.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.kR;kgh nksu) % [10]

(1) LFkkfud Loðkklukps Lo:i Li"V djk-

(2) egkikSjkaph eq[; dkes lkaxk-

(3) 73O;k jkT;?kVuk nq#Lrhps egRo lkaxk-

(4) ftYgk ifj"knsP;k mRiUukph lk/kus lkaxk-
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2. izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) % [20]

(1) uxjikf«dsph jpuk

(2) xzkelHksps vf/kdkj

(3) LFkkfud Loðkklukps xw.k

(4) xVfodkl vf/kdkÚ;kps dkes

(5) LFkkfud Loðkklukph cn«rh oSfðk"VÓs

(6) ljiapkph dkes

3. [kk«h« iz'ukaph izR;sdh 250 'kCnkar mŸkjs fygk (dks.kR;kgh rhu) % [30]

(1) iapk;r lferhph jpuk vkf.k dk;Z Li"V djk-

(2) LFkkfud Loðkklukps egRo foðkn djk-

(3) dWUVkWuesUV cksMZph jpuk vkf.k dkes Li"V djk-

(4) ftYgkf/kdkÚ;kaps vf/kdkj vkf.k dkes Li"V djk-

(5) jkT;?kVusrh« 73oh vkf.k 74oh ?kVuk nq#Lrhps ewY;ekiu djk-

4. [kk«h«iSdh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) egkuxjikf«dsph jpuk] dk;Z vkf.k mRiUukph lk/kus Li"V djk-

(2) ðkgjhdj.kkaP;k leL;kaps ewY;ekiu djk-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4101]-344

T.Y. B.A. EXAMINATION, 2012

PUBLIC ADMINISTRATION

(Spl. 3 : Development Administration)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Explain the concept of Social Justice.

(2) State the functions of Planning Commission.

(3) Explain the nature of Voluntary Organisations.

(4) State the functions of National Development Council.

2. Write short notes in 100 words each (any four) : [20]

(1) The features of Development Administration.

(2) The concept of Social Welfare Development Administration.

(3) Problems of Education Administration.

(4) The functions of NGOs.

(5) The role of Bureaucracy in Development Administration.

(6) The features of Community Development.

P.T.O.
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3. Answer the following questions in 250 words each (any three) : [30]

(1) Discuss the Development Policies in Co-operation.

(2) State the problems of Health Administration.

(3) Explain the role of United Nations in Development Administration.

(4) State the importance of Non-official Agencies in Development

Administration.

(5) Explain the policies of Social Welfare Development in India.

4. Answer any one of the following questions in 500 words : [20]

(1) Explain the meaning, nature and scope of Development

Administration.

(2) Explain various challenges in front of Development Administration

in the era of Globalization.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkr f«gk (dks.kR;kgh nksu) % [10]

(1) lkekftd U;k;kph ladYiuk Li"V djk-

(2) fu;kstu vk;ksxkph dkes lkaxk-

(3) Lo;alsoh laLFkkps Lo:i Li"V djk-

(4) jk"V™h; fodkl ifj"knsph dkes lkaxk-
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2. izR;sdh 100 ðkCnkar fVik f«gk (dks.kR;kgh pkj) % [20]

(1) fodkl izðkklukph oSfðk"VÓs-

(2) lekt dY;k.k fodkl izðkklukph ladYiuk-

(3) fðk{k.k izðkklukrh« leL;k-

(4) ,u-th-vks- ps dk;Z-

(5) fodkl izðkklukr uksdjðkkghph Hkwfedk-

(6) lkeqnkf;d fodklkph oSfðk"VÓs-

3. [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk (dks.kR;kgh rhu) % [30]

(1) lgdkj {ks=krh« fodkl /kksj.kkph ppkZ djk-

(2) vkjksX; izðkklukrh« leL;k lkaxk-

(3) fodkl izðkklukr la;qDr jk"V™ la?kVusph Hkwfedk Li"V djk-

(4) fodkl izðkklukr fcxj&ðkkldh; laLFkkps egRo lkaxk-

(5) Hkkjrkrh« lekt dY;k.k fodklkps /kksj.k Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukpk mŸkj 500 ðkCnkar f«gk % [20]

(1) fodkl izðkklukpk vFkZ] Lo:i vkf.k O;kIrh Li"V djk-

(2) tkxfrdhdj.kkP;k dk«[kaMkrh« fodkl izðkkluk&leksjh« vkOgkus Li"V djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4101]-345

T.Y. B.A. EXAMINATION, 2012

PUBLIC ADMINISTRATION

[Spl-4 : Comparative Public Administration

(India, U.K. and U.S.A.)]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) State the meaning of Administrative Law.

(2) Write the importance of integrity in Administration.

(3) Name the agencies of Recruitment in India, U.K. and

U.S.A.

(4) State the functions of Administrative Tribunals.

2. Write short notes in 100 words each (any four) :  [20]

(1) Right to Association

P.T.O.
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(2) Objective of training.

(3) Administrative reform in India.

(4) Vigilance machinery in U.K. and U.S.A.

(5) Right to Strike.

(6) The importance of Recruitment.

3. Answer the following questions in 250 words each (any three) :[30]

(1) Explain the problems of corruption in India.

(2) State the methods of Recruitment in India and

U.S.A.

(3) Discuss the structural-functional approach to the study of

Comparative Public Administration.

(4) Explain the employer-employee relations.

(5) Discuss the Rigg’s theory of prismatic society.

4. Answer any one of the following questions in 500 words : [20]

(1) Explain the traditional approaches to the study of Comparative

Public Administration.

(2) Evaluate the administration in developed and developing countries.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) %  [10]

(1) izðkkldh; dk;|kpk vFkZ lkaxk-

(2) izðkkldh; ,dkRersps egRo f«gk-

(3) Hkkjr] baX«aM vkf.k vesfjdsrh« Hkjrh dj.kkÚ;k laLFkkph ukos

f«gk-

(4) izðkkldh; U;k;kf/kdj.kkph dk;Z lkaxk-

2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(1) la?kVuk vf/kdkj-

(2) izfðk{k.kkps gsrw-

(3) Hkkjrkrh« izðkkldh; lq/kkj.kk-

(4) baX«aM vkf.k vesfjdsrh« dsafÊ; lrdZrk ;a=.kk-

(5) laikpk vf/kdkj

(6) Hkjrhps egRo-

3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.kR;kgh rhu) % [30]

(1) Hkkjrkrh« Hkz"Vkpkjkph leL;k Li"V djk-
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(2) Hkkjr vkf.k vesjhdsrh« HkjrhP;k iºrh lkaxk-

(3) rq«ukRed «ksdizðkklukP;k vH;klkP;k jpukRed&dk;kZRed n`f"Vdks.kkph ppkZ

djk-

(4) ek«d&lsod laca/k Li"V djk-

(5) fjXt ;kaP;k leikfðZod lekt flºkarkph ppkZ djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) rq«ukRed «ksdizðkklukP;k vH;klkpk ijaijkxr n`f"Vdksu Li"V djk-

(2) fodflr vkf.k fodluðkh« jk"V™krh« izðkklukps ewY;ekiu djk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4101]-346

T.Y. B.A. EXAMINATION, 2012

PSYCHOLOGY

General Paper III

[Industrial and Organizational (I/O) Psychology]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) Explain the uses of job performance evaluation.

(2) State the self-efficacy theory of work-motivation.

(3) Explain the concept of job satisfaction.

(4) State the scope of Engineering Psychology.

2. Write notes in 100 words each (any four) : [20]

(1) Letters of reference.

(2) Training programme evaluation.

(3) Time and motion study.

(4) Resume

(5) Relation between job satisfaction and productivity.

(6) Work-space design.
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3. Answer in 200 to 250 words each (any three) : [30]

(1) Describe the recruitment techniques.

(2) State the various techniques for training knowledge and skill.

(3) Describe the non-rating methods of job performance evaluation.

(4) Explain Herzberg’s two-factor theory of work motivation.

(5) Describe the methods of measurement of job satisfaction.

4. Answer in 500 words (any one) : [20]

(1) What is Industrial and Organizational Psychology ? Describe

the development of Industrial and Organizational Psychology.

(2) Define leadership. Explain specific leadership skills.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1- [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (QDr nksu) % [10]

(1) dk;Z fuoZrZu eqY;ekiukps mi;ksx Li"V djk-

(2) dk;Z&izsj.kfo"k;d Lo&lkeF;Z flºkar foðkn djk-

(3) dk;Z lek/kku laKk Li"V djk-

(4) vfHk;kaf=dh ekulðkkL=kph O;kIrh foðkn djk-

2- izR;sdh 100 ðkCnkar Vhik f«gk (QDr pkj) % [20]

(1) lanHkZ i=s-
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(2) izfðk{k.k dk;Zÿe eqY;kadu-

(3) dk« vkf.k xrh vH;kl-

(4) O;fDrxr ekfgrhpk xks"kokjk (Resume).

(5) dk;Zlek/kku vkf.k mRikndrk laca/k-

(6) dk;Z&vodkðk vkjk[kMk-

3- [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs |k (QDr rhu) % [30]

(1) deZpkjh HkjrhP;k ra=kaps o.kZu djk-

(2) Kku o dkSðkY; izfðk{k.kkph fofo/k ra=s foðkn djk-

(3) dk;Z fuoZrZu eqY;kadukP;k ÿekadu (infuðp;u) fojghr iºrhaps o.kZu djk-

(4) g>ZcxZpk dk;Z&izsj.kfo"k;d f}?kVd flºkar Li"V djk-

(5) dk;Zlek/kkukP;k ekiu iºrhaps o.kZu djk-

4- 500 ðkCnkar mŸkjs f«gk (QDr ,d) % [20]

(1) vkS|ksfxd o la?kVukRed ekulðkkL= (I/O) Eg.kts dk; \ vkS|ksfxd o la?kVukRed

ekulðkkL=kP;k fodklkps o.kZu djk-

(2) usr`Rokph O;k[;k |k- usr`Rokph foðks"k dkSðkY;s Li"V djk-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4101]-347

T.Y. B.A. EXAMINATION, 2012

PSYCHOLOGY

(Spl.-3 : Experimental Psychology and Scientific Research)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Explain the types of Attention.

(2) Explain the stages of Creative Thinking.

(3) State the criteria of a Good Problem.

(4) What is Universe ?

2. Write short notes in 100 words each (any four) : [20]

(1) Kinds of thinking

(2) Goals of research

(3) Characteristics of Psychological test

(4) Insight thinking

(5) Types of hypothesis

(6) Lottery sampling method.

P.T.O.
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3. Answer the following questions in 200 to 250 words each (any

three) : [30]

(1) Explain the determinants of attention.

(2) Discuss the various types of reliability.

(3) Explain the types of scientific research.

(4) What is variable ? Explain the types of variables.

(5) Explain the types of non-probability sampling.

4. Answer any one of the following questions in 500 words : [20]

(1) What is Psychophysics ? Explain in detail method of average

error.

(2) Describe any two methods of data collection.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh eqˇ baxzth izðu&if=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(1) vo/kkukps izdkj Li"V djk-

(2) ltZuðkh« fopkj&izfÿ;sP;k voLFkk Li"V djk-

(3) mŸke leL;sps fud"k f«gk-

(4) foðo (le"Vh) Eg.kts dk; \

2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(1) fopkjkaps izdkj

(2) laðkks/kukph mfÌ"VÓs
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(3) ekulðkkL=h; pkp.khph oSfðk"BÓs

(4) eeZn`"Vh fopkj

(5) vH;qixekps izdkj

(6) «kWVjh uequkp;u iºrh-

3. [kk«h« izðukaph mŸkjs izR;sdh 200-250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(1) vo/kkukph fu;keds Li"V djk-

(2) foðolfu;rsP;k fofo/k izdkjkaph ppkZ djk-

(3) ðkkL=h; laðkks/kukps izdkj Li"V djk-

(4) ifjorZds Eg.kts dk; \ ifjorZdkaps izdkj Li"V djk-

(5) fouklaHkkO;rk uequkp;ukps izdkj Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) euksHkkSfrdh Eg.kts dk; \ ljkljh izekn iºrh lfoLrj Li"V djk-

(2) ekfgrh lad«ukP;k dks.kR;kgh nksu iºrhaps o.kZu djk-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4101]-348

T.Y. B.A. EXAMINATION, 2012

YOGAVIDYA (;ksxfo|k) (G-3)

(Vyavharik Yoga)

(2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Explain any one of the following in 50 words  : [5]

(i) State the significance of ‘Asanas’ in Physical Health.

(ii) Explain the correlation between human attitude and Yoga

Science.

2. Write short notes (any two) : [10]

(i) Social Maturity and Yoga Science

(ii) Objectives of Pranayama

(iii) Shirshasana

(iv) Types of Samadhi.

P.T.O.
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3. Answer any two of the following questions in 200 to 250 words

each : [15]

(i) State the Yama and Niyama.

(ii) State the measures to improve personal ability.

(iii) State the application of Yoga in daily-life of higher level

persons.

4. Attempt any one question in detail : [10]

(i) Explain the use of Yoga in mental health as preventive and

curable.

(ii) State the problem of old age. How does Yoga help to old

age ?

(ejkBh :ikarj)

osˇ % 2 rkl ,dw .k xq.k % 40

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh ,dkps 50 ðkCnkar Li"Vhdj.k |k % [5]

(i) ðkkjhfjd LokLFkkr vklukaps egRo foðkn djk-

(ii) ekuoh o`Ÿkh o ;ksxðkkL=kpk lglaca/k Li"V djk-
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2. FkksMD;kr Vhik |k (dks.kR;kgh nksu) % [10]

(i) lkekftd ifjiDork vkf.k ;ksxðkkL=-

(ii) izk.kk;kekpk mÌsðk Li"V djk-

(iii) fðk"kkZlu-

(iv) lekf/kps izdkj-

3. [kk«h«iSdh dks.kR;kgh nksu izðukaps izR;sdh 200 rs 250 ðkCnkar mŸkj |k % [15]

(i) ;e vkf.k fu;e lkaxk-

(ii) O;fDrxr dk;Z{kerk ok<fo.;kps mik; lkaxk-

(iii) nSuanhu thoukr mPpinLFk vf/kdkÚ;kauk ;ksxkpk gks.kkjk mi;ksx lkaxk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps lfoLrj mŸkj |k % [10]

(i) ekufld LokLF;klkBh ;ksxkpk izfrca/kd o fuokjd Eg.kwu mi;ksx Li"V djk-

(ii) ok/kZD;krh« leL;k dks.kR;k \ ok/kZD;kr gks.kkjk ;ksxkpk mi;ksx lkaxk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4101]-349

T.Y. B.A. EXAMINATION, 2012

HISTORY OF CIVILIZATION

General Paper III

(Maharashtra Administration)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) Pre-historic Period

(ii) Discovery of Harappa Civilization

(iii) Four Aryasatyas

(iv) Concept of Renaissance.

2. Write short notes in 100 words each (any four) : [20]

(i) Summerian Civilization

(ii) Varnashram System

(iii) Athens

(iv) Teaching of Jesus Christ

(v) Ignatius Loyola

(vi) Newton.

3. Answer the following questions in 200 to 250 words each (any three) : [30]

(i) State about the progress made by human beings in

Neolithic Age.
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(ii) Explain the achievements of Greek Civilization in the field of

Philosophy and Science.

(iii) Describe the life and teaching of Bhagwan Buddha.

(iv) State the causes for the Reformation.

(v) Discuss the Geographical Discoveries.

4. Answer any one of the following questions in 500 words : [20]

(i) Write about social life, economic life, religion and philosophy

in Egyptian civilization.

(ii) Explain the contribution of Arabs in art-architecture and

science.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr--

(iii) lanHkkZlkBh ewy baxzth iz'uif=dk igkoh-

1- [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(i) izkxSfrgkfld dk«[kaM

(ii) gjkIik laLœrhpk ðkks/k

(iii) pkj vk;ZlR;s

(iv) izcks/ku gh ladYiuk-

2- izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(i) lqesfj;u laLœrh
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(ii) o.kkZJe O;oLFkk

(iii) vFksUl

(iv) ;sðkwph fðkdo.k

(v) bXusfðk;l «kW;ks«k

(vi) U;wVu-

3- [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) uokðe;qxkr ekuokus ds«s«h izxrh lkaxk-

(ii) xzhd laLœrhrh« rRoKku o foKku ;k {ks=krh« dkefxjh Li"V djk-

(iii) Hkxoku cqº ;kaps thou o fðkdo.k o.kZu djk-

(iv) /keZlq/kkj.kk pˇoˇhph dkj.ks lkaxk-

(v) HkkSxks«hd ðkks/kkaph ppkZ djk-

4- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) bftfIðk;u laLœrhrh« lkekftd thou] vkfFkZd thou] /keZ vkf.k rRoKku

;kfo"k;h f«gk-

(ii) vjckaps d«k&LFkkiR; o foKkukrh« ;ksxnku Li"V djk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4101]-350

T.Y. B.A. EXAMINATION, 2012

HOME ECONOMICS

(G-3 : Dynamics and Challenges of Indian Society)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following concepts in 50 words each (any two) : [10]

(1) Social change

(2) Social deviation

(3) Value conflict

(4) Divorce.

2. Write short notes in 100 words each (any four) : [20]

(1) Disturbance of social change

(2) Characteristics of society

(3) Marriage and sex

(4) Women education

(5) Adoption system

(6) Intermarriage.
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3. Answer the following questions in 200 words each (any three) : [30]

(1) Explain the characteristics of traditional society.

(2) Explain the causes of social conformity.

(3) Explain the causes of Dowry system.

(4) Explain the functions of family.

(5) “The status of women is changing in Indian society.” Explain.

4. Answer any one of the following questions in 500 words : [20]

(1) Explain the factors influencing on social change process.

(2) Explain the causes and effects of social value conflict.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1- [kk«h« ladYiukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(1) lkekftd ifjorZu

(2) lkekftd fop«u

(3) ewY; la?k"kZ

(4) ?kVLQksV-

2- izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(1) lkekftd ifjorZukrh« vMFkˇs
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(2) lektkph oSfðk"Vs

(3) fookg vkf.k «Safxdrk

(4) L=h fðk{k.k

(5) nŸkd iºrh

(6) vkarjfookg-

3- [kk«h« iz'ukaaph mŸkjs izR;sdh 200 ðkCnkar f«gk (dks.krsgh rhsu) % [30]

(1) ijaijkxr lektkph oSfðk"VÓs Li"V djk-

(2) lkekftd vuqp«ukph dkj.ks Li"V djk-

(3) gqaMk iºrhph dkj.ks Li"V djk-

(4) dqVqackph dk;sZ Li"V djk-

(5) flHkkjrh; lektkr L=h;kapk ntkZ cn«r vkgs-fi Li"V djk-

4- [kk«h«iSdh dks.krkgh ,dk iz'ukps mŸkj 500 ðkCnkar f«gk % [20]

(1) lkekftd ifjorZu izfÿ;soj ifj.kke dj.kkjs ?kVd Li"V djk-

(2) lkekftd eqY;la?k"kkZph dkj.ks vkf.k ifj.kke Li"V djk-



Total No. of Questions—4+4+4] [Total No. of Printed Pages—8+1

Seat

No. [4101]-351

T.Y. B.A. EXAMINATION, 2012

DEFENCE AND STRATEGIC STUDIES

DS : G-3 (A) : International Security

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) Explain the causes of First World War.

(2) What is National Security ?

(3) Explain the concept of Cold War.

(4) Describe the security problems of Post Cold War.

2. Write short notes in 100 words each (any four) : [20]

(1) International Security

(2) Meaning of Non-Alignment

(3) Concept of Diplomacy

(4) Nature of Terrorism

(5) Pollution

(6) New Cold War.

P.T.O.
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3. Answer in 200 to 250 words each (any three) : [30]

(1) State the causes of War.

(2) Explain the new trends in International Security.

(3) Describe the origin and development of Cold War.

(4) Explain the concept of Non-Alignment and state its role in

maintaining International Security.

(5) Describe the nature and problems of Arms Control and

Disarmament.

4. Answer any one of the following questions in 500 words : [20]

(1) Explain the causes and effects of Terrorism.

(2) State the meaning, nature and effects of Ethnic conflicts.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(1) ifgY;k egk;qºkph dkj.ks Li"V djk-

(2) jk"V™h; lqj{kk Eg.kts dk; \

(3) ðkhr ;qºkph ladYiuk Li"V djk-

(4) ðkhr ;qºksŸkj lqj{ksP;k leL;k foðkn djk-

2. izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) % [20]

(1) vkarjjk"V™h; lqj{kk

(2) vf«Irrkoknkpk vFkZ
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(3) jktu;kph ladYiuk

(4) ngðkroknkps Lo:i

(5) iznq"k.k

(6) ufou ðkhr ;qº-

3. [kk«h« izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(1) ;qºkph dkj.ks lkaxk-

(2) vkarjjk"V™h; lqj{ksrh« ufou d« Li"V djk-

(3) ðkhr ;qºkpk mxe vkf.k fodklkps o.kZu djk-

(4) vf«Irrsph ladYiuk Li"V djk vkf.k frph vkarjjk"V™h; lqj{kk fVdfo.;krh«

Hkwfedk lkaxk-

(5) ðkL=&fu;a=.k vkf.k fu%ðkL=hdj.k ;kps Lo:i vkf.k leL;k foðkn djk-

4. [kk«h«iSdh dks.krkgh ,d izðukaph mŸkj 500 ðkCnkar f«gk % [20]

(1) ngðkroknkph dkj.ks vkf.k ifj.kke Li"V djk-

(2) okafðkd la?k"kkZpk vFkZ] Lo:i vkf.k ifj.kke lkaxk-
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[4101]-351

DS : G-3 (B) : Military Geography

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) Explain the uses of Geo-strategy.

(2) State the scope of Military Geography.

(3) Explain the geostrategic importance of Andaman and Nicobar

Islands.

(4) State the problems of Desert Warfare.

2. Write short notes in 100 words each (any four) : [20]

(1) Importance of National Power

(2) Scope of Geo-strategy

(3) Strategic importance of Jammu and Kashmir

(4) Concept of Strategy

(5) Strategic importance of Kuwait

(6) Natural Gas.

3. Answer in 200 to 250 words each (any three) : [30]

(1) Explain in brief the oil crisis in West Asia.

(2) Describe the characteristics and logistic problems in Plain.

(3) State the factors of National Power.

(4) State the impact of Geography on land warfare.

(5) Describe the principles of logistics.
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4. Answer in 500 words each (any one) : [20]

(1) Explain in detail the geo-strategic position and importance of

Diego-Garica.

(2) Describe the characteristics and logistics problems in Jungle

Warfare.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) Hkw;qºuhfrps mi;ksx Li"V djk-

(2) «"djh Hkwxks«kph O;kIrh lkaxk-

(3) vaneku o fudksckj csVkaps Hkwlkefjd egRo Li"V djk-

(4) okˇoaVh ;qº/kkj.ksph oSfðk"Vs lkaxk-

2. izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) % [20]

(1) jk"V™h; ðkDrhps egRo

(2) Hkw;qºuhfrph O;kIrh

(3) tEew&dkðehjps Hkwlkefjd egRo

(4) ;qºuhfrph ladYiuk

(5) dqoSrps lkefjd egŸo

(6) uSlfxZd ok;w-
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3. izR;sdh 200 rs 250 ðkCnkr mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) ifðpe vkfðk;krh« rs« la?k"kZ FkksMD;kr Li"V djk-

(2) eSnkuh iznsðkkph oSfðk"Vs vkf.k iqjoBk O;oLFksP;k leL;k foðkn djk-

(3) jk"V™h; ðkDrhps ?kVd lkaxk-

(4) Hkw;qºiºrhoj Hkwxks«kpk iM.kkjk izHkko lkaxk-

(5) iqjoBk O;oLFksph rRos foðkn djk-

4. [kk«h«iSdh dks.krkgh ,d izðukaph mŸkj 500 ðkCnkar f«gk % [20]

(1) fnxks&xkflZ;kps Hkwlkefjd LFkku o egRo lfoLrj Li"V djk-

(2) tax« ;qº/kkj.ksph oSfðk"VÓs vkf.k iqjoBÓkP;k leL;k ;kaps o.kZu djk-
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[4101]-351

DS : G-3 (C) : Geopolitics

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) State the importance of Geopolitics.

(2) State the Unified field theory.

(3) Explain the concept of Exclusive Economic Zone.

(4) Describe the types of Natural Boundaries.

2. Write short notes in 100 words each (any four) : [20]

(1) MacKinder

(2) Political Geography

(3) Frontiers

(4) Land-locked State

(5) Nation

(6) Buffer State.

3. Answer in 200 to 250 words each (any three) : [30]

(1) State the geographical factors affecting war.

(2) Explain the problems of Land-locked State.
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(3) State the functions of Territorial Water.

(4) Explain the nature of Geopolitics.

(5) Describe the basic elements of State.

4. Answer in 500 words each (any one) : [20]

(1) Describe the Sea Power theory of Admiral A.T. Mahan.

(2) “Political Geography is a dynamic science.” Discuss.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) Hkwjktfurhps egRo lkaxk-

(2) ,d:i {ks= flºkar lkaxk-

(3) ^vkFkhZd fuc±/k {ks=* gh ladYiuk Li"V djk-

(4) uSlxhZd lhekaps izdkj foðkn djk-

2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(1) eWfdUMj

(2) jktdh; Hkwxks«

(3) lhek iznsðk

(4) Hkwos"Vhr nsðk

(5) jk"V™

(6) e/;Lr nsðk-
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3. izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krhgh rhu) % [30]

(1) ;qºkoj ifj.kke dj.kkjs HkkSxksf«d ?kVd lkaxk-

(2) Hkwos"Vhr nsðkkaP;k leL;k Li"V djk-

(3) izknsfðkd tˇkðk;kph dk;sZ lkaxk-

(4) Hkwjktfurhps Lo:i Li"V djk-

(5) jkT;kps eq«Hkwr ?kVd foðkn djk-

4. [kk«h«iSdh dks.krkgh ,d izðukapk mŸkj 500 ðkCnkar f«gk % [20]

(1) vWMfej« ,- Vh- egku ;kaP;k lkxjh lŸksP;k flºkarkps o.kZu djk-

(2) ^^jktdh; Hkwxks« ,d xfreku ðkkL= vkgs-** ppkZ djk-



P.T.O.

Total No. of Questions—4+4] [Total No. of Printed Pages—4+2

Seat

No. [4101]-352

T.Y. B.A. EXAMINATION, 2012

DEFENCE AND STRATEGIC STUDIES

D.S. S-3 (A) : Maratha Military System (1630 to 1818 A.D.)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) Explain the role of Jijabai in making of Shivaji.

(2) Why did Shivaji adopt Guerrilla tactics ?

(3) Describe the geographical background of Maharashtra before

Shivaji.

(4) State the articles of Treaty of Purandar.

2. Write short notes in 100 words each (any four) : [20]

(1) Dadoji Kondadev

(2) Strategic importance of forts

(3) Dhanaji

(4) Guerrilla tactic

(5) Sambhaji Maharaj

(6) Raid on Shahistekhan
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3. Answer in 200 to 250 words each (any three) : [30]

(1) State the causes of Shivaji victory against Shahistekhan.

(2) State the causes of Third Anglo-Maratha War.

(3) Explain the objectives of Karnataka Campaign.

(4) Explain the Jawali incident.

(5) Discuss the role of Santaji and Dhanaji in Maratha War of

Independence.

4. Answer in 500 words each (any one) : [20]

(1) Assess the role of Maratha Navy under Kanhoji Angre.

(2) Explain the causes of downfall of Maratha power.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1- [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(1) fðkokth egkjktkaP;k tM.k?kM.khr fttkckbZ ;kaph Hkwfedk Li"V djk-

(2) fðkokth egkjktkauh xfueh dkO;kpk okij dk ds«k \

(3) fðkoiwoZdk«hu egkjk"V™kP;k HkkSxks«hd ikðoZHkwehps o.kZu djk-

(4) iqjanjP;k rgkph d«es lkaxk-
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2- [kk«h« izðukaph izR;sdh 100 ðkCnkar f«gk (dks.krsgh pkj) % [20]

(1) nknksth dksaMnso

(2) fdYY;kaps lkefjd egŸo

(3) /kukth

(4) xfueh dkok

(5) laHkkth egkjkt

(6) ðkkfgLrs[kkukojh« gY«k-

3- [kk«h« izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(1) fðkokth egkjktkaP;k ðkkfgLrs[kku fo#ºP;k fot;kph dkj.ks lkaxk-

(2) baxzt&ejkBk frlÚ;k ;qºkph dkj.ks lkaxk-

(3) dukZVd eksghesph mfÌ"Vs Li"V djk-

(4) tkoˇh izdj.k Li"V djk-

(5) ejkBÓkaP;k Lokra´;;qºkrhy larkth o /kukthP;k dkefxjhph ppkZ djk-

4- [kk«h« izðukaph mŸkjs 500 ðkCnkar f«gk (dks.krkgh ,d) % [20]

(1) dkUgksth vkaxzsP;k fu;a=.kk[kk«h« ejkBÓkaP;k ukSn«kP;k dk;kZps eqY;ekiu djk-

(2) ejkBh lŸksP;k irukph dkj.ks Li"V djk-
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[4101]-352

D.S. S-3 (B) : Disaster Management

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) Explain the relief work of Disaster.

(2) State the Yokohama strategy.

(3) Describe the elements of Disaster Management.

(4) What is Disaster ?

2. Write short notes in 100 words each (any four) : [20]

(1) Tsunami

(2) Terrorism

(3) Radioactive Pollution

(4) Chemical War

(5) Role of Local bodies in Disaster

(6) Process of Resettlement of Disaster.
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3. Answer in 200 to 250 words each (any three) : [30]

(1) Explain the possible solutions in Disaster.

(2) Describe the psychological and social consequences of Disaster.

(3) Explain the effects of Earthquake.

(4) Discuss ‘Global warming’.

(5) What are the plans of action mentioned by Yokohama

Conference ?

4. Answer any one of the following questions in 500 words : [20]

(1) Explain Nuclear war and Disaster.

(2) What are the significance study of Disaster Management ?

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth iz'uif=dk igkoh-

1- [kkyhy iz'ukaph mŸkjs izR;sdh 50 'kCnkar fygk (dks.krsgh nksu) % [10]

(1) vkiŸkhrhy enr dk;Z Li"V djk-

(2) ;ksdksgkekps /kksj.k lkaxk-

(3) vkiŸkh O;oLFkkiukrhy ?kVd fo'kn djk-

(4) vkiŸkh Eg.kts dk; \
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2- izR;sdh 100 'kCnkar fVik fygk (dks.krsgh pkj) % [20]

(1) Rlqukeh

(2) ng'krokn

(3) fdj.kksRlxkZeq š gks.kkjs iznq"k.k

(4) jklk;fud ;qº

(5) vkiŸkhrhy LFkkfud la?kVusps dk;Z

(6) vkiŸkhrhy iquoZlukph izfÿ;k-

3- [kkyhy iz'ukaph mŸkjs izR;sdh 200 rs 250 'kCnkar fygk (dks.krsgh rhu) % [30]

(1) vkiŸkhrhy mik;;kstuk Li"V djk-

(2) vkiŸkhe/khy lkekftd vkf.k ekul'kkL=h; ifj.kke fo'kn djk-

(3) Hkwdaikps ifj.kke Li"V djk-

(4) ^oSf'od rkieku ok<* ppkZ djk-

(5) ;ksdksgkek ifj"knsus lqpfoysyh  œrh ;kstuk dks.krh \

4- [kkyhy iz'ukaps mŸkj 500 'kCnkar fygk (dks.krkgh ,d) % [20]

(1) ^vkf.od ;qº vkf.k vkiŸkh* Li"V djk-

(2) vkiŸkh O;oLFkkiukP;k vH;klkps dk; egŸo vkgs \



P.T.O.

Total No. of Questions—4+4] [Total No. of Printed Pages—4+2

Seat

No. [4101]-353

T.Y. B.A. EXAMINATION, 2012

DEFENCE AND STRATEGIC STUDIES

D.S. S-4 (A) : Industrial Security

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(i) What precautions are to be taken when fire break ?

(ii) State the objectives of Industrial Security.

(iii) State the importance of control room.

(iv) What is Bailable crimes ?

2. Write short notes in 100 words each (any four) : [20]

(i) Indian Penal Code.

(ii) Security lighting.

(iii) First aid box.

(iv) Search gate.

(v) Carbon dioxide equipment.

(vi) First Information Report.
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3. Answer in 200 to 250 words each (any three) : [30]

(i) Describe in brief fundamental rights.

(ii) State the scope of Industrial Security.

(iii) Explain the functions of Security Department.

(iv) Describe in brief Industrial espionage.

(v) Explain the Security Planning and its implementation.

4. Answer any one of the following in 500 words : [20]

(i) Explain the scope and functions of fire preventive measures.

(ii) Describe the duties of Security Inspector.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1- izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krhgh nksu) % [10]

(i) vkx «kx«h rj dk; djkos \

(ii) vkS|ksxhd lqj{ksph mfÌ"VÓs lkaxk-

(iii) fu;a=.k d{kkps egŸo lkaxk-

(iv) tkehuik= xqUgs Eg.kts dk; \

2- izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krkgh pkj) % [20]

(i) Hkkjrh; naM lafgrk-
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(ii) lqj{kk izdkðk O;oLFkk-

(iii) izFkeksipkj isVh-

(iv) >Mrh xsV-

(v) dkcZu Mk;vkWDlkbZM midj.k-

(vi) ifg«h [kcj (,Q- vk;- vkj-)

3- izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krhgh rhu) % [30]

(i) eq«Hkwr vf/kdkj FkksMD;kr foðkn djk-

(ii) vkS|ksxhd lqj{ksph O;kIrh lkaxk-

(iii) lqj{kk foHkkxkph dkes Li"V djk-

(iv) vkS|ksxhd gsjxhjhps FkksMD;kr o.kZu djk-

(v) vkS|ksxhd lqj{ksps fu;kstu o vae«ctko.kh Li"V djk-

4- [kkyhyiSdh dks.krkgh ,d iz'ukpk 500 ðkCnkr mŸkj f«gk % [20]

(i) vkx izfrca/kd mik;kaph O;kIrh o dk;sZ Li"V djk-

(ii) lqj{kk fufj{kdkph drZO;s foðkn djk-
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[4101]-353

D.S. S-4 (B) : Research Methodology

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(i) State the objectives of Social Research.

(ii) State the importance and need of objectivity.

(iii) State the sources of collection of data.

(iv) Explain the scope of research.

2. Write short notes in 100 words each (any four) : [20]

(i) Characteristics of facts

(ii) Formulation of problem

(iii) Objectivity

(iv) Field trip

(v) Survey

(vi) Design of research.

3. Answer in 200 to 250 words each (any three) : [30]

(i) Explain the importance of hypothesis.
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(ii) Explain the subject matter of survey.

(iii) Describe the major steps in research process.

(iv) State the phases of research design.

(v) State the objectives of social research.

4. Answer any one of the following in 500 words : [20]

(i) Describe the meaning and importance of concept.

(ii) What is report writing ? State the objectives of report writing.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1- [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) lkekftd laðkks/kukps mÌsðk lkaxk-

(ii) laðkks/kukr oLrqfu"Brsps egŸo o vkoð;drk lkaxk-

(iii) ekfgrh lad«ukps Úksr lkaxk-

(iv) laðkks/kukph O;kIrh Li"V djk-

2- izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(i) rF;kaph oSfðk"Vs

(ii) leL;klq=.k

(iii) oLrqfu"Brk
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(iv) {ksf=; lg«

(v) lOgsZ{k.k

(vi) laðkks/kukpk vkjk[kMk-

3- [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) x`fgrdkaps egŸo Li"V djk-

(ii) lOgsZ{k.kk«k vkoð;d vl.kkjh lkeqxzh Li"V djk-

(iii) laðkks/ku izfÿ;srh« izeq[k VIis foðkn djk-

(iv) laðkks/ku vkjk[kMÓkP;k ik;Ú;k lkaxk-

(v) lkekthd laðkks/kukps mn~nsðk lkaxk-

4- [kk«h«iSdh dks.krkgh ,d izðukpk 500 ðkCnkar mŸkj f«gk % [20]

(i) ladYiuspk vFkZ o egŸo foðkn djk-

(ii) vgok« «s[ku Eg.kts dk; \ vgok« «s[kukph mfÌ"Vs lkaxk-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4101]-354

T.Y. B.A. EXAMINATION, 2012

SOCIAL WORK (G-3)

I : Introduction to Youth Welfare

II : Introduction to Rural & Urban Welfare

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two questions in 50 words each : [10]

(i) State the problems of youth and suggest remedies on it.

(ii) Explain the problems of Urban Community.

(iii) State the classification of Youth.

(iv) Explain the job opportunities for youth in different fields.

2. Answer any four questions in 100 words each : [20]

(i) Explain the agencies for rural development.

(ii) Explain the role of Mahila Mandal in national development.

(iii) Discuss the functions of Youth Club.

(iv) Explain the problems of Single Youth.

(v) Explain the need of training for leadership.

(vi) Explain the problems of handicapped youth.

P.T.O.
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3. Answer any three questions in 200 to 250 words each : [30]

(i) Write a note on “Importance of sex education to Youth”.

(ii) Explain the schemes and programmes for youth welfare.

(iii) Explain the problems of backward class youth and state the

provisions made by the Government for their welfare.

(iv) Explain the importance of vocational education to youth.

(v) Discuss on merits and demerits of Group Life.

4. Answer any one question in 500 words : [20]

(i) Highlight on the major educational and health problems of

youth.

(ii) Write an essay on “Causes of youth unrest and suggest remedies

on it”.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) eqˇ baxzth izðui=hdk xzk· /kjkoh-

1. dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk % [10]

(i) ;qodkaP;k leL;k Li"V djk vkf.k R;koj mik; lqpok-

(ii) ukxjh leqnk;kP;k leL;k foðkn djk-

(iii) ;qodkaps oxhZdj.k djk-

(iv) fofo/k {ks=kr ;qodkalkBh vl«sY;k ukSdjh@O;olk;kP;k la/kh foðkn djk-
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2. dks.kR;kgh pkj izðukaph mŸkjs izR;sdh 100 ðkCnkar f«gk % [20]

(i) xzkeh.k fodklklkBh dk;Zjr vl«sY;k laLFkk foðkn djk-

(ii) jk"V™h; fodklkrh« efg«kaph Hkwehdk Li"V djk-

(iii) r:.k eaM«kP;k dk;kZph ppkZ djk-

(iv) vfookghr ;qodkP;k leL;k foðkn djk-

(v) usr`RoklkBh izfðk{k.kkph xjt foðkn djk-

(vi) viax ;qodkP;k leL;k Li"V djk-

3. dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk % [30]

(i) ^^;qodkalkBh «Saxhd fðk{k.kkps egRo** ;koj fVi.kh f«gk-

(ii) ;qok dY;k.kklkBh vl«sY;k ;kstuk vkf.k dk;Zÿe Li"V djk-

(iii) ekxkloxhZ; ;qodkaP;k leL;k foðkn djk vkf.k R;kaP;k dY;k.kklkBh ljdkj.ks@ðkkl.kkus

ds«sY;k rjrqnh Li"V djk-

(iv) ;qodkalkBh O;kolk;hd fðk{k.kkps egRo foðkn djk-

(v) ^^xVftoukps Qk;ns vkf.k rksVs** ;koj ppkZ djk-

4. dks.krkgh ,dk izðukaps mŸkj 500 ðkCnkar f«gk % [20]

(i) ;qodkP;k ðkS{k.khd vkf.k vkjksX;kP;k izeq[k leL;k ;koj izdkðk Vkdk-

(ii) ^^;qodkaP;k vlarks"kkph dkj.ks vkf.k R;kojh« mik;** ;koj fuca/k f«gk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4101]-356

T.Y. B.A. EXAMINATION, 2012

COMMERCE (General Paper 3)

(Business Management)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(a) What is Delegation of Authority ?

(b) What is Planning ?

(c) Meaning of Communication.

(d) What is Co-operation ?

2. Answer in 100 words each (any four) : [20]

(1) Discuss ‘Management is an Art.’

(2) Explain the types of Planning.

(3) Explain the importance of co-ordination.

(4) Explain the characteristics of control.

(5) Explain the concept of ‘Autocratic leadership.’

(6) Explain the Nature of Management.
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3. Answer in 300 words each (any three) : [30]

(a) Explain the types of decisions.

(b) Explain the principles of direction.

(c) Discuss freerein leadership style.

(d) Explain the principles of effective communication.

(e) Explain the McGregor’s theory (X and Y).

4. Answer in 500 words (any one) : [20]

(1) Comment on ‘Total Quality Management.’

(2) What is organisation ? Explain the types of organisation.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iz'ukps iw.kZ xq.k nðkZforkr-

1- izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(v) vf/kdkj&iznku Eg.kts dk; \

(c) fu;kstu Eg.kts dk; \

(d) ^lansðkogu*pk vFkZ lkaxk-

(M) lgdkj Eg.kts dk; \

2- izR;sdh 100 ðkCnkar mŸkjs f«gk (dks.krsgh pkj) % [20]

(1) ^O;oLFkkiu gh ,d d«k vkgs-* ppkZ djk-
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(2) fu;kstukps izdkj lkaxk-

(3) leUo;kps egŸo Li"V djk-

(4) fu;a=.kkph oSfðk"VÓs Li"V djk-

(5) ^gqdqe'kkgh usr`Ro* ladYiuk Li"V djk-

(6) O;oLFkkiukps Lo:i Li"V djk-

3- izR;sdh 300 ðkCnakr mŸkjs f«gk (dks.krsgh rhu) % [30]

(v) fu.kZ;kps izdkj Li"V djk-

(c) funsZðkukph rŸos Li"V djk-

(d) ^eqDr usr̀Ÿo ðkS«h*ph ppkZ djk-

(M) ifj.kkedkjd lansðkogukph rŸos Li"V djk-

(b) eWdxzsxjpk ^{k* vkf.k ^;* flºkUr Li"V djk-

4- 500 ðkCnkar mŸkjs f«gk (dks.krkgh ,d) % [20]

(1) ^iw.kZ xq.koŸkk O;oLFkkiu* Vhi.kh djk-

(2) la?kVu Eg.kts dk; \ la?kVusps izdkj Li"V djk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4101]-357

T.Y. B.A. EXAMINATION, 2012

EDUCATION G-3

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 20 words each (any ten) : [20]

(1) Write the meaning of discipline.

(2) What is Individual differences ?

(3) What is creativity ?

(4) Write the definition of Mental Health.

(5) What is action research ?

(6) What is Counselling ?

(7) What is Globalization ?

(8) Write the meaning of concept.

(9) Write the meaning of demonstration method.

(10) What is social discipline ?

(11) What is disaster ?

(12) Write the meaning of Vocational Guidance.

(13) What is personality ?
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2. Answer the following questions in 50 words each (any two) : [10]

(1) Write the need of Educational Guidance.

(2) Explain the factors that are useful in problem solving.

(3) Explain the characteristics of personality.

(4) Explain the types of Individual differences.

3. Answer the following questions in 150 words each (any two) : [20]

(1) What is mental conflict ? Explain the causes of mental conflict.

(2) What is school indiscipline ? Suggest the remedial measures

to overcome these problems.

(3) What is Higher Education ? Explain the challenges for Higher

Education.

(4) Explain the merits and limitations of discussion method.

4. Answer the following questions in 300 words each (any two) : [30]

(1) What is Imagination ? What are the types of imagination ?

Explain the educational importance of Imagination.

(2) Explain the concept of riots. Describe the causes of riots and

suggest the ways to overcome it.

(3) Explain the nature, causes and educational importance of

individual differences.

(4) What are the characteristics of personality ? Explain the factors

influencing personality with proper examples.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iz'ukps iw.kZ xq.k nðkZforkr-

1- dks.kR;kgh ngk izðukaph mŸkjs izR;sdh 20 ðkCnkar f«gk % [20]

(1) fðkLrhpk vFkZ f«gk-

(2) O;f‰Hksn Eg.kts dk; \

(3) ltZuðkh«rk Eg.kts dk; \

(4) ekufld vkjksX;kph O;k[;k f«gk-

(5) œrh laðkks/ku Eg.kts dk; \

(6) lewinsðku Eg.kts dk; \

(7) tkxfrdhdj.k Eg.kts dk; \

(8) ladYiuspk vFkZ f«gk-

(9) fnXnðkZu iºrhpk vFkZ f«gk-

(10) lkekftd fðkLr Eg.kts dk; \

(11) vkiŸkh Eg.kts dk; \

(12) O;kolkf;d ekxZnðkZukpk vFkZ f«gk-

(13) O;f‰eRo Eg.kts dk; \

2- dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk % [10]

(1) ðkS{kf.kd ekxZnðkZukph xjt foðkn djk-

(2) leL;k fujkdj.kkps lgk∏;Hkwr ?kVd Li"V djk-

(3) O;fDreRokph oSfðk"VÓs Li"V djk-

(4) O;fDrHksnkps izdkj Li"V djk-
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3- dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 150 ðkCnkar f«gk % [20]

(1) ekufld la?k"kZ Eg.kts dk; \ ekufld la?k"kkZph dkj.ks Li"V djk-

(2) ðkk«s; csfðkLr Eg.kts dk; \ rh nwj dj.;klkBh mik; lqpok-

(3) mPp fðk{k.k Eg.kts dk;\ mPp fðk{k.kkiq<h« vkOgkus Li"V djk-

(4) ppkZ iºrhps Qk;ns o e;kZnk Li"V djk-

4- dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 300 ðkCnkar f«gk % [30]

(1) dYiuk Eg.kts dk; \ dYiukaps izdkj dks.krs \ dYiukaps ðkS{kf.kd egŸo

Li"V djk-

(2) nax«hph ladYiuk Li"V djk- nax«hph dkj.ks lkaxwu rh nwj dj.;klkBh

mik;;kstuk lqpok-

(3) O;fDrHksnkps Lo:i Li"V d:u O;f‰Hksnkph dkj.ks f«gk- O;f‰Hksnkps

ðkS{kf.kd egŸo Li"V djk-

(4) O;f‰eRokph oSfðk"VÓs dks.krh \ O;f‰eRokoj ifj.kke dj.kkjs ?kVd lksnkgj.k

Li"V djk-



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [4101]-358

T.Y. B.A. EXAMINATION, 2012

INDUSTRIAL MATHEMATICS

FMG-3 : C Programming

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any eight of the following : [16]

(i) Which of the following are valid identifiers ? Justify :

(a) if

(b) 2012 pass.

(ii) Write the syntactic translation of the following :

(a)
( )

( )2

a b c

e f g

+

−

(b)
2 4

.
2

b ac

a

−

(iii) Write a note on pre-increment operators.

(iv) Explain the meaning of the following declaration :

int fun (int a[ ], float x, int n);
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(v) Explain the meaning of the following array initialization :

int a[ ] [2] = {3, 6, 10, 15, 20, 25};

(vi) What is typedef ?

(vii) Explain the macro definition :

# define max (a, b) (a > b ? a : b)

(viii) State the meaning of the following declaration :

float f (int *, float x);

(ix) What is the purpose of a header file ?

(x) Define a structure consisting of name, roll_number and per-

centage as members. Include the tag name student within the

definition.

2. (A) Attempt any one of the following : [6]

(i) Differentiate between while and do-while loop.

(ii) Write a short note on two-dimensional array.

(B) Attempt any two of the following : [10]

(i) Write a short note on switch statement.

(ii) Write a C program to find the sum of digits of an

integer.

(iii) Write a function in C to find g.c.d. of two integers.
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3. (A) Attempt any two of the following : [8]

(i) Write a C program to reverse a string.

(ii) Write a short note on logical operators.

(iii) Write an algorithm to find the sum of n numbers.

(B) Attempt any two of the following : [8]

(i) Write a short note on structures.

(ii) Write a short note on static variables.

(iii) Write a short note on shift operators.

4. (A) Attempt any one of the following : [6]

(i) Write a C program to find the sum of two complex numbers.

Define complex number using structure.

(ii) Write a short note on dynamic memory allocation.

(B) Attempt any two of the following : [10]

(i) Write a short note on fprintf( ) and fscanf( ) functions.

(ii) Write a C program to copy one file to another file using

command line arguments.

(iii) Write a short note on files.
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5. (A) Attempt any one of the following : [6]

(i) Write a short note on C preprocessor.

(ii) Write a short note on passing structures to a function.

(B) Attempt any two of the following : [10]

(i) Write an algorithm to sort given n numbers in ascending

order using bubble sort.

(ii) Write a short note on enumerations.

(iii) Write a short note on bitwise operators.



Total No. of Questions—4] [Total No. of Printed Pages—4+2

Seat

No. [4101]-359

T.Y. B.A. EXAMINATION, 2012

MATHEMATICAL STATISTICS (GENERAL–III)

(Statistical Inference)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of scientific calculator and statistical tables is allowed.

(iv) Symbols and abbreviations have their usual meanings.

1. Attempt any two of the following : [5 each]

(a) Let X1, X2, X3 be a r.s. from a Poisson distribution with

parameter λ. If

1 2 3
1

X 2X 3X
T

6

+ +
=  and 

1 2 3
2

X X X
T

3

+ +
=

show that T1 and T2 are unbiased estimators of λ. Find the

efficiency of T1 in relation to T2.

P.T.O.
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(b) Explain, what is meant by uniformly most powerful test giving

a suitable example.

(c) Obtain a sufficient estimator of the parameter θ, based on

a r.s. of size n from a distribution with p.d.f. :

1
( ) ; 0 , 0f x x= < ≤θ θ >

θ
.

(d) Explain Kolmogorov-Smirnov test.

2. Attempt any four of the following : [5 each]

(a) State the general problem of estimation of parameters. Distinguish

between an estimate and an estimator.

(b) Show that if T is an unbiased estimator of a parameter θ,

then aT + b is an unbiased estimator of aθ + b, where

a ( 0)≠  and b are constants. Also show that T2 is a biased

estimator of θ2.

(c) Show that a biased estimator is consistent if its bias and

variance both tend to zero as the sample size n tends to

infinity.

(d) Let X1, X2,..........Xn be a r.s. from an exponential distribution

with mean 

1

. Construct a LRT of level α to test

H0 : θ = θ0 against H1 : θ > θ0.
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(e) A r.v. X follows Poisson distribution with mean λ. We want

to test H0 : λ = 10 against H1 : λ = 9. How large should

n be chosen to guarantee α = 0.1 and power of the test equal

to 0.9 ? Use normal approximation.

(f) The following is the observed sequence of 8 cold days (C)

and 12 warm days (W), during twenty consecutive days of

a winter season at a particular place. Use α = 0.05 to test

the hypothesis that sequence of days is random by using run

test.

WCWWWWWCWCWWCCCWCWCW

3. Attempt any three of the following :

(a) (i) State and prove Cramer-Rao inequality. [7]

(ii) Prove : If T is a sufficient estimator of θ then φ (T) is

also sufficient for θ provided φ is one-to-one and onto

function. [3]

(b) (i) With usual notations prove that MVBUE T of a parameter

θ satisfies the following relation :

log L I( ) (T )n
∂

= θ − θ
∂θ

. [5]

(ii) Using the method of moments, obtain an estimator of θ

on the basis of a r.s. of size n from a distribution with

p.d.f.

1
( , ) , 0 1, 0xf x xθ−

θ = θ < < θ > . [5]
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(c) (i) Describe sign test. [5]

(ii) Obtain MLE of θ, based on a r.s. of size n from a distribution

with p.d.f. :

1( , ) .xf x e x
λ

−θ λ−θ
θ =

λ
 0; , 0x > θ λ > . [5]

(d) Explain the following terms : [2 each]

(i) Composite hypothesis

(ii) Level of significance

(iii) Critical region of a test

(iv) Type I error

(v) Type II error.

(e) (i) A r.v. X follows Cauchy distribution with parameters

(θ, 1). It is required to test the null hypothesis θ = 0

against the alternative θ = 1 on the basis of a single

observation on X. Find the form of the best critical region

(BCR). [6]

(ii) Write a note on salient features of a non-parametric

test. [4]
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4. Attempt any one of the following :

(a) (i) Let X1, X2,.......Xn be a r.s. from the p.d.f. 

1
( ) , 0f x x= < ≤ θ

θ

.

Show that :

( )
1

T X n
n

n

+ =   

is an unbiased estimator of θ. [5]

(ii) Let X1, X2,.........,Xn be a r.s. of size n from a normal

distribution with parameters 2 2( , );µ σ σ  known. Construct

a LRT of level α to test H0 : µ = µ0 against

H1 : µ ≠ µ0. [5]

(iii) Let X1, X2,.............Xn be a r.s. from a Bernoulli distribution

with parameter P. Construct a SPRT of strength (α, β)

for testing H0 : P = P0 against H1 : P = P1 (P1 > P0)

based on the above r.s. [5]

(iv) Construct 100 (1 – α)% confidence interval for µ, on

the basis of a r.s. X1.............Xn from N (µ, σ2) σ2

unknown. [5]

(b) (i) Let X1, X2,............Xn be a r.s. of size n from N (0, σ2).

State UMP test to test 22
0 0H : σ = σ  against 22

1 0H : σ = σ .

If n = 15, α = 0.05 and 2
0 4σ = , find the power of the

test when σ2 = 8.53. [5]
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(ii) Describe Mann-Whitney test. [5]

(iii) Let X1, X2,............Xn be a r.s. from an exponential distribution

with mean 
1

θ
. Construct a SPRT of strength (α, β) to

test 0 0H : θ = θ  against 

H :

 

( )

. [5]

(iv) Define the following terms related to interval estimation :

(1) Pivotal quantity

(2) Lower confidence limit

(3) Confidence coefficient. [5]



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—7
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ENGLISH

General Paper III
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Time : Three Hours Maximum Marks : 60

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. (A) Answer any three of the following in about 20 words each : [6]

(i) What is informal communication ?

(ii) What is downward communication ?

(iii) What is grapevine communication ?

(iv) What is non-verbal communication ?

(v) What is the importance of voice in communication ?

(B) Attempt any three of the following : [6]

(i) Identify the contrast of sounds in the following pairs

of words :

(a) feel-fill

(b) ship-sip.
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(ii) Mark the accent :

(a) nation

(b) able.

(iii) Identify the weak forms in the following sentences :

(a) She is here.

(b) I am a student.

(iv) Mark intonation in the following sentences :

(a) It is six o’clock.

(b) Was the film good ?

(v) How would you express thanks in the following situation :

Someone helped carry your grocery bags.

2. (A) Attempt any three of the following : [6]

(i) Form two words with each of the following suffixes :

(a) ..............ness

(b) ..............ly.

(ii) Form antonyms with the help of prefixes :

(a) efficient

(b) patient.

(iii) Identify the part of speech of the underlined words :

(a) The frames are made of glass and they tend to

break easily.

(b) I had a quiet talk with her during the lunch break.
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(iv) Identify the acceptable combinations of the words below :

(a) renew a contract/re-sign a contract.

(b) opposite statements/contradictory statements.

(v) Fill in the blanks with appropriate word.

(a) He works........................ (hard/hardly)

(b) He is a.........................person because he took the

right decision (sensible/sensitive)

(B) Attempt any three of the following : [6]

(i) Write a set of two words each closely related in meaning

to the following words :

(a) destroy

(b) remember.

(ii) Match the following synonyms :

A B

(1) hardly (a) hazardous

(2) hectic (b) rarely

(3) station (c) pitiless

(4) cruel (d) junction

(iii) Frame sentences by using the following phrases :

(a) bring out

(b) bring up.
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(iv) Coin as many words as possible from the letters used

in the words below :

(a) budget

(b) horizontal.

(v) Identify whether the meaning of the underlined word is

literal or figurative :

(a) The water is boiling.

(b) I was boiling with anger.

3. Attempt any two of the following : [12]

(a) Imagine that you are facing an interview for the post of Purchase

Manager in a company. Anticipate any six questions and write

down your responses to them.

(b) Imagine that you are going interview a social worker. List

down ten questions you would ask.

(c) A group of three friends is having a discussion on

the recently watched cricket match. Write a dialogue

anticipating two utterances for each of the participants.

4. Attempt any two of the following : [12]

(a) Write a paragraph of about 100 words on any one of the

following topics :

(i) Pollution

(ii) My Family.
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(b) Write a review of the restaurant you visited recently.

(c) Summarise the following passage :

The computer has been hailed as the greatest invention in

human history. It has transformed our lives and vastly expanded

the horizons of human endeavour. But there is another side

to the computer that we cannot ignore : by its speed, anonymity

and vast reach, the computer has spawned a new range of

crimes, necessitating the introduction of a new branch of law

known as cyberlaw. These crimes are difficult to trace or prevent

since they take place not in the physical world around us

but in cyberspace, the space where all internet activities take

place.

5. (A) Attempt any two of the following : [6]

(i) Punctuate the following passage :

an expository essay contains the thoughts of its author

on a certain subject often it also explains or expands

the topic the discussion is usually based on the authors

knowledge experience or imagination this kind of essay

is written on abstract subjects e g truth friendship bravery

and on social political and religious questions e g female

education joint families christianity and hinduism.
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(ii) Rearrange the jumbled sentences below to form well-written

paragraph :

(1) Ordinary steel contains 0.06% to 0.12% of carbon.

(2) Stainless steel contains chromium, and the steel

used in making permanent magnets contains cobalt.

(3) This small quantity of carbon turns iron, which in

its pure state is soft, into hard and elastic steel.

(4) Besides these common varieties of steel, there are

others designed by the metallurgist, which possess

very special properties and answer very special needs.

(5) By the addition of elements other than carbon, we

obtain steel adapted to particular uses in technology.

(6) The term ‘steel’ refers to a large number of alloys

of iron.

(iii) Explain the use of any one of the punctuation marks

given below :

(a) Full stop

(b) Exclamation mark.
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(B) Attempt any two of the following : [6]

(i) Match the following expressions of telephonic

conversation :

A B

(a) hello (i) you are welcome

(b) good morning (ii) Mr. Jadhav is from

Department of History

(c) can I talk to (iii) yes, department of

Mr. Jadhav ? English

(d) thank you (iv) good morning.

(ii) Complete the telephonic conversation below :

A : ...................Department of Psychology.

B : Good morning....................to Mr. Rao ?

A : May I know who...................... ?

B : I am Prof. Sharma from Mumbai University.

A : ......................... out of station.

B : Ok. I will call later.

(iii) Write a transcript of a power-point presentation you would

make on ‘Environmental awareness’.



Total No. of Questions—5] [Total No. of Printed Pages—3
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No. [4101]-361

T.Y. B.A. EXAMINATION, 2012

ENGLISH

Special Paper III

(S-3 : Introduction to the Study of English Language)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any four of the following : [16]

(i) What is Morphology ? Explain the concepts Free Morpheme

and Bound Morpheme.

(ii) Explain the term ‘Affixation’ with suitable examples.

(iii) The Nasal sounds in English.

(iv) Describe the diphthongs in English.

(v) Write a note on “Place of Articulation”.

(vi) Write a note on Clipping and Conversion.

2. Write short notes on any four of the following : [16]

(i) Code switching and Code mixing

(ii) Multilingualism

P.T.O.
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(iii) Speech Acts

(iv) Sentence and utterance

(v) Nativization of English

(vi) Creole and Pidgin.

3. Write short notes on any four of the following : [16]

(i) Tone groups

(ii) The uses of Rising Tone

(iii) Weak Forms

(iv) Uses of the Definite Article

(v) The Progressive Aspect

(vi) Adverbs.

4. Write short notes on any four of the following : [16]

(i) Style

(ii) Registers

(iii) Politeness Principle

(iv) The features of Indian English

(v) Deixis of Place and Time

(vi) The features of American English.

5. (a) Answer any two of the following : [8]

(i) Point out the difference between British English and American

English at phonological and lexical levels.

(ii) Distinguish between British English and Indian English.

(iii) Explain major characteristics of Indian English.
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(b) Do as directed (any four) : [8]

(i) Rewrite two words each by using the following affixes :

(a) .....................able

(b) Dis........................ .

(c) .....................tion.

(d) Re................... .

(ii) Transcribe the following words phonemically :

people, tea, gate, match.

(iii) Use the correct tense form of the verb given in the

brackets :

It is (rain) cats and dogs.

(iv) Identify the register of the following utterance and mention

its markers :

The lawyer cross-examined the plaintiff in the court of

law on the issue of the murder case and the judge listened

to it attentively.

(v) Identify the deixis in the following utterance and mention

its type :

I am going to Mumbai tomorrow. There I will visit Elephanta

Caves.
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N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. (A) Attempt any two of the following in about 50 words

each : [8]

(i) What is criticism ?

(ii) Discuss Theory of Imitation.

(iii) What are the qualifications of a good critic ?

(B) Attempt any two of the following in about 50 words

each : [8]

(i) How is biography of a writer useful to study

literature ?

(ii) Explain the psychological approach to literature.

(iii) Discuss how sociological approach is useful to study

literature.

P.T.O.
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2. Attempt any four of the following in about 50 words each : [16]

(i) How does Johnson defend Shakespeare’s mixing of the tragic

and the comic elements in his plays ?

(ii) Comment on Eliot’s concept of Tradition.

(iii) Discuss Wordsworth’s views on language of poetry and subjects

of poetry.

(iv) Write a note on Arnold’s theory about the three estimates

of judging poetry.

(v) How does Sidney justify the superiority of poetry over other

sciences ?

(vi) Explain Wordsworth’s definition of poetry.

3. Explain any four of the following literary terms : [16]

(i) Genre

(ii) Satire

(iii) Connotation

(iv) Wit

(v) Imagery

(vi) Allusion.

4. Explain any four of the following literary terms : [16]

(i) Allegory

(ii) Intentional fallacy

(iii) Comic relief

(iv) The Absurd

(v) Stream of consciousness

(vi) Setting.
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5. Read the following poem and answer the questions that follow

(any eight) : [16]

Earth has not anything to show more fair;

Dull would he be of soul who could pass by

A sight so touching in its majesty :

This city now doth, like a garment, wear

The beauty of the morning; slient, bare,

Ships, towers, domes, theatres and temples lie

Open unto the fields, and to the sky

All bright and glittering in the smokeless air

Never did sun more beautifully steep

In his first splendour, valley, rock or hill

Ne’er saw I, never felt, a calm so deep !

The river glideth at his own sweet will :

Dear God ! the very houses seem asleep

And all that mighty heart is lying still !

Questions :

(1) What type of poem is this ?

(2) What time of the day is described in the poem ?

(3) What is the most significant element of the scene seen by

the poet ?

(4) What is meant by ‘‘And all that mighty heart is lying

still’’ ?

(5) Comment on the poet’s mood and feelings in the poem.
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(6) How does the poet infuse the feelings of nature in the

poem ?

(7) Write any one of the figures of speech in the poem.

(8) Pick out the images that give to the city a quality of human

life.

(9) How does the poem rise to an emotional climax ?

(10) What is the rhyme scheme of the poem ?

(11) Suggest a suitable title to the poem.
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N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

1. Answer the following in one or two sentences each (any five) : [10]

(1) In which year was SAI established ?

(2) What is the motto of Olympic Games ?

(3) Height of volleyball net from the ground.

(4) Who was the President of Conzuru Committee and when it

was established ?

(5) What is measurement of Handball ground ?

(6) What is the distance between two poles in Kho-Kho ?

(7) Write two names of Maharashtrian sports.

2. Answer the following in 5 to 6 sentences each (any two) : [10]

(1) Explain in detail about LNIPE-Gwalior.

(2) Draw neat diagram of Kabaddi ground with measurement.

(3) Write down the meaning of Yoga. List out any five

Asanas.

P.T.O.



[4101]-363 2

3. Answer the following in 20 to 25 sentences each (any two) : [20]

(1) Write down about Kaul-Kapoor Committee. What suggestions

they have suggested in their report about physical education ?

(2) Draw neat diagram of volleyball ground. Explain the basic skills

required for volleyball.

(3) Explain in detail about Modern Olympic Games.

4. Answer the following in detail (any one) : [20]

(1) Explain in detail about physical education in British period.

(2) Explain in detail about physical education after Independence.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 60

lwpuk :— (i) loZ izðu lksMfo.ks vfuok;Z vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d R;k fBdk.kh lqcd vkœR;k dk<k-

1. [kk«h«iSdh dks.kR;kgh ikp izðukaph 1 fdaok 2 okD;kr mŸkjs f«gk % [10]

(1) ‘SAI’ ph LFkkiuk d/kh >k«h \

(2) ^vkWf«fEid* fcznokD; dk; vkgs \

(3) okW«hckW« [ksˇke/;s usV ph maph fdrh vlrs \

(4) dqa># lehrhph LFkkiuk dks.kkP;k v/;{ksrs[kk«h o d/kh >k«h \

(5) gW.MckW« eSnkukph «kach&#anh dk; vlrs \

(5) [kks&[kks ;k [ksˇkr nksu Mkacke/kh« varj fdrh vlrs \

(6) nksu egkjk"V™h; [ksˇkph ukos f«gk-
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2. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 5 rs 6 okD;kr f«gk % [10]

(1) «{ehckbZ jk"V™h; bfULVhVÓwV vkWQ fQftd« ,T;wdsðku] XokYgsj fo"k;h ekfgrh

|k-

(2) dcÏh ;k [ksˇkP;k eSnkukph ekstekiklg lqcd vkœrh dk<k-

(3) ^;ksx* Eg.kts dk; rs lkaxwu ikp vklukaph ukos f«gk-

3. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 20 rs 25 okD;kr f«gk % [20]

(1) dkS«&diwj lferh fo"k;h ekfgrh lkaxk- ðkkjhfjd fðk{k.kk ckcr vgok«krh«

fðkQkjðkh foðkn djk-

(2) ^OgkW«hckW«* ;k [ksˇkP;k eSnkukph lqcd vkœrh dk<wu FkksMD;kr ekfgrh

f«gk-

(3) vk/kqfud vkWf«fEid [ksˇk cÌ« lfoLrj ekfgrh f«gk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps lfoLrj mŸkj f«gk % [20]

(1) fczfVðk dǩ krh« ðkkjhfjd fðk{k.k lfoLrj ekfgrh f«gk-

(2) Lokrá ;ksŸkj dkˇkrh« ðkkjhfjd fðk{k.k Li"V djk-
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1. Attempt any eight of the following : [16]

(i) Show that, if every element of the group is its own inverse,

then G is abelian.

(ii) If G is a group, then prove that the identity element of G

is unique.

(iii) If G = (a), a cyclic group of order 10 and H = (a)2 is a

subgroup of G generated by a2. Write out all the right cosets

of H in G.

(iv) Show that every subgroup of an abelian group is normal.

(v) Let G be the group of integers under addition. Define

φ : G → G by φ (x) = 2x. Prove that φ is a group homomorphism.

Also determine the kernel of φ.

P.T.O.
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(vi) Prove that any field is an integral domain.

(vii) List all zero divisors in Z20.

(viii) Give an example of an irreducible polynomial in Z3 [x] of

degree 2.

(ix) Find the inverse of 1 2+  in Z 2 
  .

(x) Give an example of a ring without unity that is contained

in a field.

2. (a) Attempt any one of the following : [6]

(i) If H is a non-empty finite subset of a group G and H

is closed under multiplication, then prove that H is a subgroup

of G.

(ii) If φ is a homomorphism of G onto G' with kernel K,

then prove that K is a normal subgroup of G.

(b) Attempt any two of the following : [10]

(i) If n is a positive integer and a is relatively prime to

n, then prove that ( ) 1(mod )na nφ ≡ , where φ is Euler’s φ

function.

(ii) Prove that N is a normal subgroup of a group G if and

only if 1N Ng g− =  for every Gg ∈ .

(iii) If G is an abelian group and if N is any subgroup of

G, then prove that G/N is abelian.
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3. (a) Attempt any one of the following : [8]

(i) Prove that every permutation in Sn can be uniquely expressed

as a product of disjoint cycles. Further prove that every

permutation can be written as a product of 2-cycles.

(ii) Prove that HK is a subgroup of G if and only if

HK = KH. Moveover if H, K are subgroups of the abelian

group G, then prove that HK is a subgroup of G.

(b) Attempt any one of the following : [8]

(i) Let R be a commutative ring with unity and let A be

an ideal of R. Then show that R/A is an integral domain

if and only if A is prime ideal.

(ii) Let R be a ring with unity e. Prove that the mapping

φ : Z → R given by φ (n) = ne is a ring homomorphism.

Further if m is any positive integer, then prove that the

mapping Ψ : Z → Zm given by Ψ (x) = x (mod m) is a

ring homomorphism.

4. (a) Attempt any one of the following : [6]

(i) Show that the ideal <x2 + 1> is the maximal ideal in

R [x], where R is a set of real numbers.

(ii) Let F be a field. Prove that F[x] is a principal ideal domain.

(b) Attempt any two of the following : [10]

(i) If the rings R and S are isomorphic. Show that R[x] and

S[x] are isomorphic.
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(ii) Let a belongs to a commutative ring R. Show that

aR = {ar|a ∈ R} is an ideal of R. Further if R is the

ring of even integers, list the elements of 4R.

(iii) Prove that 

1 3 5

 is an irreducible element in Z 5 − 

but it is not a prime element.

5. (a) Attempt any one of the following : [6]

(i) Prove that the product of two primitive polynomials is

a primitive polynomial.

(ii) Show that the polynomial

P 1 P 2 ............ 1x x− −+ + +

is irreducible over Q, where P denotes the prime.

(b) Attempt any two of the following : [10]

(i) Let

3 3[ ] { | , }i a bi a b= + ∈Z Z .

Show that Z3 [i] is isomorphic to  as fields.

(ii) Show that 

Z

 is not a unique factorization domain.

Why does this shows that [ 6]−Z  is not a principal ideal

domain.

(iii) Let F be a field, Fa ∈  and 

f x x

. Prove that a

is a zero of f(x) if and only if (x – a) is a factor of f(x).



Total No. of Questions—5] [Total No. of Printed Pages—4+1

[4101]-365

T.Y. B.A. EXAMINATION, 2012

MATHEMATICS

(MS-3 : Set Theory, Logic and Metric Spaces)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any eight of the following : [16]

(i) Explain, why { }1 1, 2, 3∈ .

(ii) List the members of P(A) if A = {{1, 2}, {3}, 1}.

(iii) State the domain and range of the relation

{ }2 2( , ) | 4 1x y x y∈ × + =R R .

(iv) Show that p → q and p q¬ ∨  are logically equivalent.

(v) Prove that if n is an even integer, then n – 1 is an odd

integer.

P.T.O.

Seat

No.
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(vi) What are all the open sets in a discrete metric space ?

(vii) Let X = Z. Find an open cover of X which does not admit

a finite subcover.

(viii) Show that a circle in R2 is not homeomorphic to a hyperbola.

(ix) Find two subsets of R2 which are neither open nor closed.

(x) If :

A ( , ) |cos( ) 47

,

prove that A is an open subset of R2.

2. (A) Attempt any one of the following : [6]

(i) Prove that a relation ρ is an equivalence relation if and

only if there exists a disjoint collection P of non-empty

sets such that :

{ }ρ = < > < > ∈ ×, |for some C in C Cx y , xP .

(ii) If the domain of a function is countable, then prove that

its range is also countable.

(B) Attempt any two of the following : [10]

(i) If X is denumerable set, then prove that X × X is denumerable.

(ii) Let f : R → R, where 
1 /5

1 /3( ) 1 (1 )f x x = + −  . Express

f as the composite of four functions, none of which is

the identity function.

(iii) Show that ( ) ( )p q p q∧ → ∨  is a tautology.
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3. (A) Attempt any two of the following : [8]

(i) Show that if f is any function and 

{ , | , }g y x x y f= < > < > ∈

then gof is an equivalence relation.

(ii) Use quantifiers to express the fact that 

lim ( )
x a

f x
→

 does

not exist.

(iii) Show that the hypothesis “Jasmine is skiing or it is not

snowing” and “It is snowing or Bart is playing hockey”

leads to conclusion “Jasmine is skiing or Bart is playing

hockey.”

(B) Attempt any two of the following : [8]

(i) Express the following statements using quantifiers :

(a) Some old dogs can learn new tricks.

(b) No rabbit knows calculus.

(c) Every bird can fly.

(d) There is no dog that can fly.

(ii) Prove that the sum of two rational numbers is a rational

number. Use any method of proof.

(iii) Show that there exist irrational numbers x and y such

that xy is rational.

4. (A) Attempt any one of the following : [6]

(i) Let (X, d) be a metric space, x ∈ X and r > 0. Show

that the open ball B(x, r) is open set.
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(ii) Let d be a metric on X. Define δ(x, y) = min

{1, d(x, y)} for all x, y ∈ X. Show that δ is a metric

on X.

(B) Attempt any two of the following : [10]

(i) Let X = R2 with standard metric. Let

2 2 2A {( , ) | 1}x y x y= ∈ + =R . Show that A is a closed

set.

(ii) Let X, Y be metric spaces. Let f : X → Y  be a function.

f is continuous at x ∈ X then prove that, given any

∈ > 0, there exist a δ > 0 such that, if d(x, x') < δ,

then d(f(x), f(x') < ∈.

(iii) Prove that any continuous function f from a compact

metric space (X, d) to another metric space (Y, d) is

bounded.

5. (A) Attempt any two of the following : [8]

(i) Let X be a connected metric space and g : X → Y be

a continuous map. Prove that g(X) is connected.

(ii) Let f, g : [0, 1] → R be continuous function. Assume

that f(x) ∈ [0, 1] for all x and g(0) = 0 and g(1) = 1.

Show that f(x) = g(x) for some x ∈ {0, 1].
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(iii) Let (X, d) be a complete metric space. Let a non-empty

subset Fn be given for all n ∈ N such that Fn+1 CFn.

Assume further that diam (Fn) → 0. Show that 

1

Fn

n

∞

=
I

consists exactly of one point.

(B) Attempt any two of the following : [8]

(i) Let (X, d) be a metric space. Let { }
1n n

x
∞

=  be a Cauchy

sequence in X. Show that { } 1n n
x

∞

=  is convergent if and

only if it has a convergent subsequence.

(ii) Let (X, d) be a compact metric space. Prove that every

open cover of X has a finite subcover.

(iii) Let Y be a subset of a metric space X. Show that

A ⊂ Y is open in Y if and only if there exist an open

set U in X such that A = Y ∩ U.
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(ii) Figures to the right indicate full marks.

1. Attempt any eight of the following : [16]

(i) Verify that y = cey/x is the general solution of 
2

2
'

y
y

xy x
=

−
,

where c is arbitrary constant.

(ii) Find value of n for which the equation

(x + ye2xy) dx + nxe2xy dy = 0

is exact.

(iii) Find the differential equation for orthogonal trajectories to family

of all circles passing through (1, 0) and (–1, 0).

(iv) Write general form of nth order linear ordinary differential

equation.

(v) Suppose y1(x) = x is one solution of x2y" + xy' – y = 0.

Find second solution y2 which is linearly independent

with y1.

P.T.O.
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(vi) Find integral curves of :

     2
.

1

dx dy dz

xz y yz x z
= =

− − −

(vii) Find integral of yzdx + 2xzdy – 3xydz = 0.

(viii) Find singular integral of z2(p2 + q2 + 1) = 0 provided

(x – a)2 + (y – b)2 + z2 = 1 is its complete integral.

(ix) Show that :

     P( , ), Q( , )p x y q x y= =

are compatible if

   

(x) Write auxiliary equations to find general integral of :

    ( ) ( ) ( ) 0.x y zy z u z x u x y u− + − + − =

2. (A) Attempt any one of the following : [6]

(i) State and prove principle of superposition for second order

linear ordinary differential equations.

(ii) Explain method of variation of parameters to find general

solution of y" + p(x)y' + q(x) y = r(x).

(B) Attempt any two of the following : [10]

(i) State Bessel’s equation of an order P and find its power

series solution.
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(ii) Solve the differential equation 
1

2 2' (1 )y x

−

= −  in two different

ways. Hence find the power series expansion of sin–1(x)

and prove that :

3 5

1 1 1 1.3 1
.........

6 2 2 2.43.2 5.2

π
= + + +

(iii) Show that, if 

M N

N M

y x

y x

∂ ∂
−

∂ ∂
−

 is function g(u) with u = xy, then

( )g u due∫µ =  is an integrating factor of Mdx + Ndy = 0.

3. (A) Attempt any two of the following : [8]

(i) If a2b1 > 0, then show that the system

1 1 2 2,
dx dy

a x b y a x b y
dt dt

= + = +  has two real valued linearly

independent solutions of the form x = Aemt, y = Bemt.

However the converse is not true.

(ii) Find general solution of y" + 3y' – 10y = 6e4x by using

method of undetermined coefficients.

(iii) Obtain differential equation for a current I for an electrical

circuit as shown in Figure :

I R

E

QC

L
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(B) Attempt any two of the following : [8]

(i) Explain the method to find integral of Pdx + Qdy +

Rdz = 0 with P, Q, R continuously differentiable functions

and homogeneous in x, y, z of same degree.

(ii) Find the general solution of the equation

     2 2 32 ( ) (2 )x y z p y y z q z+ + + =

and deduce that yz(z2 + yz – 2y) = x2 is a

solution.

(iii) Find a complete integral of :

 2 2 2 2( ) ( ).pqz p xq p q yp q= + + +

4. (A) Attempt any one of the following : [6]

(i) Explain the method of finding integral curves for :

.
P( , ) Q( , ) R( )

dx dy dz

x y x y z
= =

(ii) Prove that Pdx + Qdy + Rdz = 0 is integrable iff X . curl X = 0,
→ →

where X = (P, Q, R).
→

(B) Attempt any two of the following : [10]

(i) (a) Find equations of the system of curves on the cylinder

2y = x2 orthogonal to its intersections with hyperboloids

of the one parameter system xy = z + c.

(b) Find complete integral of z2 = pqxy.
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(ii) (a) Find integral of :

       (1 ) ( ) (1 ) 0yz dx x z x dy xy dz+ + − − + =

if exist.

(b) Find general integral of :

         

2 2 ( )
z z

x y x y z
x y

∂ ∂
+ = +

∂ ∂

Sketch the generators of members of general

integral.

(iii) Show that z = px + qy is compatible with any equation

f(x, y, z, p, q) = 0 that is homogeneous in x, y, z.

5. (A) Attempt any one of the following : [6]

(i) Explain Jacobi’s method for finding complete integral of

f(x1, x2, ........ xn, u1, ........... un) = 0,

where ui = 
i

u

x

∂

∂  ∀  i = 1, 2 ....... n.

(ii) Explain the method of finding complete integral of the

following partial differential equations :

(a) f(p, q, z) = 0

(b) f(p, q) = 0.

(B) Attempt any two of the following : [10]

(i) Find integral surface of the equation :

2(2 1) ( 2 ) 2( )xy p z x q x yz− + − = −

passing through x0(s) = 1, y0(s) = 0, z0(s) = 3.
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(ii) Find the complete integral of

     (1 ) ( )xp q y z q+ = +

corresponding to that integral of Charpit’s equations which

involve only q and x and deduce that (z + hx + k)2 =

4hx(k – y) is also a complete integral.

(iii) Let f1, f2, f3 are homogeneous functions of same degree

and xf1 + yf2 + zf3 = 0, show that f1dx + f2dy +

f3dz = 0 is integrable.
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1. Answer any two of the following questions in 50 words each : [10]

(1) What is the teleological approach to the universe ?

(2) Explain the notions of material and formal cause.

(3) State the main features of Auguste Comte’s Positivism.

(4) What is Methodological Individualism ?

2. Write short notes on any four of the following in 100 words each : [20]

(1) Instrumentalism.

(2) Probabilistic model of explanation.

(3) Testability as the condition of acceptability of scientific

hypothesis.

(4) Historical explanation.

(5) Basic features of Social Action.

(6) Concept of value neutrality.

P.T.O.

Seat

No.
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3. Answer any three of the following questions in 200 to 250 words each : [30]

(1) Discuss the nature of the subject matter of social sciences.

(2) Discuss Hume’s theory of Causation.

(3) Discuss the basic features of scientific law.

(4) Explain the Realist views about cognitive status of theories.

(5) Explain the Deductive-Nomological model of explanation.

4. Answer any one of the  following questions in 500 words : [20]

(1) What is the difference between science and common sense ?

Discuss elaborately.

(2) Discuss in detail the critique of the positivistic account of social

sciences.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ iz'u lksMfo.ks vko';d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth iz'uif=dkgh igkoh-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk % [10]

(1) foðoklaca/khpk iz;kstuew«d n`"Vhdksu Eg.kts dk; \

(2) miknku dkj.k o vkdkfjd dkj.k gÓk ladYiuk Li"V djk-

(3) vkWxLV dkWEVs ;kaP;k izR;{kkFkZoknkph oSfðk"VÓs Li"V djk-

(4) iºrhðkkL=h; O;fDrokn Eg.kts dk; \
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2. [kk«h«iSdh dks.kR;kgh pkjkoj izR;sdh 100 ðkCnkar fVi.k f«gk % [20]

(1) lk/kuokn

(2) Li"Vhdj.kkps ^laHkkO;rk* Lo:i

(3) ijh{k.k{kerk % oSKkfud vH;qixekP;k Lohdk;Zrsph ,d vV

(4) ,sfrgkfld Li"Vhdj.k

(5) lkekftd œrhps ew«Hkwr xq.k/keZ]

(6) ewY; fujis{krk-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar nÓk % [30]

(1) lkekftd foKkukP;k vH;klfo"k;kps Lo:i Li"V djk-

(2) ·qeP;k dkj.krklaca/khP;k fopkjkaph ppkZ djk-

(3) lkekftd foKkukrh« fu;ekaps ew«Hkwr xq.k/keZ Li"V djk-

(4) miiŸkhaP;k cks/kulaca/kh ntkZcÌ«ph okLrooknh Hkwfedk Li"V djk-

(5) oSKkfud Li"Vhdj.kkps fuxeukRed izk:i Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar nÓk % [20]

(1) foKku vkf.k lkekU; /kkj.kk ;kae/kh« Hksnkaph foLr`r ppkZ djk-

(2) lkekftd foKkukP;k izR;{kkFkZoknh foospukojh« Hkk";kph foLr`r ppkZ djk-
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(ii) All questions are compulsory.
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Group A (G-3) : Work, Industry and Society

1. Answer any two of the following questions in maximum 50 words

each : [10]

(1) Meaning of work.

(2) Flexibility in post-Fordist production.

(3) Problems of labour in informal sector.

(4) Job insecurity in contemporary India.

P.T.O.
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2. Write short notes on any four of the following in maximum 100

words each : [20]

(1) Problems of Bureaucracy.

(2) Japanese Model.

(3) Work related stress.

(4) Unemployment in contemporary India.

(5) Problems of migrant labour.

(6) Give the meaning of informal/unorganized sector.

3. Answer any three of the following in maximum 250 words each : [30]

(1) Discuss the nature of work in post-Industrial society.

(2) Discuss the features of factory system of production.

(3) Explain the features of scientific management.

(4) Discuss the present challenges faced by Trade Unions.

(5) Describe the problems of informal/unorganised sector.

4. Answer any one of the following in maximum 500 words : [20]

(1) Describe the impact of Information Age on social institutions.

(2) Discuss the effects of India’s New Economic Policy, 1991 on

workers in formal sector.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) xV ^v* fdaok xV ^c* lksMok-

(ii) loZ izðu lksMfo.ks vkoð;d vkgsr-

(iii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

(xV ^v*)

1. [kk«h«iSdh dks.kR;kgh nksgksaph izR;sdh dek« 50 ðkCnkar mŸkjs f«gk % [10]

(1) dkekpk vFkZ-

(2) mŸkj&QksfMZLV mRiknukrh« «ofpdrk-

(3) vukSipkfjd {ks=krh« JfedkaP;k leL;k-

(4) ledk«hu Hkkjrkrh« dkekrh« vlqjf{krrk-

2. [kk«h«iSdh dks.kR;kgh pkjoj izR;sdh dek« 100 ðkCnkar fVik f«gk % [20]

(1) uksdjðkkghP;k leL;k-

(2) tikuh izk:i-

(3) dkeklaca/kh rk.k-

(4) ledk«hu Hkkjrkrh« csdkjhph leL;k-

(5) LFk«karfjr dkexkjkaP;k leL;k-

(6) vukSipkfjd {ks=kpk vFkZ |k-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph izR;sdh dek« 250 ðkCnkar mŸkjs fygk % [30]

(1) mŸkj&vkS|ksfxd lektkrh« dkekP;k Lo:ikph ppkZ djk-

(2) dkj[kkuk mRiknu iºrhP;k oSfðk"VÓkaph ppkZ djk-
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(3) ðkkL=h; O;oLFkkiukph oSfðk"VÓs Li"V djk-

(4) dkexkj la?kVukaleksjh« l| vkOgkukph ppkZ djk-

(5) vla?kfVr@vukSipkfjd {ks=kP;k leL;kaps o.kZu djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps dek« 500 ðkCnkar mŸkj f«gk % [20]

(1) ekfgrh ;qxkP;k lkekftd laLFkkaojh« izHkkokps o.kZu djk-

(2) HkkjrkP;k uohu vkfFkZd /kksj.kkP;k (1991) la?kfVr {ks=krh« dkexkjkaojh« ifj.kkeakph

ppkZ djk-
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[4101]-369

OR

(Group B) G-3 : Crime and Society

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in maximum 50 words

each : [10]

(1) Concept of Crime.

(2) Role of Victim.

(3) Any two types of crime.

(4) White-collar crime.

2. Write short notes on any four of the following questions in maximum

100 words each : [20]

(1) Theory of anomie.

(2) Cyber crime.

(3) Prevention of crime.

(4) Criminalization of politics.

(5) Crime against castes.

(6) Organised crime.
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3. Answer any three of the following questions in maximum 250 words

each : [30]

(1) Explain violence against women.

(2) Discuss Sutherland’s theory of crime.

(3) Explain the environmental crimes.

(4) Explain Rehabilitation of prisoners.

(5) Discuss the features and limitations of demonological theory

of crime.

4. Answer any one of the following questions in maximum 500

words : [20]

(1) Explain the problem of juvenile delinquency.

(2) Write an essay on Terrorism.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vfuok;Z vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

(xV ^c*)

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs 50 ðkCnki;±r f«gk % [10]

(1) xqUgÓkaph ladYiuk-

(2) cˇhph Hkwfedk-

(3) xqUgÓkaps dks.krsgh nksu izdkj-

(4) ika<jisðkk xqUgsxkjh-
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2. [kk«h«iSdh dks.kR;kgh pkjkaoj 100 ðkCnkar fVik f«gk % [20]

(1) izek.kdðkqU;rspk flºkar

(2) lax.kdh; xqUgs

(3) xqUgkizfrca/k

(4) jktdkj.kkps xqUgsxkjhdj.k

(5) tkrh fo#ºps xqUgs

(6) la?kVhr xqUgsxkjh-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs dek« 250 ðkCnkar f«gk % [30]

(1) fL=;kafo#ºps xqUgs Li"V djk-

(2) lnj«°MP;k xqUgk flºkarkoj ppkZ djk-

(3) xqUgÓkaP;k i;kZoj.kkRed flºkarkps o.kZu djk-

(4) xqUgsxkjkaps iquoZluµLi"V djk-

(5) xqUgÓkP;k fiðkkP;oknh flºkarkph oSfðk"B o e;kZnkaph ppkZ djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps dek« 500 ðkCnkar mŸkjs |k % [20]

(1) ck«xqUgsxkjhph leL;k Li"V djk-

(2) ngðkroknkoj fuca/k f«gk-
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(ii) Figures to the right indicate full marks.

1. Answer any two of the following in maximum 50 words each : [10]

(i) Histogram

(ii) Positivism

(iii) Ethnography

(iv) Review of literature.

2. Write short notes on any four of the following in maximum 100

words each : [20]

(i) Meaning and definition of content analysis

(ii) Secondary sources

P.T.O.
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(iii) Significance of social research

(iv) Coding

(v) Types of research design

(vi) Objectivity in social research.

3. Answer any three of the following in maximum 250 words each : [30]

(i) Describe the advantages and limitations of case study

method.

(ii) Explain the salient features of research report.

(iii) Describe the importance of hypothesis.

(iv) Explain the meaning and types of observation technique.

(v) Describe the uses and importance of computer in social

research.

4. Answer any one of the following in maximum 500 words : [20]

(i) Describe the meaning, merits and demerits of survey

method.

(ii) What is Questionnaire ? Discuss the advantages and disadvantages

of questionnaire technique.



[4101]-370 3 P.T.O.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksgksaoj izR;sdh dek« 50 ðkCnkai;±r f«gk % [10]

(i) LraHkk«s[k

(ii) izR;{kokn

(iii) laLœrho.kZu@«ksdk«s[k

(iv) lanHkZ lkfgR;kpk vk<kok-

2. [kk«h«iSdh dks.kR;kgh pkjoj izR;sdh dek« 100 ðkCnkai;±r FkksMD;kr Vhik

f«gk % [20]

(i) vkðk; foð«s"k.kkpk vFkZ o O;k[;k

(ii) nq∏;e lzksr

(iii) lkekftd laðkks/kukps egRo

(iv) ladsrhdj.k

(v) laðkks/ku vkjk[kMÓkps izdkj

(vi) lkekftd laðkks/kukrh« oLrqfu"Brk-
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3. [kk«h«iSdh dks.kR;kgh rhu izðukaph izR;sdh dek« 250 ðkCnkai;±r mŸkjs f«gk % [30]

(i) O;"Vh v/;;u iºrhP;k xq.kkaps o e;kZnkaps o.kZu djk-

(ii) laðkks/ku vgok«kph izeq[k oSfðk"VÓs Li"V djk-

(iii) x`ghrœR;kps egRo foðkn djk-

(iv) fujh{k.k ra=kpk vFkZ o izdkj Li"V djk-

(v) lkekftd laðkks/kukr lax.kdkps mi;ksx o egRokps o.kZu djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj dek« 500 ðkCnkai;±r f«gk % [20]

(i) losZ{k.k iºrhpk vFkZ] xq.k o nks"kkaps o.kZu djk-

(ii) izðuko«h Eg.kts dk; \ izðuko«h ra=kP;k Qk;|kaph o rksVÓkaph ppkZ

djk-
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[4101]-371

T.Y. B.A. EXAMINATION, 2012

SOCIOLOGY (S-4)

(Indian Society : Continuity and Change)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following in maximum 50 words each : [10]

(1) Contribution of British Colonialism.

(2) Regionalism.

(3) Migration to cities;

(4) Changing nature of religion

2. Write short notes on any four of the following in maximum 100

words each : [20]

(1) Impact of modernization an Indian Society.

(2) Civil society initiatives for unity of Indian Society.

P.T.O.

Seat

No.
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(3) Effects of Green Revolution.

(4) Problems of Urban Society.

(5) Caste in rural India.

(6) Changing  nature of marriage.

3. Answer any three of the following in maximum 250 words each : [30]

(1) Discuss the contribution of Indus valley civilization to the making

of Indian Society.

(2) Explain Language as a challenge to the unity of India.

(3) Examine the changing nature of Tribal society.

(4) Discuss the issues related to education in contemporary

India.

(5) Describe the changing nature of family in contemporary

society.

4. Answer any one of the following in maximum 500 words : [20]

(1) Examine the role of democracy and secularism in the direction

of nation building.

(2) Explain the impact of globalization on Indian agriculture.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksgksaoj izR;sdh 50 ðkCnki;±r mŸkjs f«gk % [10]

(1) fczVhðk olkgroknkps ;ksxnkuA

(2) izkaroknA

(3) ðkgjkdMh« LFk«karjA

(4) /kekZps cn«rs Lo:iA

2. [kk«h«iSdh dks.kR;kgh pkjoj izR;sdh 100 ðkCnki;±r fVik f«gk % [20]

(1) Hkkjrh; lektkojh« vk/kqfudhdj.kkpk ifj.kkeA

(2) Hkkjrh; lektkP;k ,dkRerslkBh ukxjh lektkpk iq<kdkjA

(3) gfjrÿkarhps ifj.kkeA

(4) ðkgjh lektkP;k leL;kA

(5) xzkeh.k Hkkjrkrh« tkrhA

(6) fookgkps cn«rs Lo:iA

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 250 ðkCnki;±r f«gk % [30]

(1) Hkkjrh; lektkP;k tM.k?kM.khrh« fla/kw laLœrhP;k ;ksxnkukph ppkZ djk-
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(2) ^^Hkkjrh; ,dkRersiq<s Hkk"kk gs ,d vkOgku vkgs-** Li"V djk-

(3) vkfnoklh lektkP;k cn«Y;k Lo:ikps ewY;ekiu djk-

(4) l|dk«hu Hkkjrkrh« fðk{k.k lacaf/kP;k fofo/k eqÌÓkaph ppkZ djk-

(5) l|dk«hu Hkkjrkrh« dqVqackps cn«rs Lo:i foðkn djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukoj 500 ðkCnki;±r mŸkj f«gk % [20]

(1) jk"V™cka/k.khP;k lanHkkZr «ksdðkkgh vkf.k /keZfujis{krk ;kaP;k Hkwfedsps ifj{k.k

djk-

(2) HkkjrkP;k œ"kh {ks=kojh« tkxfrdhdj.kkpk izHkko Li"V djk-
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T.Y. B.A. EXAMINATION, 2012

MATHEMATICS

(Mathematical Prerequisites)
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Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of calculator is allowed.

1. Attempt any ten of the following : [20]

(i) Convert the inequality 3 5x y+ ≥  into equation.

(ii) Find eigenvalues of matrix :

2 5
A

0 6

− 
=  
 

.

(iii) Find 2A – B, where [ ]A 1 1= −  and [ ]B 7 0= .

(iv) Define singular matrix.

(v) Write transpose of :

1 2 3
A

0 1 8

 
=  − 

.

P.T.O.
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(vi) Find A·B if :

1 0
A

0 1

 
=  
 

 and 
4 5

B
6 7

 
=  
 

.

(vii) Define Hessian for ( , )z f x y= .

(viii) Find det (4 A), where :

A

.

(ix) Determine whether :

2 6
A

1 3

 
=  
 

is invertible.

(x) Define null matrix.

(xi) Find 2A + 3B if :

[ ]A 1 2 3= , [ ]B 0 2 4= .

(xii) Write advantages of dual L.P.P.

(xiii) Is AB = BA, where :

0 0
A

1 2

 
=  
 

, 
3 4

B
0 0

 
=  
 

.

2. Attempt any two of the following : [10]

(i) Find determinant of :

15 7 9

A 2 5 6

9 0 12

 
 =  
  

,

using Laplace expansion along second column.
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(ii) Determine whether :

2 2
1 1 2 23 4 4y x x x x= − + −

is positive or negative definite using discriminant.

(iii) Write dual of the following L.P.P. :

Minimise  Z = 1 2 336 30 40x x x+ +

Subject to    

1 2 32 5 8 40x x x+ + ≥

     

1 2 36 3 2 50x x x+ + ≥

         

1 2 3, , 0x x x ≥

.

3. Attempt any two of the following : [20]

(i) Solve the following L.P.P. by Simplex method :

Maximise  Z = 1 23 4y y+

Subject to  

1 22.5 20y y+ ≤

, 

1 22 16y y+ ≤

         

1 23 3 30y y+ ≤

,   

1 2, 0y y ≥

(ii) Use eigenvalues to determine sign definiteness for :

4 6 3

A 0 2 5

0 1 3

 
 =  
  

.

(iii) Optimise :

2 2 2
1 1 1 3 2 2 2 3 35 10 2 4 2 4y x x x x x x x x x= − + + − + + −

using Hessian for the second order.
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4. Attempt any two of the following : [30]

(i) (a) Find inverse of :

4 2 5

A 3 1 8

9 6 7

 
 =  
  

by adjoint method.

(b) Solve :

1 2 1 26 5 49, 3 4 32x x x x+ = + =

by Cramer’s rule.

(ii) Maximise the utility 

u xy

 subject to budget condition

3 4 90

.

(iii) Solve by Simplex method :

Minimise   Z = 
36 40 28

Subject to     

6 5 2 5

      

2 5 4 3

          

x x x

.
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T.Y. B.A. EXAMINATION, 2012

STATISTICS

(General—III)

(Design of Experiments and Operations Research)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of calculator and statistical tables is allowed.

(iv) Notations and symbols have their usual meanings.

1. Attempt any two of the following : [5 each]

(a) (i) Define a slack and a surplus variable in Linear

Programming Problem (L.P.P.).

(ii) Explain the principle of local control in design of

experiments.

(b) (i) Explain the term treatment with an illustration.

(ii) Describe a transportation problem and explain how it is

a special case of L.P.P.
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(c) (i) State standard form of a L.P.P.

(ii) State linear mathematical model of a Latin Square Design

(L.S.D.).

(d) (i) Define relative efficiency of a design D1 with respect

to a design D2. Also give its interpretation.

(ii) State all assumptions in dealing with a sequencing

problem.

2. Attempt any four of the following : [5 each]

(a) Cashewco has two grades of Cashew nuts : Grade I—750 kg

and Grade II—1200 kg. These are to be mixed in two

types of packages of one kg each — economy and special.

The economy pack consists of grade I and grade II cashews

in the proportion 1 : 3, while the special combines the two

in equal proportion. The profit margin on the economy and

special packs is Rs. 10 and Rs. 16 per pack respectively. Formulate

this as a L.P.P.

(b) Write a note on ‘Replication’ in design of experiments.



[4101]-373 3 P.T.O.

(c) Write the dual of the following L.P.P. :

Maximize : Z = 3x1 + 17x2 + 9x3

Subject to the constraints :

3x1 – 2x2 + 4x3 ≥ 3

–2x1 + 3x2 ≤ 5

x1, x2, x3 ≥ 0.

(d) State the mathematical model for analysis of covariance in

R.B.D. Also state the estimates of parameters in it.

(e) Describe layout and model for a split plot design.

(f) A machine operator has to perform three operations turning,

threading and kurling on a number of different jobs. The time

required to perform these operations (in minutes) for each

job is known and is given below. Find a sequence that minimizes

the total time required (T) to turn out all the jobs. Also find

the value of T :

Job →→→→→ 1 2 3 4 5 6

Machines

  ↓↓↓↓↓

Turning 3 12 5 2 9 11

Threading 8 6 4 6 3 1

Kurling 13 14 9 12 8 13
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3. Attempt any three of the following :

(a) Obtain initial basic feasible solution (IBFS) by Vogel’s

Approximation Method (VAM) and check its optimality for the

following T.P. : [10]

Factory Warehouse Availability

W1 W2 W3 W4

F1 20 16 22 14 20

F2 18 24 28 12 40

F3 16 18 24 20 35

Requirement 16 18 31 30

(b) (i) Obtain an expression for efficiency of L.S.D. over

R.B.D. if columns are used as blocks. Also state your

assumptions. [5]

(ii) Solve the following L.P.P. graphically : [5]

Maximize : Z = 200x1 + 100x2

Subject to : 150x1 + 60x2 ≤ 30000

50x1 + 40x2 ≤ 13000

10x1 + 20x2 ≤ 5000

x1 ≥ 0, x2 ≥ 0.
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(c) (i) Describe mathematical model and hypotheses to be tested

in ANOVA of R.B.D. with assumptions. Also state estimates

of parameters. [5]

(ii) ABC Company is engaged in manufacturing five brands

of packed snacks. It is having five manufacturing set

ups, each capable of manufacturing any of its brands one

at a time. The cost to make a brand on these set ups

is given below :

Brand Set ups

S1 S2 S3 S4 S5

B1 8 12 14 10 22

B2 14 6 12 18 10

B3 16 10 8 12 18

B4 18 24 14 22 20

B5 14 10 18 16 22

Find the optimum assignment of products on these set

ups. Also find optimum cost. [5]

(d) Define main effects and interaction effects in factorial experi-

ment. Obtain their mathematical expression in 23 factorial

experiment for a main effect, a two-factor interaction effect

and a three-factor interaction effect. [10]
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(e) (i) Identify the confounded effects in each of the replication

of an experiment given below. Also state ANOVA table

for this experiment : [6]

Replications             Blocks

1 2

I (b) (1) (abc) (ac) (bc) (a) (ab) (c)

II (a) (bc) (abc) (1) (b) (c) (ab) (ac)

III (a) (b) (c) (abc) (1) (ab) (ac) (bc)

IV (a) (b) (ac) (bc) (1) (c) (abc) (ab)

(ii) Describe the procedure for testing the equality of two

specified treatment effects in R.B.D. [4]

4. Attempt any one of the following :

(a) (i) Solve the following L.P.P. by Simplex method : [10]

Maximize : Z = 4000x1 + 2000x2 + 5000x3

Subject to : 12x1 + 7x2 + 9x3 ≤ 1260

22x1 + 18x2 + 16x3 ≤ 19008

2x1 + 4x2 + 3x3 ≤ 396

x1, x2, x3 ≥ 0.

(ii) When and why is analysis of covariance technique

recommended ? Also describe the technique of ANACOVA

in C.R.D. [10]
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(b) (i) State the hypotheses to be tested in L.S.D. Obtain the

expected value of error mean sum of squares in it. [10]

(ii) Obtain an IBFS and corresponding cost of transporting

by using North-West Corner Method for the following

T.P. : [5]

Warehouse Market Supply

I II III IV

A 5 2 4 3 22

B 4 8 1 6 15

C 4 6 7 5 8

Requirement 7 12 17 9

(iii) What is meant by unbalanced T.P. ? How will you convert

it into a balanced T.P. ? [5]
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T.Y. B.A. EXAMINATION, 2012

STATISTICS (Special–III)

(Distribution Theory)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Symbols and abbreviations have usual meanings.

(iv) Use of calculator and statistical table is allowed.

(v) Graph paper will be provided on request.

1. Attempt any two of the following : [5 each]

(a) If 2X ( , )m n� � , find its mean and variance.

(b) State and prove Chebyshev’s inequality for continuous random

variable.

(c) If X L (µ, )� � , then find its quartile deviation.

(d) If X LN (0, 0, 1),�  find P[|X| > 1].

P.T.O.
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2. Attempt any four of the following : [5 each]

(a) Obtain the harmonic mean for the beta distribution of first

kind with parameters (m, n).

(b) Let X �  W (�, �). Obtain the distribution function (d.f.) of

X. Hence find median of X.

(c) Describe Gambler’s ruin problem.

(d) Let X �  C (0, 1). Obtain the distribution of 
1

Y =
X

.

(e) Let X(1), X(2), X(3), X(4) be an order statistics of a random

sample of size 4 from U (0, 1). Find :

(2)
1 2

P X
3 3

� �� �� 	
 �

(f) If X �  B (120, 0.25), find approximately :

P [30 X 42]� �

by using C.L.T.

3. Attempt any three of the following : [10 each]

(a) Let :

(X, Y) �  BN (µ1, µ2, 2 2
1 2, , )� � 
 ,

then obtain the distribution of :

X
Z = .

Y
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(b) Let X follows Poisson distribution with parameter (m). Obtain

distribution of X truncated by discarding the value X = 0.

Also find mean and variance of the resulting truncated Poisson

distribution.

(c) If :

1 1X (1, 1) and Y (1, 1)� � � �

are independent r.v., then obtain the distribution of

U = (X  – Y).

(d) State and prove Central Limit Theorem (CLT) for i.i.d. r.v.s.

based on m.g.f.

(e) Let X1, X2, X3, ...........Xk have multinomial distribution with

parameters :

1 2 3( ; , , .... ), 0 1..k in p p p p p i k� � � 1.ip ��

Find the Corr (Xi, Xj) . , , 1, 2, ...i j i j k� �

4. Attempt any one of the following :

(a) (i) Obtain the distribution of difference between two i.i.d

exponential variates with mean (�) and hence identify its

distribution. [7]
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(ii) If X �  C (µ, �), then find its distribution function F(x).

Hence find lower and upper quartiles of X. [7]

(iii) Let (X, Y) �  BN (5, 3, 12, 32, 0.25).

Find P(Y 3/ X 5)� �  and P(X 1/ Y 3)� � [6]

(b) (i) Let X �  LN (a, µ, �2) distribution. Find the rth moment

about X – a). Hence find its mean. [7]

(ii) Find mean deviation about mean of L(0, 1). [7]

(iii) Define the following terms :

(1) Finite Markov chain

(2) Stationary transition probability

(3) Stochastic matrix P. [6]
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T.Y. B.A. EXAMINATION, 2012

APPLIED MATHEMATICS

AMG 3 : Real Analysis and Lebesgue Integration

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any eight of the following : [16]

(i) Show by an example that a divergent sequence may have a

convergent subsequence.

(ii) Give an example of a series :

1

n

n

a

∞

=
∑

such that (a1 + a2) + (a3 + a4) + (a5 + a6) + ......... is

convergent but a1 + a2 + a3 + a4 + ......... is divergent.

(iii) Does the series :

1 1 1 1 1
1 .........

2 3 4 5 6
− + − + − +

converge ? Justify.
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(iv) Let f be a function defined by :

f(x) = 1, if x is a rational in [0, 1]

= 0, if x is irrational in [0, 1]

Does f ∈ R[0, 1] ? Justify.

(v) Prove or disprove :

If f ∈ R[a, b] and if f(x) = g(x) except for a countable number

of points x ∈ [a, b], then g ∈ R[a, b].

(vi) True or False ? If G is an open subset of [a, b] and

|G| = 0, then G = φ. Justify.

(vii) Give an example of an uncountable set of measure zero.

(viii) Let E1, E2 ⊂ [a, b]. If m(E1 – E2) = 0 and E1 ∪ E2 is

a measurable set. Prove that E1 is a measurable set.

(ix) Find 5f if

( ) 1
, 0 1

4
f x x

x
= < ≤

and f(0) = 0.

(x) Find f+, if

( ) 1
sin , 0 2 .

2
f x x x= + ≤ ≤ π
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2. (A) Attempt any one of the following : [6]

(i) If

1

n

n

a

∞

=
∑

is series of non-zero real numbers and if

1
A lim sup ,

n

n
n

a

a

+

→ ∞
=

then prove that :

1

n

n

a

∞

=

< ∞∑
provided A < 1.

(ii) State Cauchy condensation test for convergence of series

of real numbers and use it to test the convergence of

( )24

1
.

logn n n

∞

=
∑

(B) Attempt any two of the following : [10]

(i) If f is a continuous function on a closed and bounded

interval [a, b] and φ′(x) = f(x) (a ≤ x ≤ b), then prove

that :

( ) ( ) ( ).
b

a

f x dx b a= φ − φ∫
(ii) Prove that :

2 2

2 2
0

; .
2 2

cos sin
2 2

x dx
a b

x xa b
a b

π
π π

≤ ≤ >
+

∫
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(iii) If { }
1n n

s
∞

=
 is a convergent sequence of real numbers,

then prove that :

lim inf lim .
n n

n n
s s

→ ∞ → ∞
=

3. (A) Attempt any two of the following : [8]

(i) Discuss the uniform convergence of :

( )
1

0 10 .nx n

n

e x x

∞
−

=

≤ ≤∑

(ii) Test the convergence of :

1

.
!

n

n

n

n

∞

=
∑

(iii) Prove that the sequence :

1

1
1

n

n
n

∞

=

   +     

is convergent.

(B) Attempt any two of the following : [8]

(i) If E ⊆ [a, b] and E is measurable, then prove that :

E E .m m b a+ ≤ −′

(ii) If

   f(x) = 

1

x

  (0 < x < 1), f(0) = 4, f(1) = 7,

prove that f is measurable.
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(iii) If f and g are measurable functions on [a, b], then show

that f + g is a measurable function on [a, b].

4. (A) Attempt any one of the following : [6]

(i) If G1 and G2 are open subsets of [a, b], prove

that :

|G1| + |G2| = |G1 ∪ G2| + |G1 ∩ G2|.

(ii) Let E be a subset of [a, b]. Show that E is a

measurable set if and only if given ∈ > 0, there exists

a closed set F ⊂ E and open set G ⊃ E such that

|G| – |F| < ∈.

(B) Attempt any two of the following : [10]

(i) If f is a measurable function on [a, b], then prove

that the inverse image under f of any interval is a

measurable set.

(ii) If I1, I2, I3, ........, Ik are open subintervals of [a, b],

prove that :

|I1 ∪ I2 ∪ I3 ∪ ....... ∪ Ik| ≤

|I1| + |I2| + |I3| + ......... + |Ik|.
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(iii) If E1, E2, ........ are measurable subsets of [a, b] and

if E1 ⊂ E2 ⊂ E3 ⊂ ......., then prove that :

1

E
n

n

∞

=
U

is measurable and :

( )
1

E lim E .
n n

n
n

m m

∞

→ ∞
=

 
  =
  
U

5. (A) Attempt any one of the following : [6]

(i) Let f be a measurable function on [a, b]. Prove that

f ∈ L[a, b] if and only if |f| ∈ L[a, b]. Moreover, if

f ∈ L[a, b], prove that :

| |.

b b

a a

f f≤∫ ∫
(ii) Show that the subset E of [a, b] is measurable if

and only if its characteristic function ψE is measurable

on [a, b].

(B) Attempt any two of the following : [10]

(i) If

f(x) = 
1

x
, 0 < x ≤ 1

= 2012, at x = 0,

prove that f(x) is not Lebesgue integrable on [0, 1].
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(ii) If E1 and E2 are measurable subsets of [a, b], prove

that the symmetric difference of E1 and E2 is also

measurable.

(iii) Let E be a measurable subset of [a, b], prove that :

( ) ( )A A  E A  Em m m= ∩ + ∩ ′

for every subset A on [a, b].



Total No. of Questions—4] [Total No. of Printed Pages—8

Seat
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T.Y. B.A. EXAMINATION, 2012

APPLIED STATISTICS (General-III)

(Applications of Statistics)
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Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of calculator and statistical table is allowed.

(iv) Notations and abbreviations have their usual meanings.

1. Attempt any two of the following : [5 each]

(a) Define distribution function of continuous type r.v. Further state

any three properties of distribution function of continuous type r.v.

(b) A soft drink machine is regulated so that it discharges an

average of 200 milliliters per cup. If the amount of drink is

normally distributed with the standard deviation equal to 15

milliliters :

(i) What fraction of the cups will contain more than 224

milliliters ?

(ii) What is the probability that a cup contains between 191

and 209 milliliters ?

P.T.O.
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(c) Define normal distribution. Further state any two properties

of it. Let X → N (0, σ2). Find P (–3σ < X < 3σ).

(d) Describe the procedure to test 2 2
0 1 2H : σ = σ  against 2 2

1 1 2H : σ < σ .

2. Attempt any four of the following : [5 each]

(a) A sample poll of 300 voters from district A and 200 voters

from district B showed that 56% and 48% respectively, were

in favour of a given candidate. At 5% level of significance

(l.o.s.), test the hypothesis that there is a difference between

the districts with respect to voting.

(b) Explain t-test for testing 0 0H : µ = µ  against 

H :

.

(c) Explain concept of analysis of variance.

(d) Explain the following terms used in testing of hypotheses :

Hypothesis, critical region, level of significance.

(e) Aflatoxins produced by mold on peanut crops in Virginia must

be monitored. A sample of 64 batches of peanuts reveals levels

of 24.17 ppm, on average, with a variance of 4.25 ppm2. Test

the hypotheses that 

H : 4.2

 against 2
1H : 4.2σ ≠ . Use

1% level of significance.

(f) Describe the procedure of construction of C chart when standards

are not given.
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3. Attempt any three of the following :

(a) (i) Explain the terms ‘high spots’ and ‘low spots’ used in

P-charts. [4]

(ii) An industrial safety program was recently instituted in

the computer-chip industry. The average weekly loss in

man-hours due to accidents in 10 similar plants both before

and after the program are as follows : [6]

Plant Before After

1 30.5 23

2 18.5 21

3 24.5 22

4 32 28.5

5 16 14.5

6 15 15.5

7 23.5 24.5

8 25.5 21

9 28 23.5

10 18 16.5

Determine, at 5% level of significance, whether the safety

program has been proven to be effective.
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(b) (i) A college administrator claims that there is no difference

in first year grade point averages for students entering

the college from any of the three different city high schools.

The following data give the first year grade point averages

of 12 randomly chosen students, 4 from each of the three

high schools :

School 1 : 3.2  3.4  3.3  3.5

School 2 : 3.4  3.0  3.7  3.3

School 3 : 2.8  2.6  3.0  2.7

Carry out completely one way classification. Test the claim

of administrator at 5% level of significance. [7]

(ii) State the distinction between a parametric and non-parametric

problem. [3]

(c) Given below are the values of sample mean ( )X  and the range

(R) for ten samples of size 5 each : [10]

Sample Number Range (R) Mean ( )X

1 12 30

2 13 29
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3 12 25

4 14 30

5 14 31

6 11 25

7 15 29

8 13 26

9 11 30

10 13 28

Set up X  and R-charts, examine the state of control of the

given process. Comment on your results.

(d) (i) Explain in brief the meaning and purpose of statistical

quality control. [5]

(ii) State the mathematical model used in two-way classification

of analysis of variance and explain the terms used in it.

Further state the break up of total sum of squares. [5]

(e) (i) Explain non-parametric test for randomness. [5]

(ii) Explain chance causes and assignable causes of variations. [5]
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4. Attempt any one of the following :

(a) (i) A random sample of 100 recorded deaths in a particular

city during the past year showed an average life span

of 71.8 years. Assuming a population standard deviation

of 8.9 years, does this seem to indicate that the mean

life span today is greater than 70 years ? Use 5% level

of significance. [6]

(ii) Complete the following analysis of variance table : [4]

Source of Degrees of Sum of Mean sum F-ratio

variation freedom squares of squares

Treatment 8 120 15 ?

Block 3 80 26.66667 ?

Error 24 ? ?

Total 35 600

(iii) Explain the concept of control limits (3-sigma limits only)

used in control charts. Further state criteria for judging

lack of control. [5]
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(iv) The following data represent the number of hours that

a rechargeable hedge trimmer operates before a recharge

is required :

1.5, 2.2, 0.9, 1.3, 2.0, 1.6, 1.8, 1.5, 2.0, 1.2, 1.7.

Use the sign test to test the hypothesis at 0.05 level

of significance that this particular trimmer operates with

a median of 1.8 hours before requiring a recharge. [5]

(b) (i) A random sample of 200 married men, all retired, were

classified according to education and number of children :

No. of children

Education 0—1 2—3 Over 3

Elementary 14 37 32

Secondary 19 42 17

College 12 17 10

Use 1% l.o.s. and test the hypothesis that the size of

the family is independent of level of education attained

by the father. [6]

(ii) Describe one tailed test procedure of Wilcoxon’s signed

rank test. [4]
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(iii) The following table is obtained from the inspection on

completed units of a product in 20 lots of size 100 each :

Lot No. No. of Defectives

1 3

2 10

3 12

4 7

5 5

6 4

7 5

8 3

9 3

10 4

11 4

12 6

13 7

14 3

15 3

16 4

17 3

18 9

19 5

20 7

Set up an appropriate control chart and comment on the

state of control. [10]



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4101]-377

T.Y. B.A. EXAMINATION, 2012

PHILOSOPHY

G-3 : Aesthetics and Social Philosophy

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each : [10]

(i) Explain the concept of ‘Sublime’.

(ii) Describe the nature of the work of Art.

(iii) “Religion is a set of beliefs, practices and institutions which

men have evolved in various societies.” Explain.

(iv) What is Fundamentalism ?

2. Write short notes on any four of the following in 100 words each : [20]

(i) Tolstoy’s theory of art as communication.

(ii) Notion and classification of Bhavas.

(iii) The mechanistic model of society.

(iv) Nyaya argument for the existence of God.

(v) Concept of Lokdharmi.

(vi) The problem of evil.

P.T.O.
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3. Answer any three of the following questions in 200 to 250 words

each : [30]

(i) Explain the nature of aesthetic experience.

(ii) Explain Marxism as a theory of the society.

(iii) What is Secularism ? Discuss.

(iv) Explain the ontological argument for the existence of God.

(v) Discuss Croce’s theory of Art.

4. Answer any one of the following questions in 500 words : [20]

(i) Explain fully the nature of Aesthetics as a branch of Philosophy.

(ii) Explain and criticize St. Irenaeus’s views on the nature of

evil.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dkgh c?kkoh-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkr |k % [10]

(i) ^mnkŸk* gh ladYiuk Li"V djk-

(ii) d«koLrwps Lo:i lkaxk-

(iii) ^^fofo/k lektkr ekuokauh mRÿkar ds«sY;k Jºk] O;ogkj o laLFkk ;kapk lap

Eg.kts /keZ gks;-** Li"V djk-

(iv) ^ew«rŸookn* Eg.kts dk; \
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2. [kk«h«iSdh dks.kR;kgh pkj Vhik izR;sdh 100 ðkCnkr f«gk % [20]

(i) VkW«LVkW;pk] ^d«k Eg.kts laizs"k.k* gk flºkar-

(ii) ^Hkko* gh ladYiuk o R;kaps oxhZdj.k-

(iii) lektkps ;kaf=drkoknh izfr:i-

(iv) bZðojkP;k vfLrŸokfo"k;hpk uS;kf;dkapk ;qfDrokn-

(v) ^«ksd/kehZ* gh ladYiuk-

(vi) nqfjrkpk izðu-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200&250 ðkCnkr |k % [30]

(i) lkSan;kZuqHkokps Lo:i Li"V djk-

(ii) lektkfo"k;kpk flºkar Eg.kwu ekDlZoknkps Li"Vhdj.k djk-

(iii) /keZfujis{krkokn Eg.kts dk; \ ppkZ djk-

(iv) bZðojkP;k vfLrŸokP;k flºrsfo"k;hpk lŸkkðkkL=h; ;qfDrokn Li"V djk-

(v) ÿkspsP;k d«kfo"k;d flºkarkph ppkZ djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkr |k % [20]

(i) rŸoKkukph ,d ðkk[kk Eg.kwu lkSan;ZðkkL=kps Lo:i Li"V djk-

(ii) lar bfjuk;l ;kaps nqfjrkP;k Lo:ikfo"k;hps fopkj lkaxwu R;koj Vhdk djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4101]-378

T.Y. B.A. EXAMINATION, 2012

PHILOSOPHY

(S-3 : Thinkers and Textual Studies–Indian)
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Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each : [10]

(1) State the nature of Shakti as described in Anubhavamruta.

(2) Explain Dr. Ambedkar’s views on equality.

(3) What does Prof. Barlingay mean by category ?

(4) State Prof. Mohanti’s views on the concept of relativism.

2. Write notes on any four of the following questions in 100 words

each : [20]

(1) Freedom from the known.

(2) Anasaktiyoga.

(3) Dr. Ambedkar’s concept of Dhamma.

P.T.O.
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(4) Prof. Barlingay’s distinction between distinguishables and

separables.

(5) Prof. Mohanti’s thoughts on Universalism

(6) The concept of school as a myth about Indian

Philosophy.

3. Answer any three of the following questions in 250 words each : [30]

(1) State and discuss Dnaneshwara’s refutation of

Ajnana.

(2) State and examine Dr. Ambedkar’s critique of Brahmanism.

(3) Explain Krishnamurti’s views of truth as pathless

land.

(4) State and examine Prof. Mohanti’s views on philosophy.

(5) What are Prof. Dayakrishna’s views about spirituality with reference

to the nature of Indian Philosophy ?

4. Answer any one of the following questions in 500 words : [20]

(1) What according to Prof. Rajendra Prasad is the nature and

place of Moksa in Indian Philosophy ? Discuss.

(2) State the meaning of truth and non-violence. Explain

the interrelationship between them in Gandhiji’s philosophy.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMokosr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dkgh igkoh-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk %  [10]

(1) vuqHkokèrkr o.kZu dsY;kuqlkj ðkDrhps Lo:i lkaxk-

(2) MkW- vkacsMdjkaps lekursfo"k;hps fopkj Li"V djk-

(3) izk- ckjf«axs ;kauk ladYiukdksVh ;k inkus dk; vfHkizsr vkgs \

(4) izk- eksgarh ;kaps lkis{krkokn ;k ladYiusfo"k;hps fopkj lkaxk-

2. [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh 100 ðkCnkar Vhik f«gk % [20]

(1) Kkukiklwu eqDrh

(2) vuklDrh;ksx

(3) MkW- vkacsMdjkaph /kEefo"k;d ladYiuk-

(4) Qjddj.;ktksxs vkf.k v«xdj.;ktksxs ;kar izk- ckjf«axs ;kauh ds«s«k Hksn-

(5) izk- eksgarh ;kaps lkoZf=drsfo"k;hsps fopkj-

(6) Hkkjrh; rRoKkukfo"k;hP;k nðkZuijaijk ladYiusps feFkd-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk % [30]

(1) Kkusðojkauh vKkukps ds«s«s [kaMu lkaxwu R;kph ppkZ djk-
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(2) czk„.koknkph MkW- vkacsMdjkauh ds«s«h leh{kk lkaxwu frps ijh{k.k djk-

(3) lR; Eg.kts ekxZfojfgr Hkweh gk œ".kewrh±pk n`f"Vdksu Li"V djk-

(4) MkW- eksgarh ;kaps rRoKkukfo"k;hps fopkj lkaxwu R;kaps ijh{k.k djk-

(5) Hkkjrh; rRoKkukP;k Lo:ikP;k lanHkkZr v/;kRekfo"k;h izk- n;kœ".k ;kaps fopkj

dk; vkgsr\

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) izk- jktsaÊ izlkn ;kaP;k erkuqlkj Hkkjrh; rŸoKkukr eks{kkps Lo:i vkf.k  LFkku

dk; vkgs \ ppkZ djk-

(2) lR; vkf.k vfgalk ;kapk vFkZ lkaxk- xka/khthaP;k rŸoKkuk«k vuql:u R;k

nksgksae/k«k laca/k Li"V djk-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4101]-379
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N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words

each : [10]

(1) What according to the Ryle is the official doctrine ?

(2) What is epoche ?

(3) Distinguish between active and passive euthanasia.

(4) What according to Wittgenstein is a language game ?

2. Write short notes on any four of the following in 100 words

each : [20]

(1) The concept of rigorous science.

(2) Peirce’s version of pragmatism.

(3) Sartre’s notion of anguish.

(4) Nietzsche’s perspectivism.

(5) Category mistake.

(6) Heidegger’s notion of Alethia.

P.T.O.
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3. Answer any three of the following questions in 200 to 250 words

each : [30]

(1) State and discuss Husserl’s concept of intentionality.

(2) Explain Peirce’s theory of meaning.

(3) What are the main features of Heidegger’s views regarding

causation ?

(4) State and discuss Sullivan’s arguments against euthanasia.

(5) What is the use theory of meaning.

4. Answer any one of the following questions in 500 words : [20]

(1) Elaborately discuss Nietzsche’s doctrine of Will to Power.

(2) Write an elaborate essay on Sartre’s response to charges against

existentialism.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh eqˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk %  [10]

(1) jkbZ« ;kaP;k ers vf/kœr flºkUr Eg.kts dk; \

(2) ,iksds Eg.kts dk; \

(3) lfÿ; vkf.k fuf"ÿ; lqej.kkr Qjd djk-

(4) foV~xsULVkbu ;kaP;k ers ^Hkkf"kd [ksˇ* dk; vkgs \

2. [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh 100 ðkCnkar FkksMD;kr Vhik f«gk % [20]

(1) dkVsdksj foKkukph ladYiuk-
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(2) Q«izkek.;oknkph fivlZ ;kaph ekaM.kh-

(3) lk=Z ;kaph Hk;O;kdqˇrk gh ladYiuk-

(4) fuRðks ;kapk n`"Vhdksu

(5) dksVhizekn

(6) gk;Msxj ;kaph Alethia ph ladYiuk-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk %  [30]

(1) gql«Z ;kaph lfo"k;rk gh ladYiuk lkaxwu frph ppkZ djk-

(2) fivlZ ;kaph vFkZfo"k;d miiŸkh Li"V djk-

(3) gk;Msxj ;kaP;k dkj.krkfo"k;d fopkjkaps eq[; ?kVd dks.krs \

(4) lqej.kkfo#ºps lq«hOgu ;kaps ;qfDrokn lkaxwu R;kaph ppkZ djk-

(5) vFkkZph mi;ksx miiŸkh dk; vkgs \

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkar mŸkjs f«gk % [20]

(1) fuRðksP;k opZLokP;k vkdka{ksP;k flºkUrkph lfoLrj ppkZ djk-

(2) vfLrRooknkP;k fojks/kkrh« vkjksikauk lk=Z ;kauh fn«sY;k izfrlknkoj lfoLrj

fuca/k f«gk-



Total No. of Questions—3] [Total No. of Printed Pages—2

Seat

No. [4101]-382

T.Y. B.A. EXAMINATION, 2012

COMPUTER APPLICATION

Paper V (Vocational)

(2008 PATTERN)

Time : Two Hours Maximum Marks : 40

1. Answer the following questions (any three) : [15]

(a) Explain Water fall model for Web design.

(b) Explain E-market trade cycle.

(c) What is protocol ? Explain TCP/IP, HTTP, FTP.

(d) Differentiate Traditional commerce and E-commerce.

2. Write HTML program for the following (any two) : [10]

(a)   Pune University

Pune     Nagar     Nasik

2000      3000      4000

P.T.O.
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(b) States :

(i) Maharashtra

• Sangli

• Mumbai

• Satara

(ii) Karnataka

• Belgaon

• Hubli

(c) WELCOME

WELCOME

WELCOME

WELCOME

3. Write short notes on (any five) : [15]

(a) Hyperlink in html

(b) Image mapping

(c) Web server

(d) Search engine

(e) Digital signature

(f) Internet commerce.



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—4+1

Seat

No. [4101]-383

T.Y. B.A. EXAMINATION, 2012

FUNCTIONAL ENGLISH (Vocational Course)

Paper V : Introduction to Print Media and

Writing for Mass Media and Key Competency Modules

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

Instructions to the candidates :

(i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. (A) Prepare a news item of about 150 words based on the points

given below : [15]

— The Times of India

— Times News Network

— Mumbai (3 February, 2012)

— New rule makes Railway commuters happy

— Identity Card now must for Air-conditioned coaches.

— I-card, Voter’s card, Passport, PAN card, driving licence,

bank passbook, Adharcard-allowed.

— Efforts made to spread awareness among passengers at

ticket counters.
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— Announcements at Railway stations and notifications in

local papers

— Objective to know the true identity of passengers, security

aspects, and sales of tickets in black.

Or

(B) Read the following ad and identify the type of ad. Comment

on the general structure of the ad and write another headline

for the same ad. [15]
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2. (A) Write a short note in about 60 words on any one of the

following : [05]

(1) Difference between Print Media and Mass Media.

(2) Importance of sound effects while making a radio play.

(3) Significance of selecting topic of relevance while writing

for newspaper.

(B) Attempt any one of the following topics to develop into a radio

talk : [05]

(1) Need for new methods in cultivating land.

(2) Eve-teasing and remedies for it.

3. (A) Attempt any two of the following in about 60 words :[05]

(1) The role of technical writers in presenting information.

(2) Define technical writing and explain the main characteristics

of it.

(3) Technical writing as a career option.

(B) As a technical writing prepare an instructional manual for the

following product. Give five instructions in a logical order for

the prospective customers (any one) : [10]

(1) How to operate a mixer ?

(2) How to drive a car ?
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4. (A) Give Marathi or Hindi words for the English terms given below

(any ten) : [10]

(1) Exhibition

(2) Draft

(3) Journalist

(4) Television

(5) Designation

(6) Publicity

(7) Reporter

(8) Product

(9) Slogan

(10) Official

(11) Reminder

(12) Review.

(B) Translate the following passage into Marathi or Hindi : [10]

Gandhiji was a devout nationalist. At the same time, he was

internationalist par excellence. In a letter to Dr. Julian Huxley

he wrote, “The very right to live accrues to us only when

we do the duty of citizenship of the world.” According to Gandhiji

it is not nationalism that is an evil, it is the narrowness,

selfishness, exclusiveness which is the bane of modern nations

which is an evil. “Indian nationalism wants to organise itself

for the benefit and the service of humanity at large,” he writes.

A country has to be free in order that it may die, if necessary,
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for the benefit of the world. “My idea of nationalism,” observed

Gandhiji spiritedly. “Is that my country may die so that the

human race may live. There is no room for race hatred there.”

Or

Translate the following passage into English : [10]

vjsfc;kpk cjkplk Hkkx okˇoaVkpk vkgs- ;k Hkkxkr okˇw vkf.k [kMd

;k[ksjht dkgh ukgh- fnolk okˇw brdh xje vlrs dh] vuok.kh ik;kauh

vi.k frP;ko:u pkyw 'kdr ukgh- okˇoaVkr tkxkstkxh tfeuhP;k vxnh [kksy

rˇkrwu ;s.kkjs ik.;kps >js vlrkr- rs brds [kksykrwu ;srkr dh lw;Z

R;kauk vkVow 'kdr ukgh- gs >js FkksMs vlwu ,desdkaiklwu [kwi varjkoj

vlrkr- i.k T;k fBdk.kh ,[kknk >jk vlsy R;kP;k Hkksorkyph tehu yxsp

fgjoˇhus vkPNkfnyh tkrs- yxsp vaftjkph vkf.k [ktqjkph >kMa MkSynkjki.ks

map mapok<rkr- >Ú;kHkksorkyph tkxk FkaM] fgjohxkj vkf.k lkoyhph gksrs-

v'kk tkxsyk vksvWfll~ Eg.krkr-

5. (A) Write short notes in about 100 words on the following

(any two) : [10]

(1) Use of flashbacks in films.

(2) Role of director of a film.

(3) Explanation of the term ‘Cinamatography.’

(B) Write a review in about 200 words of a thriller film or a

popular film. [10]
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TRAVEL AND TOURISM MANAGEMENT

(Vocational Stream)
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(Emerging Concepts of Tourism and Tourism Development)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencil is allowed.

1. Explain any two in brief (around 50 words) : [10]

(i) Agro tourism

(ii) MICE

(iii) Doxey’s Erridex

(iv) Sustainable tourism.

2. Write short notes on any four (around 100 words) : [20]

(i) National Tourism Plan 1992.

(ii) Recent trends in international tourism in India.

P.T.O.
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(iii) Carrying capacity.

(iv) Mention one International Business Fair.

(v) Pilot visit.

(vi) Security of tourists.

3. Answer any three (200-250 words) : [30]

(i) “Is the study tour necessary ?” Why ?

(ii) Describe rural tourism in detail with an example.

(iii) Explain the destination life cycle with the help of a diagram.

(iv) Highlight the type of tourism in Switzerland.

(v) What are the pull factors affecting the tourism destination ?

4. Answer in detail any one (around 500 words) : [20]

(i) What is the purpose of growth of Kerala Tourism ?

(ii) Write in detail about tourism action plan of Maharashtra.
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iz;kstuewyd fgasnh % oksds'kuy
(Functional Hindi : Vocational)

iz'ui= 5 % lSn~/kkafrd
(vuqokn] fVIi.k&izk:i.k] lafgrk ,oa Qhpj ys[ku] vkosnu]

lk{kkRdkj] lax.kd rFkk ewy{kerk ekinaM)
(2008 PATTERN)

le; % rhu ?kaVs iw.kk±d % 80

lwpuk,° :— (i) lHkh izðu vfuok;Z gSa A

(ii) iz'u ds nkfguh vksj fy[ks x, vad iz'u ds iw.kk±d gSa A

foHkkx ^v*
1- (v) fganh esa vuqokn dhft, % [8]

Festival Advance

POSTS AND TELEGRAPHS DIRECTORATE, NEW DELHI

Application form for the grant of Festival Advance.

Name of festival...........................

(1) Name and Designation.

(2) Amount of Advance required.

(3) Basic Pay.

(4) Whether Tempy/Q.P./Pmt.

(5) Date from which continuously in service.

(6) When was the last advance taken and for which festival.

(7) Whether recovery of the previous advance is still out-

standing.

Signature of the applicant

                   Section :

(vk) ^Kkiu* dk izk:i rS;kj dhft, A [8]
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2- fdUgha pkj ij fVIif.k;k° fyf[k, % [16]

(d) Loifjp; (ck;ksMkVk)

([k) Loifjp;i= ys[ku dh fofo/k in~/kfr;k°

(x) fVIi.k ds vfuok;Z vax

(?k) fVIi.k&ys[ku ds flºkar

(p) /kkjk 3 (3)

(N) vkys[ku

(t) vkosnui= ds izdkj A

foHkkx ^c*

3- (v) fganh foHkkx }kjk vk;ksftr jk"V™h; laxks"Bh dk lw=lapkyu vki dj jgs gSa A

bl lw=lapkyu dh lafgrk rS;kj dhft, A [8]

(vk) fdlh mn~;kstd ds lk{kkRdkj dk 'kCnkadu dhft, A [8]

4- fdUgha ik°p ij fVIif.k;k° fyf[k, % [20]

(V) istesdj rFkk vkbZ- ,l- ,e-

(B) eqÊ.k {ks= dh vR;k/kqfud rduhdh

(M) Qhpj ds izdkj

(<) jsfM;ks Qhpj ys[ku

(r) lk{kkRdkj dyk

(Fk) lk{kkRdkj dh iwoZ rS;kfj;k°

(n) nwjn'kZu ds fy, fuosnu

(/k) nwjn'kZu ds fy, fy[kh tkus okyh lafgrk A
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5- (v) fuEufyf[kr esa ls fdUgha pkj 'kCnks a ds fy, fganh ikfjHkkf"kd 'kCn

fyf[k, % [4]

(i) Archaeological Survey of India

(ii) Bibliographer

(iii) Admission

(iv) Leave

(v) Budget.

(vk) fuEufyf[kr esa ls fdUgha pkj 'kCnksa ds fy, vaxzsth ikfjHkkf"kd 'kCn

fyf[k, % [4]

(i) laink funs'kky;

(ii) lqys[kdkj

(iii) Lok;Rr

(iv) vlk/kkj.k NqV~Vh

(v) vf/kfu;e A

(b) fuEufyf[kr ds fganh i;kZ; fyf[k, % [4]

(i) I fully agree with the office note.

(ii) I have been directed to inform you.

(iii) Relevant papers be put up.

(iv) We are not concerned with this.
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(Relevance of Gandhian Thought)
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N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each : [10]

(i) Explain the concept of ‘Gramdana’ according to Vinoba Bhave.

(ii) Bring out the importance of Women Empowerment Movements.

(iii) Explain briefly the basic features of Gandhian model of

Development.

(iv) Explain Dada Dharmadhikari’s views on “Stree Shakti”.

2. Write short notes on any four of the following in 100 words

each : [20]

(i) Synthesis of Gandhi and Marx—Acharya Javdekar.

(ii) Vinoba Bhave’s idea of ‘Sthitapradnya’.

(iii) Ganga Bachao Andolan—Sundarlal Bahuguna.

(iv) Limitation of Bhoodan Movement.

(v) Conception of Sarvodaya—Dada Dharmadhikari.

(vi) Nelson Mandela’s contribution in Antiracist Movements.
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3. Answer any three of the following in 200 to 250 words

each : [30]

(i) State and explain the basic features of Chipko Andolan.

(ii) Explain the significance of Bhoodan Movement laid by Gandhi

and Vinoba.

(iii) Explain with your comments S.D. Javadekar’s conception of

Satyagrahi Samajwada.

(iv) Bring out the basic tenets of Gandhian model of Development.

(v) Explain Dada Dharmadhikari’s conception of ‘Sarvadharma-

sambhava’.

4. Answer any one of the following questions in 500 words : [20]

(i) Explain  and critically evaluate the work of Smt. Medha Patkar

in ‘Narmada Bachao Andolan’.

(ii) Write an essay on the life and works of Martin Luther King.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth iz'uif=dk igkoh-

1- [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar |k % [10]

(i) fouksck Hkkos ;kaph ^xzkenku* ladYiuk Li"V djk-

(ii) efg«k lc«hdj.k pˇoˇhps egŸo foðkn djk-

(iii) xka/khthP;k fodklkps izk:i ;klaca/khph izeq[k oSfðk"VÓs FkksMD;kr lkaxk-

(iv) nknk /kekZf/kdkjh ;kapk flL=h ðkDrhfi fo"k;d n`"Vhdksu Li"V djk-
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2- [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh 100 ðkCnkar Vhik f«gk % [20]

(i) xka/kh ekDlZ leUo;kcÌ« tkoMsdjkapk n`"Vhdksu Li"V djk-

(ii) fouksck Hkkosaph ^fLFkrizK* dYiuk-

(iii) laqnj«k« cgqxq.kkaps xaxk cpkvks vkanks«u-

(iv) Hkwnku pˇoˇhP;k e;kZnk-

(v) loksZn;kph ladYiuk&nknk /kekZf/kdkjh-

(vi) oaðkokn fojks/kh pˇoˇhrh« usYlu eaMs«kps ;ksxnku-

3- [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar |k % [30]

(i) fpidks vkanks«ukph izeq[k oSfðk"VÓs Li"V djk-

(ii) xka/kh vkf.k fouksck ;kauh iqjLdkfj«sY;k Hkwnku pˇoˇhps egŸo foðkn djk-

(iii) ,l- Mh- tkoMsdjkaph ^lR;kxzgh lektokn* ;k ladYiusckcrph rqeph ers

Li"V djk-

(iv) xka/khthaph fodkl vkjk[kMÓkph izeq[k rŸos foðkn djk-

(v) loZ/keZleHkkokph vkpk;Z nknk /kekZf/kdkjh ;kaph ladYiuk Li"V djk-

4- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar |k % [20]

(i) ueZnk cpkvks vkanks«u lanHkkZr Jherh es/kk ikVdj ;kaP;k dk;kZps fpfdRld

ewY;ekiu djk-

(ii) ekfVZu Y;wFkj fdax ;kaP;k thoudk;kZoj fuca/k f«gk-
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